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Yy I o1 sraurRen vd SHd! SIfERH 1w
1 (Concept of Development and Its
Relation to Learning)

1. 9= 99 9 S faRme s@fy a¢ wgd

TRAD B Y W G § Fifh S
IafSy 7 4 yafa=uirg ywral & warer wfofdman
B T | 3 Fafer o ey 1 foa safdy
® w9 H SIET S ?
(A) FagTee
(B) &3
(C) fafdre (sramT=a)
(D) aryffsparas

CTET (1-5) 03-02-2023
e fEAdfmRARE?
(i) smgaRe wgfert
(i) TIRTE ARpias el
(iii) A araraxor
(A) B (i)
(B) et (i) 3 (i)
(C) Faa (ii) 3R (iii)
(D) (i), (ii) SR (iii)

CTET (1-5) 03-02-2023
. DA (A) : ATIHAD fABRT B e
el o1 faenferi @1 v el
e s @y |
BRYT (R) : fHA /999 &1 &1 HRa
T AR B ARIBIBROT TR FHIE
DIl H ST STerd 8 |
(A) (A) 3R (R) I FE & 3R (R), (A)

P TE AT IR B |
(B) (A) 3R (R) I w&l & wif (R),
(A) BT T8 =T T B

(C) (A) W& ¥ AfdBA (R) TTerd &
(D) (A) R (R) ST Terq B |

CTET (1-5) 03-02-2023
. AP (A) : T B INIRG faeN
A & fAU g aRE F I AFARID
A BT RTHEIR SEx[T T FahdT & |
BRI (R) : =0 & TRING fadrg @ forw
JF PRS2 SARGH B &

el fadwed g4 |

(A) (A) 3R (R) IFT 98 § &R (R) @&
YR HRAT & (A) BT |
(B) (A) 3R (R) 31 I8 &, A6 (R)
A AR TE B (A) B
(C) (A)¥& ¥, Afd (R) Temd B |
(D) (A) &R (R) ST Tord ¥ |
[CTET (I to V) 05-01-2022]

. STH ¥ BT g1 9 Irearaeen ¥

B ?

(A) TS w1 St AT qHeDe @
THA HAT YH TR Y& & BAHD
A F IR

(B) TS g1 e el & ored o st
fIHfId o N ¥ &R T& H% qHar
Bl

(C) TH g=a1 Sl FHIfad HRON &HF
IREETT HR FHAT & 3R TGIAR
Sifedt JAT &1 AT 997 |l |

(D) Ve ST S S Jefe DrETe farg
IH PR @ & o b U U SR
T 3T A B UhST |

[CTET (I to V) 05-01-2022]

. STeaTaReN I T ST ® ?

(A) TE TH MRS TR B |
(B) U U ANIRG HXTT & |
(C) BT B 9 A IR IS fJerera
ST Y6 A Tb DI 7@ Bl
I B aTel TROT B |
(D) T fa®rT &1 a8 afy &, v R
HAEHG TR B & |
[CTET (VI to VIII) 06-01-2022]
[CTET (I to V) 28-12-2021]

. fFrfRea A d oF-ade wa e & ?

(A) oo Hoag I aRerd B & |
(B) fawm @aet sgalieal & ysfad
BT &
(C) o & | & Th—gaX W 1R
E
(D) faera & 1y =RkpTTd Bl B |
[CTET (I to V) 10-01-2022]

. YT 3o B Oy ¥ fAEfaad § oW

BT TRUT G & ?

10.

11.

12.

(A) STIQd aFawen
(B) URf¥Y® Sreamawen
©) fopeTRTaen
(D) TP Sl
[CTET (I to V) 10-01-2022]
T W - T T SredmaRe |
B ?
(A) TF g i o |amriore aawt
H Fhel EET I 6T B |
(B) TH =41 Sl SR faaR] &1 ST
T U B el B |
(C) TH §=! Sl AHRIS Well H et
EREEEERI
(D) TF g1 O Alfhds ©9 | Tb BN
The & AR ERET0T R I B
[CTET (I to V) 08-01-2022]
FfafRed § & dFE-a1 3™ T fem
7

(A) IREERT H — TP DI AR BT
e T AR oA
M A He™
BT B |
(B) W@ dfparas — frmms @
SR | S/ WAlfcbe e URH
ERSINIE]
(C) I fcharcads —  TiieRoTd REmT
SR § ge@/ PR U 8
(D) Srd WfhaTHD—  SATHRUT B
AT A =@/ PHI,
BAAD Ve
FRA Y BRAT
gl
[CTET (I to V) 08-01-2022]
Tl & AP o -

(A) ST 9 T T TR B & U/

(B) \M=g & fafere &1 &iR 2

(C) W RR A IR B &

(D) TI-R | Bg A 3R B B |
[CTET (I to V) 06-01-2022]

299 69 6 AAfy BT FAT PRI SIAT S ?

(A) Sreraraeer (B) WIR=7eh gaq=

(C) #=g g9 (D) fpeiRrazen
[CTET (I to V) 04-01-2022]

q1e faea IR fememe | 1



13.

14.

15.

16.

17.

18.

AR B YIfId &= aren f=ferRaa
H | DT HRE IRV HRE & ?
(A) T (B) I=oT

(C) =fhea @& (D) faemer

[CTET (I to V) 04-01-2022]

gl & AaH ¥ e & o

LS

(A) @ae oIS gREH

(B) ®ae AEATHE TR

(C) OIS T A GRac a1

(D) 7 & JUTES AR T & AED
Racd=

[CTET (I to V) 27-12-2021]

o & fawg 9 w8 g g |

(A) e Ta e &1 8iR T ST
B

(B) fasrd aRad™ &1

(C) faPpra guf wu & srgafRear 4
oG &

(D) ¥ =fth & & oY &R AT |
e & TSral el Y B & |

[CTET (I to V) 24-12-2021]

g) o1 faert 399 9 fopder aRom & ?

(A) S IMaRIBAT Bl

(B) @de AIITaRoT &I

(C) fyemer &R frem &

(D) MIaRTeHdr iR ardaExe & 9=

[CTET (I to V) 22-12-2021]

HferT & Fa o ffeaRad # 9 dH-—

B A T ?

(A) BT 99 #7281 79 ArEd & oid J
S AR § Wi o € o S
=¥ | AT B g

(B) O 9 3T 99 rEd § o9 9
S fafafer § e oy § W S e
¥ | a8 B §

(C) ST9 BT 2refa TfAfAfeRy § 91T oy
AT ¥ aresT WeEd |

(D) Tify® ffAferl | 9 o W B
NEGECEORICR

[CTET (I to V) 31-12-2021]

e & fqrT & ey § ffaRad # &

PN BT T T ?

(A) oo & &3 g & &R S
TH—GEX A PIg 49 81 & ?

(B) 91e1 fawt & |afda fafr= Rrgra
e & IR & fawg 7 vaAd 1

2 | AGRAWAL =XAMCART

19.

20.

21.

22. U (A) :

(C) F=al &1 fapm ST AT aaH
;g1 BT B
(D) 99 s=a & forg faw v fafy
AR FARax ufgm B
[CTET (I to V) 31-12-2021]

(B) & fawmp
(C) ¥ 9<era fbar T Fabe

(D) amgafirer g qut v & 1 e

[CTET (I to V) 21-12-2021]

STeTPT & I fIer—

(A) & foTe fRerares g1 31 Iggd
RS DA F T IFB AR W
Aol & T Fa B

(B) & foru qaigem faeger 781 o i
AT |

(C) & T B &< TP Q@IgHT AT Sl
P &, TR AN = & b Y
TR ST Bl & |

(D) STFaReR 9 SR el 8 |

[CTET (I to V) 17-01-2022]
fr=foRaa § & HF—1 HoF A ® ?

(A) TIa™T FHag T8 BT & |

(B) I srcgaferd g & |

(C) o va waq ufesar

(D) fawrare gfom™ ARGfas gRaeT
X g T2l B |

[CTET (I to V) 17-01-2022]
T e b fR1em A I
P I P B Iedl D
I @ &% | o
TG DB F AT ST
eI
e @1 wwy 9 1A
¥ gal @ foy Te
TEE BT & qAT A
ARpiaD TR H FHH
&

we fde |

(A) (A) 3R (R) S 98 & 3R (R) 98
T HRAT 8 (A) B |

(B) (A) 3R (R) 3Fi W& ¥, <fdbT (R)
e AR TE B (A) B

(C) (A) T ¥, Afbd (R) Terd B

(D) (A) AR (R) <M Tord ¥ |

[CTET (I to V) 11-01-2022]

TP (R) :

23.

24.

25.

26.

27.

fFfeRed 4 & Aem & IR § DT

BT TE A & ?

(A) I SR qERuT I 37 o
Pl WS T

(B) T o1 © &= T YEIgaH oAl
ST el B |

(C) fIprT &Y <X Thaa 3R AGHIAD
&

(D) fasrT |ammT & fafdre &1 &R 2ran
Bl

[CTET (I to V) 11-01-2022]
qTeTes 1 e foeT el F Jer g ?
(A) TS, AAISD, FIGTHS AR
AT S
(B) TR, AsHIHD, neanfeqsd R
NEERIRIED
(C) IRIR®, FEEHE, THE 3T
ATIRTS
(D) FAEEG, IRIRG, TS SR
NEERIRIED
[CTET (I to V) 29-12-2021]
REEASCANNEIRCASE K G RIS
X IR & U | SRRl & SR & aRUl
A S 9gd gaaiel areAm et | v
A S AN O fIgarT e § IRET B
¥ AR 98 WIReH o & e Wal e
7T | RTEE & I # faer o1 - el
THEH ¥ ®Y 3 T Bar ¥ ?
(A) FR=IRAT — SFfR=IRAT &1 H&l
(B) IR — 91 & rHAT BT &l
(C) TPHT — e TIOT BT e
(D) UHHIT — afhdal BT e
[CTET (I to V) 29-12-2021]
e & ool & G H 2 699 q% B
AT BT T FHET Ol & 7
(A) URfYES Srearawen
(B) w&T STeuTaRen
(C) Srerarawer
(D) foreiRTa=en
[CTET (I to V) 31-12-2021]
fFrfeRead & & V-1 ®oF, aafh &
o &1 ufhan & IR W H& & ?
(A) T & yfghan vafasi 8l % |
(B) 8 et fch o SgaRIehdl 3 gHIfd
AT
(C) fara & ufhar # Tapfae fafaerand
B &
(D) oo™ @ael aEERY BRSO R
RyiRa 2rar B
[CTET (I to V) 16-12-2021]




28.

29.

30.

31.

BT (A) : T 18 A8 H QI-TreaT
BT SR B T o,
b GO 7 24 HE H
KSICRIR IRl
B TN Tod IR W)

frefad B
HRU(R): e afems g=a
& forv MuiRa et @
Sueifey & fo1e Wi oy
EIRERICECINIEEC kT
SERCEZACH]

(A) (A) IR (R) M 98 & &R (R) 98
R FRAT & (A) BT |
(B) (A) 3R (R) I W& ¥, <fdbT (R)
WA IR TE B (A) B
(C) (A& T, AfdT (R) Tord B
(D) (A) 3R (R) ST Tord &
[CTET (I to V) 12-01-2022]
T YTATIRAT Bl B T & 2
(A) S 9 599
(B) W1 & 894
(C) 6-11a9
(D) 1199 3R ST 31ferp
[CTET (I to V) 12-01-2022]
Frefafed & 9§ dH-1 989 IR B
SN 6T TP SITERVT & 2
(A) qr
(B) =t
(C) =RireaR foremn
(D) o
[CTET (I to V) 05-01-2022]
B (A) : TH g2 11 9N H e
IR &, SEfP TR 15 7 H g
e B |
BRYT (R) : AT 7 oy -
R B R
SERCET AUl
(A) (A) 3R (R)IFT & E, 3R (R) A&
R AT 8, (A) B
(B) (A) 3R (R) I W&l ¥, Afd (R)
w8 T T g, (A) B
(C) W& &, AfBT (R) Tord &
(D) (A) R (R) QM ToTd &
[CTET (I to V) 07-01-2022]

32.

33.

34.

3S.

36.

e = 9 9 fow AR
() ergafe gEe
(i) e araraxoT
(iii) AFINTG—ARPIID BRD
SEREEZACT]
(A) (@, (i) (B) (ii), (iii)
(©) (), (iii) (D) (i), (ii), (iii)
[CTET (I to V) 07-01-2022]
o araeen § YNHIeTd Wel gedl &, 720
TR fbrT B A < 87
(A) Sreraraver
(B) IR Sreamawen
(C) AT qreaTgeer
(D) ToreiRTazen
[CTET (I to V) 07-01-2022]

e faaRERISH & AR, 91

a1 gfear—

(A) I g=al & for U 99 © iR 99
I U FREd oy T% Sd—aimd
fafdre fuiRa @ smawg ura &=
o E

(B) g & RNfF g faftr= gar
& FaH § gaAd-ded §

(C) qafga™ fega el oI <1 e,
ZEfY faer w9 & fore ves feners
BT ¥

(D) % wrar-fiar & U<t SmgaRie oi
R & FaiRa B &

[CTET (I to V) 03-01-2022]
fara &1 ford eTaven # Ied SeqTierd
qrel Wt 7 A o | WA o § 7
(A) Srerarawer
(B) URRYS IrTawen
(C) AT qreaTgeer
(D) foeiRma=en

[CTET (I to V) 03-01-2022]
Fr=feRed & & SF—1 g4 va AiharHd
LT Pl & I Bl ffva yaffq
HIAT & ?

(A) foafea arga=o

(B) et wfdrfgpar

(C) TRl & srgep Ui

(D) Aeg-FERa aer

[CTET (I-V) 9-7-2019]

37.

38.

39.

40.

11. (B)
16. (D)
21.(C)
26. (A)
31.(A)
36.(C)

Il fIpT & <} § afpra fafgeand

(S GEINEACEA]
(B) SaRsp (¥egeT) dreids faehre; g
(qew) =rete faer
(C) I, SrelmTe
(D) rerTHY; e
[CTET (I-V) 9-7-2019]

[CTET (I-V) Sept., 2015]
TG gTd B QT I B! A B MG A
A ®, T ged I I & | e
.. ® BRI I & |
(A) fo=m gfear
(B) TS g
(C) FITHS R
(D) 3rSTe giRaa+
[CTET (I-V) 29.01.2015 |
“faer B T FE B aTelt Uik B 1
g foaR frasy awafeerd &7
(A) 3= B Rigid
(B) fARaxar &1 Regrd
(C) TRl B Rigia
(D) 37 foran &1 Rigra
[CTET (I-V) 26.06.2011]

S

1. (A)
6. (A)

2.(D) 3.(B)
7.(B) 8.(B)
12.(B) 12.(D)
17.(A) 18.(C)
22.(D) 23.(C)
27.(C) 28.(D)
32.(D) 33.(B)
37.(B) 38.(B)

4.(D)

9. (D)
14.(C)
19.(C)
24.(C)
29.(C)
34.(B)
39.(C)

5.(B)
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Chapter

1

Direction (Q. No. 1 to 8)

Read the passage given below and answer
the questions by choosing the best/ most
appropriate options :

(1) We all cried when we were babies. But
now that we're adults, many of us often
try to hold back our tears in the belief
that crying — particularly at work or in
public —is seen as a sign of weakness or
as something to be ashamed of. But is it
? Or is thaact of shedding tears actually
healthy ?

(i) Having a good cry can sometimes be
just what the doctor ordered. In fact,
some psychologists even suggest that
we may be doing orselves a disservice
by not tearing up regularly.

(iii) “Crying activates the body in a healthy
way,” says Stephen Sideroff a clinical
psychologist at UCLA. “Letting down
one's guard and one's defences is a very
positive healthy thing. The same thing
happens when you watch a movie and
it touches you and you cry.”

(iv) The Japanese are such strong believers in
the health benefits of crying that they've
taken that wisdome to the next level.
Some cities in Japan have “crying clubs”
where people come together to indulge
in good sobfests. (To help the tears
flow participants watch tearjerkers).
The premise ? Crying releases stress
and therefore is a great practice when it
comes to staying mentally healthy.

(v) Reasearch is backing up that theory.
Studies of the various kinds of tears
have found that emotional tears contain
higher levels of stress hormones than
do basal or reflex tears (the ones that
form when you get something in your
eye). Emotional tears also contain more
mood-regulating manganese than the
other types. Stress “tightens muscles
and heightens tension, so when you cry
you release some of that”, Sideroff says.
“Crying activates the parasympathetic
nervous system and restores the body
to a state of balance.”

CTET (1-5) 03-02-2023

1.

Adults don't cry bacause :

(A) crying is considered unhealthy.

(B) they know how to handle a difficult
situation.

(C) they are emotionally strong.

(D) crying is considered a sign of
weakness.

Reflex tears flow when :

(A) our vision is blurred

(B) there is infection in the eye

(C) something gets into our eye

(D) we are under stress

In order to activate tears people in crying

clubs

(A) use tear-inducing eye drops

(B) watch sad or sentimental movies

(C) listen to melancholy songs

(D) sit in a corner and brood

Which of the following statements is

not true ?

(A) The Japanese believe that crying
helps maintain mental health

(B) The act of shedding tears by adults is
considered shameful

(C) Emotional tears contain low levels of
stress hormones

(D) Crying in a group can validate the
practice of crying

Which of the following words mean the

same as 'particularly’ in Para (i) ?

(A) Definitely

(B) Generally

(C) Specially

(D) Clearly

The word oppositte in meaning to the

word, 'wisdom' in Para (iv) is :

(A) folly

(C) eccentricity

(B) impurity

(D) sagacity

The word, 'often' in the sentence, “Adults
often try to hold back their tears™ is a/an—
(A) Adverb
(C) Adjective

(B) Pronoun
(D) Noun

Comprehension : Section (A) Prose

8 backing up the theory
The underlined words mean
(A) strong negative reaction
(B) extra help or support
(C) in an unfair manner

(D) loud and enthusiastic behaviour

Direction (Q. No. 9 to 15)

Read the passage given below and answer
the questions by choosing the best/most
appropriate options :

Viking traders went west as far as newfoundland
in the New World, and east as far as the Volga
River, down to Constantinople. When the
Vikings left their homelands in the beginning
of the Viking Age in the 790s, they didn't just
go the raid and loot.

Many of them set out to discover or open
new trade routes to establish a more secure
foundation of future income. In general, the
men of Sweden went east to Russia while the
Norwegians and the Danes went to the west
to Ireland and Scotland, England and France.
All along the way they traded to goods of the
north such as fur, amber, iron and walrus tusks
for goods they needed from other places. They
also traded in slaves.

Vikings raided, traded and settled all along
Europe's coasts. For 300 years, churches would
pray to be spared the “wrath of the Norsemen”.
The Vikings were equal opportunity traders and
raiders. If they found an unprotected church or
monastery, they'd raid. If they came to a well-
defended town, they would set up trade. Early in
the Viking Age, trade was done by direct barter.
Eventually, Viking traders obtained a great deal
of trade silver and Arbic coins, which then was
used to buy goods.

CTET (1-5) 03-02-2023
9. The primary purpose of Viking traders to
go west and east was to :
(A) settle there as agriculturists.
(B) raid and loot.

(C) satisfy their curiousity about the new
lands.

(D) discover new trade routes

10. Which of the following did the Vikings

not trade in ?
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(A) Amber (B) lovery
(C) Gold (D) Slaves

11. Churchmen dreaded the Norsemen
because they would

(A) raze holy places
(B) rob the churches
(C) desecrate holy shrines
(D) torthure and kill them
12. Which of the following statements is

not true ? 21.

(A) The Vikings would rob unprotected
holy shrines

(B) The barter system was prevalent in
the Viking age

(C) The Norsemen bought land with the
money they had earned

(D) The Norsemen changed their strategy
accoring to the situation
13. The word, 'secure' as used in para 1 means
(A) limited
(C) safe

14. The word opposite in meaning to the

(B) portentous
(D) fortunate

word, 'Eventually' as used in para 2 is :
(A) initially
(C) periodically

(B) agreeably
(D) regularly
15. The word, 'along' in “.......... settled all

along Europ's coasts” is a/an

23.

(A) Determiner  (B) Pronoun

(D) Adjective

16. The phrasal verb 'bounce back' in para
1 means

(C) Preposition

(A) enjoy (B) experience
(D) isolate

CTET (1-5) 28-01-2023

(C) recover

17. The underlined word in the expression
'important to seek professional help'
means

(A) search for
(C) identify

(B) assist in

(D) continue
CTET (1-5) 28-01-2023

24.
18. The word 'initially' in para 1 is a/an
(A) Conjuction (B) Adverb
(C) Adjective (D) Verb

CTET (1-5) 28-01-2023

19. Which word in para 2 does not mean
grooming or nurturing?

(A) Fostering (B) Developing

(C) Supporting (D) Accessing
CTET (1-5) 28-01-2023
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20.

22.

25.

According to the writer, a child needs to
seek professional help if

(A)
(B)

the child does things he/she enjoys.

the child recovers after being isolated
from a peer group.
(C) the child is unable to function for an

extended period of time.

the child feels distressed for a short
span of time.
CTET (1-5) 28-01-2023

D)

What is the writer trying to convey in this

passage ?

(A) Handling challenging emotions is a
skill impossible to acquire

(B) Importance of emotional well-being
and mental health.

(C) How one can be pushed into distress
by an event.

(D) Secking professional help is not

necessary when you are feeling low.
CTET (1-5) 28-01-2023

'If the child continues feeling distressed."
In this sentence, the underlined words
mean

(A) experiencing anger
(B) feeling ignored
(C) experiencing anguish
(D) feeling surprised
CTET (1-5) 28-01-2023
Read the following statements :

(@

Having awareness of various emo-
tions is of great importance for one's
emotional well-being

(b)
©

Emotions are either good or bad
Emotions can be managed over time
by practice.

(A)
()
©
(D)

(b) and (c) are correct, (a) is incorrect
(b) and (a) are correct, (¢) is incorrect
(a) and (b) are incorrect, (¢) is correct
(a) and (c¢) are correct, (b) is
incorrect

CTET (1-5) 28-01-2023

What according to the writer was
'fantastic' at school one day ?

(A) Conducting a debate on 'science and
its achievement'

(B)
©
D)

The visit of a real working robot

Talks by people of science

The writer learaning to make a robot
CTET (1-5) 28-01-2023

The company that made Gizmo, believes
that

26.

27.

28.

29.

30.

(A) giving robots human features is
impossible.
(B) all school children can make robots
like Gizmo.

©
(D)

school will be run by robots shortly.

gizmo will be a common household
item eventually.

CTET (1-5) 28-01-2023
Which word in para 1 means standard/
usual ?
(A) Amazing
(C) Fantastic

(B) Latest
(D) Ordinary
CTET (1-5) 28-01-2023

The underlined word in the sentence in
para 1 'He was about the same size as
us', is an/a
(A) Preposition  (B) Adjective
(C) Conjunction (D) Adverb

CTET (1-5) 28-01-2023

Within another 20 years, he will be a
common sight. The word 'within' is a/an
(A) Article (B) Adjective
(C) Preposition (D) Adverb

CTET (1-5) 28-01-2023

What was the one thing that robot Gizmo

could not do which other children could ?

(A) Make conversation with others

(B) Dance to rock music

(C) Walk up and down the stairs

(D) Fetch drinks and snaks for others
CTET (1-5) 28-01-2023

Read the statements carefully :
(a) The Science Day at high school was
a success

(b) Many students wanted to pursue
carees in science and technology.
The Headmaster felt that the effort

made was not worth it.

©

(A)
(B

(b) and (c¢) are correct, (a) is incorrect
(A) and (c) are incorrect, (b) is cor-
rect

(C) (a)and (b) are correct, (c) is incorrect

(D) (a)and (b) are incorrect, (c) is correc
CTET (1-5) 28-01-2023

Direction (Q. No. 31 to 38)

Read the following passage and answer the
questions that follow :

1.

Thave neighbours who have very happ and
cheerful personalities. They appreciate all
the good things in life. rather than focusing
on what they perceive they lack in life.
They do understand that into every life a



31.

32.

33.

little rain must fall, But the question is :
Does your rain come from a stray cloud
on an otherwise sunny day, or is it from a
grey, overcast sky that nevfer goes away ?
It is a common misconception that life will
always be better in the future. In truth, life
is always full of challenges. We must de-
cide to be happy in spite of circumstances.

. T'have never seen my neighbour ‘Happy’,

angry at anything nor ever heard her say
a mean word to anyone or about anyone.
Happy and her husband, Jo have a huge
garden. They are both very hard-work-
ing. Rather than wasting their time in
useless activities, they enjoy working in
their kitchen garden. They spend many
happy hours working on it. Most of the
neighbours watched interestingly as Jo
doubled the size of their garden. As the
cost of food increased at an alarming rate,
we all wished we also had such a garden.
While we spent our dollers at the market,
Happy could be seen picking vegetables
in her backyard.

. Last month, Happy and Jo invited most

of our neighbours for an ‘all-day food
festival’. By 9.00 a.m., nine of us were
in the garden picking tomatoes, beans
potatoes and cucumbers. By 10.00 a.m.
there was lots of laughter when we shared
many stories and played many games. As
we were leaving, Happy and Jo handed
each of us a bag full of vegetables. What
a delightful gift However, the true gift was
ablog about gardening in case we decided
to plant a garden. And today I am proud
of my own tomato plants.
CTET (1-5) 20-01-2023

We can infer that Happy and Jo :
(A) often quarrelled with each other

B)

lived only on food that grew in their
garden

©

are a generous and warm-hearted
couple

(D) liked to show off to their neighbours

What was the narrator's reaction to the
time spent in Happy's garden?

(A) It was too monotonous.

(B) It was not up to her expectation
(C) I was a sheer waste of time

(D) It was wonderful and productive

Happy and Jo iOnvited their neighbours
to their place to :

(A) Motivate them to grow vegetables
(B) celebrate Christmas
(C) play games

(D) share interesting stories

34.

3s.

36.

37.

38.

Read the following sentences :

(a) Happy and Jo were not on good
terms with their neighbours

A blog on gardening was indeed a
‘delightful gift’ apart from a bag of
vegetables.

(a) is true and (b) is false

(b)

(A)
(B) (a) is false and (b) is true
(C) Both (a) and (b) is true

(D) Both (a) and (b) are false

Later, the narrator grew
kitchen garden :

(A) cucumbers

(B) tomatoes

(C) peppers

(D) cucumbers and tomatoes

‘Perceive’ in para 1 does not mean the
same as :

(A) to discern
(B) torecognize
(C) to become aware

(D) to act recklessly

‘Blog’ in para 3 is used as a/an :
(A) Adverb (B) Adjective
(C) Noun (D) Verb
‘Cloud’ in para 1 is symbolic of :
(A) difficulties
(C) secrets

(B) emotions
(D) stability

Direction (Q. No. 39 to 43)

Read the following passage and answer the
questions that follow :

1.

A proverb is a short, well-known saying
that expresses a common truth or belief.
Proverbs are popular around the world.
Many proverbs give advice on how to live.
Some proverbs are very old, but they are
still used today. e.g., My son is just like
me in many ways. After all, the apple does
not fall far from the tree. Sometimes, I tell
my children to work together to solve a
problem because two heads are better than
one.

. Some people are pessimists while others

are optimists. The difference lies in their
looking at a situation in different ways.
Pessimists always think how bad things
can become finally or are already bad,
whereas optimists might say that every
cloud has a silver lining and they always
look on the bright side of any situation.
But most people are both pessimists and
optimists. They hope for the best but
prepare for the worst. Some people worry
about what they will do in a given situation

39.

40.

41.

42.

43.

which might happen in the future, but it is
always wise not to cross the bridge until
you come to it. It is usually much better to
aprevent a problem from happening than
it is to find ways to solve it. An ounce of
prevention is worth a pound of cure.

. Proverbs were recorded in 1350-1400. The

word originated from the late Latin word
‘Proverbia’. While thinking of proverbs,
we picture expressions of ancient wisdom.
In the Bible it is said that ‘he will search
out the hidden meanings of proverbs and
will be conversant in the secrets of para-
bles.’
CTET (1-5) 20-01-2023
“Two heads are better than one’ means :
(A) A job can be done better by an
expert only
(B) A problem can be solved easily if
collectively faced.
(C) Ajob can't be done well if too many
people work on it.
(D) One shouldn't do a wrong deed if
everyone else does it.
The word ‘pessimist’ means the same as
people who :

(A)
(®)
©

always expect bad things to happen

are always full of hope for the future
always prepare for the worst while
hoping for the best

always look to the bright side of
things

D)

In a problematic situation an optimist is
most likely to say :

(A) Don't cross the bridge until you
come to it.

(B)
©)

Every colud has a silver lining.

Hope for the best and prepare for
the worst.

D)

An ounce of prevention is worth a
pound of cure.

Another word to describe a ‘proverb’
can be :

(A) hyperbole

(B) functional verb

(C) maxim
(D) quotation

Read the following sentences.

(a) Once upon a time proverbs were
very popular all over the world.

In a proverb, day-to-day events are
expressed in a flowery and artificial
style.

(b)

(A)
B

(a) is true and (b) is false

(a) is false and (b) is true
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(C) Both (a) and (b) are true
(D) Both (a) and (b) are false

Direction (Q. No. 44 and 45)

Read the following passage and answer the
questions that follow :
44. ‘Pessimist’ in para 2 is used as a/an
(A) Noun (B) Adjective
(C) Verb (D) Adverb
CTET (1-5) 20-01-2023
45. Which of the following words mean the
same as ‘Parable’ ?
(A) Novel
(C) Fable

(B) Poetry

(D) Short story
CTET (1-5) 20-01-2023

Direction (Q. no. 46 to 53)

Read the passage given below and answer
the questions by choosing the best/most
appropriate options :

1. After independence there have been some
government initiatives for public libraries
such as the National Mission on Public
Libraries, improving school library services
as part of five-year plans for education and
assistance, and provision of grants by the
RRRLF for library programmes aimed at
training and development. A few public
libraries in villages and talukas have also
been given financial aid in the construction
of buildings and upkeep of facilities.
However, these programmes have been
ad-hoc and not administered with concerted
efforts by the Ministry of Culture, which
manages the National Library of India and
the National Archives of India.

2. Several librarics remain in poor conditions
with no concerted programmes- for
example Livemint reported in May 2013
on a poorly functioning district library in
the West Champaran district of Bihar that
housed 12,000 tattered books, managed by
a librarian who was paid ¥ 700 per month—
the cost of a meal for one at a mid-range
restaurant in a metro city. Nevertheless,
several students visited the library daily
to study for their exams.

3. There were 70,817 libraries in rural
areas and 4,580 in urban areas serving a
population of more than 830 million and
370 million, respectively, according to the
2011 Census where libraries were notified
(officially identified) for the first time.
These numbers roughly translate to one
rural library for every 11,500 people, and
one urban library for over 80,000 people.
However, there is no precise information
on the functionality and level of service
capabilities of these libraries—the rural
libraries could be a room with a few books,
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while others could be running through the
support of private donors or NGOs.
CTET (1-5) 29-12-2022
46. The National Mission on public libraries
aimed at :

(A) constructing reading rooms in urban
areas

(B) training of library staff

(C) opening new libraries in rural areas

(D) improving school library services.

47. The various library improvement initia-
tives failed to achieve the desired results
because :

(A) there was lack of funds to implement
the programme

(B) adequate number of staff were not
available

(C) the authorities did not make planned
efforts to address the problem

(D) the local authorities did not evince
much interest

48. The district library in Western Champaran
was in a dismal state because

(A) the library building was in a state
of utter disrepair

(B) there was only one librarian to
manage the institution

(C) the authorities did not bother to
provide more funds

(D) stakeholders did not protest against
the deteriorating conditions.

49. Read the following statements :

(a) The district library staff in the West
Champaran library were not paid
regularly.

(b) Many libraries were probably run
by NGOs.

(A) (a)is false and (b) is true

(B) (a)is true and (b) is false

(C) Both (a) and (b) is false

(D) Both (a) and (b) are true

50. The word ‘upkeep’ in para 1 means :
(B) beautification

(D) management

(A) improvement
(C) maintenance
51. The word opposite in meaning to the word
‘precise’ in para 3 is
(A) rough
(C) Inappropriate (D) careless
52. The word ‘tattered’, in “.......... 12000
tattered books......... ” is a/an
(A) Noun (B) Adverb
(C) Adjective (D) Pronoun

(B) Inaccurate

53. Which part of the following sentence
contains an error ?

The programme failed

(@)
because it is not taken up
(b)
seriously
(©
by the authorities.
(d)
(A) a B)d
©€) ¢ D) b

Direction (Q. no. 54 to 60)

Read the passage given below and answer
the questions by choosing the best/most
appropriate options :

Edison, the prince of inventors was born on
1t February, 1847, in Milan, Ohio, USA. His
father, Samuel Edison, was in the lumber and
grain business. His mother Nancy was a former
school teacher. Young 'Edison's eccentricities
were evident quite early in life. Energetic,
argumentative and hard to discipline, he was
promptly labelled by his teachers as difficult.
But his mother Nancy had the insight to realise
that her child was special and required deft
handling. She took him out of school, taught
him herself at home and gave him a free hand to
pursue his interests. It was a very wise decision.
Formal education and rigid discipline might
have extinguished the spark of creativity in this
gifted child, and the loss, would have been the
world's.

Young Edison made full use of the freedom
given by his mother. He eagerly devoured books
on physics, chemistry, etc., but never accepted
any statement without testing it out for himself.
Designing and constructing gadgets by himself
was an all-consuming passion with him.

At the age of twelve, Edison decided it was
time to face the world on his own. He began
earning by selling newspapers and food in
trains. He then launched a small newspaper of
his own, printing it in a railway carriage. He
had to give it up when a reader incensed at his
gossip column threw him fully clothed into a
pool of water ! He, however, continued to use
his railway carriage as a mini physics-and-
chemistry laboratory. But this too came to an
end when there was an explosion in the carriage
and the railway staff dumped him, along with
his paraphernalia, at the nearest level crossing!

CTET (1-5) 29-12-2022

54. Which of the following options is not
correct ?
Edison's teachers labelled him as difficult
because he was :



(A) recalcitrant  (B) argumentative

(C) eccentric (D) unmannerly

55. Realising that her child was special,
Edison's mother :
(A) encouraged him to visit science fairs
and exhibitions.
(B) gave him complete freedom to
pursue his interests.
(C) provided him with all the necessary
gadgets.
(D) engaged the best private tutors for
him
56. Edison showed great interest in :
(A) setting up a printing press
(B) designing and building appliances
(C) all kinds of machines
(D) reading biographies of scientists
57. Read the following statements :
(a) The yong Edison had great
entrepreneurial skills.
(b) Setbacks did not deter the young
Edison from pursuing his interests.
(A) (a)is true and (B) is false
(B) (a) is true and (B) is false
(C) Both (a) and (b) is false
(D) Both (a) and (b) are true
58. The word ‘evident’ in para 1 means the
same as :
(A) provident
(C) obvious
59. The word opposite in meaning to the word
‘incensed’ in para 4 is :
(A) puzzled (B) frustrated
(C) happy (D) annoyed
60. The word ‘too’ in “But this too came to
an end” is a/an :
(A) Pronoun (B) Adverb
(C) Adjective (D) Noun

Direction (Q. No. 61-67)

Read the passage given below and answer

the questions that follow by choosing the

correct/most appropriate options :

1. My love of travelling and living in the
exhilaration of the moment backfired, and
I had to backtrack from the magnificent
banks of the Ganges in the holy city of
Haridwar, back down to Delhi to try and
find a new route out of India.

(B) diligent
(D) transparent

2. Arriving into Delhi in the afternoon, I
scrambled around to find a bite to eat before
sundown. I found a small restaurant near
my hostel, but after a few bites of putrid,
rotten flavoured chicken I had a bad feeling
and left, meal unfinished, to try get an early
night.

. But it was already too late. All it took was
a few bites.

The next morning I was up early and headed
to the bus stop before sunrise, thankful to
have a last-minute ticket on a long distance
bus to Kathmandu.

The dirty, rickety old bus left from a dusty
underpass-not a bus stop or station in site.
It was full of upright seats with nowhere
to recline and rest for the massive 26-hour
journey ahead.

. 1 was eight hours into a long windy
journey through the jungle when the food
poisoning took hold. Without warning, I
began violently vomiting- mostly into a
bag I had, but also all over myself and my
seat.

. Despite this being one of my more
embarrassing travel stories, it wasn't long
before most of the other passengers were
mad at me because the air conditioning
wouldn't work with the windows up.

. But I had nowhere else to be sick; there

were no buckets, trash cans, or bags that
could hold my relentless evacuation of
what felt like everything I'd ever eaten.
There were only two other foreigners on
the bus; women who offered me sips of
water and medicine.
I was sick, sticky and drifting in and out of
feverish dreams for the next 18 hours until
I was able to get to a hospital in Nepal.
We passed through magnificent valleys
through the Himalayas, I saw fireflies for
the first time we passed picturesque towns
and tiger sanctuaries.

. Despite being the sickest I've ever felt, in
the most inconvenient of locations, I was
constantly amazed by the beauty of India,
and the kindness of the strangers I met
along the way.

61. The food served to the narrator was :
(A) too spicy.
(B) tasteless.
(C) rotten.
(D) unhygienic.
[CTET (1-5) (Lang. 2) 17-01-2022]
62. Select the option which is not true.
The author had to experience extreme

distress and discomfort while travelling

to Kathmandu because :

(A) the bus he was travelling in was old
and rickety.

(B) it was a long journey with no bus
stop or station in sight.

(C) theupright bus seats didn’t allow him
to recline

(D) his co-passengers smelled foul and
talked very loudly

[CTET (1-5) (Lang. 2) 17-01-2022]

63. How did the narrator’s co-passengers
react when he began vomiting violently?
(A) Some of them asked the conductor
to drop him at the next stop.
(B) The conductor offered the narrator a
home remedy to help him.
(C) Some young passengers offered him
their handkerchiefs to clean himself.
(D) Most of the passengers were mad at
the narrator.
[CTET (1-5) (Lang. 2) 17-01-2022]
64. Which of the following is the most sui-
table title for the passage?
(A) Rickety Buses and Unfriendly
People
(B) A Nightmarish Journey
(C) A Bus Journey in the Himalayas
(D) Painful Memories
[CTET (1-5) (Lang. 2) 17-01-2022]
65. Which of the following words is similar
in meaning to the word, ‘magnificent’ as
used in the first paragraph of the passage?
(A) splendid (B) cute
(C) astonishing (D) awful
[CTET (1-5) (Lang. 2) 17-01-2022]
66. Which of the following words is opposite
in meaning to the word, ‘violently’ as used
in para 4 of the passage?

(A) kindly (B) openly
(C) peacefully (D) weakly
[CTET (1-5) (Lang. 2) 17-01-2022]
67. Which part of the following sentence
contains an error?
He asked his friend when will he
(a) (b)

return the book borrowed by him

(© (d)
(A) (d) (B) (@
© © (D) (b)

[CTET (1-5) (Lang. 2) 17-01-2022]

Direction (Q. No. 68-73)

Read the passage given below and answer
the questions by choosing the correct/most
appropriate options :

1. Sleep is one of the strangest things we do

each day. The average adult will spend 36
percent of his or her life asleep.

For one-third of our time on earth, we
transition from the vibrant, thoughtful,
active organisms we are during the day and
power down into a quiet state of hibernation
at night.

2. But what is sleep, exactly? Why is it so

important and restorative for our bodies
and minds? How does it impact our lives
when we are awake ?
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. Sleep serves multiple purposes that are
essential to our brain and body. The first
purpose of sleep is restoration. Every day,
our brain accumulates metabolic waste as
it goes about its neural activities. While
this is completely normal, too much
accumulation of these waste products has
been linked to neurological disorders such
as Alzheimer's disease.

4. Alright, so how do we get rid of metabolic
waste? Recent research has suggested that
sleep plays a crucial role in cleaning out
the brain each night. While these toxins
can be flushed out during working hours,
researchers have found that clearance
during sleep is as much as two-fold faster
than during waking hours. The way this
process occurs is fairly remarkable.

5. During sleep, brain cells actually shrink by
60% allowing the brain's waste-removal
system-called the glymphatic system- to
essentially "take out the trash" more easily.
The result? Our brain is restored during
sleep, and you wake up refreshed and with
a clear mind.

6. The second purpose of sleep is memory
consolidation. Sleep is crucial for memory
consolidation. Insufficient or fragmented
sleep can hamper our ability to form
both concrete memories and emotional
memories.

7. Finally, sleep is paramount for metabolic
health. Studies have shown that when
you sleep 5.5 hours per night instead of
8.5 hours per night, a lower proportion
of energy you burn comes from fat, while
more comes from carbohydrates and
protein. This can predispose to fat gain
and muscle loss. Additionally, insufficient
sleep or abnormal sleep cycles can lead
to insulin insensitivity and metabolic
syndrome, increasing our risk of diabetes
and heart disease.

68. Excessive metabolic waste in the brain :
(A) results in neurological disorders.
(B) affects human metabolism.
(C) weakens our immune system.
(D) adversely affects our reflexes.
[CTET (1-5) (Lang. 2) 12-01-2022]
69. What function does the brain’s waste-
removal system perform?
(A) It sharpens our memory.
(B) It prevents muscle loss.

(C) Itremoves waste from our brain and
restores its health.

(D) Itreduces our risk of liver and kidney
diseases.

[CTET (1-5) (Lang. 2) 12-01-2022]

70. Read the following statements and select
the correct option :
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(a) Fragmented sleep increases our risk
of diabetes and heart disease.

(b) Sleep is crucial to memory
consolidation.
(A) (a)istrue and (b) is false.
(B) (b) is true and (a) is false.
(C) Both (a) and (b) are true.
(D) Both (a) and (b) are false.
[CTET (1-5) (Lang. 2) 12-01-2022]
71. Which of the following words is similar
in meaning to the word ‘transition’ in para
1 of the passage?
(A) move (B) change
(C) override (D) transfer
[CTET (1-5) (Lang. 2) 11-01-2022]
72. Which of the following words is the
most opposite in meaning to the word
‘remarkable’ as used in para 4 of the
passage ?
(A) inferior
(B) commonplace
(C) lowly
(D) humble
[CTET (1-5) (Lang. 2) 12-01-2022]
73. Which part of the following sentence
contains an error?

Susan gave me a real nice
(@) (b)
bouquet of flower
(©
on my twentieth birthday
(d)

(A) (@ B) (a)
(©) (b) D) (¢)

[CTET (1-5) (Lang. 2) 12-01-2022]

Direction (Q. No. 74-82)

Read the passage given below and answer
the questions that follow by choosing the
correct/most appropriate options :

1. The telecommunication market is the

second largest in the world. The subscriber
base was 1.1 billion at the end of 2020.
Strong consumer demand and favourable
policies of the Indian government played
an instrumental role in the growth of this
industry. The first commercial mobile
phone service in India was launched by
Modi Group along with the Australian
giant, Telstra. Because of the high call rates
per minute, only the top income earners
were able to use mobile phones back
then. However, since the 1990s mobile
communication has become more and
more popular, and services provided went
beyond just texting and calling.

. With a variety of smartphones and Internet
packages flooding the market mobile
communication become an integral part of

everyday life. The smartphone industry in
India saw a steady growth over the years-
around 42 percent of all Indian mobile
subscribers owned at least one smartphone
in 2020. Indeed this little device has seeped
into the everyday life so much that Indians
were spending more than three hours per
day on their smartphones the same year.
Early 2019 saw a growth of over 160% in
app downloads compared to the previous
two years.

. Various operators have taken over the
wireless market leading to a fierce
competition for the leading position in the
mobile service market. The leading private
players such as Vodaphone, Reliance Jio
and Airtel continuously strive for customer
satisfaction and offer increasing gigabytes
of data per day in addition to unlimited free
calls. Simply to retain their customer base,
initiatives such as ‘Digital India’ and ‘Make
in India’ also provided huge employment
opportunities in the mobile manufacturing
industry in the country since 2014.

. By 2024 and by the end of 2027 percentage
of mobile subscription would be with 5G
technology and with an estimation of
around 343 million subscriptions.

74. Choose the correct option :
The phenomenal increase in the growth
of telecommunication market was owing
to:

(a) low mobile call rates.

(b) radical reforms in telecommuni-
cation industry.

(c) sophisticated technology.
(d) strong consumer demand.
(A) (@and (b)  (B) (a)and(c)
(©) (©and(d) (D) (a)and (d)
[CTET (1-5) (Lang. 1) 10-01-2022]
75. Which of the following statements is not
true according to the passage ?
(A) Mobile communication has become
an integral part of everyday life.
(B) The first commercial mobile was
launched by Modi Group and Telstra.
(C) High call rates restricted the use of
smartphone to the rich.
(D) The term ‘traditional services’ refers
to texting and calling.
[CTET (1-5) (Lang. 1) 10-01-2022]
76. Select the correct option :
(A) Telstra is an American telecom giant.
(B) Indians have been using the mobile
phone since 1985
(C) A variety of smartphones and
Internet packages are flooding the
market.



(D) Indian telecom industry is doing
better than the U. S. in terms of
popularity
[CTET (1-5) (Lang. 1) 10-01-2022]

77. The term ‘gigabytes’ refers to :

(A)

B)

©

D)

malware
phishing
storage capacity
speed
[CTET (1-5) (Lang. 1) 10-01-2022]
78. The purpose of the author of the report
isto:
(A) highlight the problems faced by the
telecom industry.
(B) advise the telecom players how to
improve their services.
(C) trace the growth of the telecom
industry
(D) encourage investors to invest in the
fast growing telecom industry.
[CTET (1-5) (Lang. 1) 10-01-2022]
79. Which of'the following words is similar in
meaning to the word, ‘launched’ as used
in para 1 of the passage?
(A) hurled (B) introduced
(C) popularised (D) familiarised
[CTET (1-5) (Lang. 1) 10-01-2022]
80. Which of the following words is most
opposite in meaning to the word, ‘steady’
in para 2 of the passage?
(A) erratic (B) unstable
(C) difficult (D) disappointing
[CTET (1-5) (Lang. 1) 10-01-2022]
81. Which part of speech is the underlined
word in the following sentence?
There is a fierce competition in the
telecommunication industry.

(A) Noun (B) Adverb
(C) Adjective (D) Pronoun
[CTET (1-5) (Lang. 1) 10-01-2022]
82. Which part of the following sentence
contains an error?

Ifit will rain  intime
(a) (b)
the farmers will have a good crop
(c) (d)
A) (@ B) (¢)
©) (a) D) ()

[CTET (1-5) (Lang. 1) 10-01-2022]

Read the passage given below and answer
the questions that follow by choosing the
correct/most appropriate options :
SYCOPHANCY is oldest
professions in the world. Old King Cole was

one of the

a merry old soul because he could afford to

be so. He would have felt choked by his
surroundings but for the sycophant who stood
by and helped him attain peace of mind. The
sycophant may well be called the provider of
peace of mind for those in authority. He acts as
ashock absorber-even this word is a little ahead
of'the sense. It would be nearer the mark to say
that he acts as a shock repeller. The sycophant
is ever watchful and manages to keep his chief
from feeling unduly bothered by conscience
or common-sense. The sycophant’s genius lies
in showing a feeling that is not his own but
his master’s. He cannot afford to assume any
colour of his own. His survival depends upon
his capacity to take on the hue that his master is
likely to assume at any given moment. Hamlet
points at the sky and asks Polonius : “Do you
see yonder cloud that’s almost in shape of a
camel?”

Polonius : “By the mass, and it’s like a camel,
indeed.”

Hamlet : “Methinks it is like a weasel.”
Polonius : “It is backed like a weasel.”
Hamlet : “Or like a whale?”

Polonius : “Very like a whale.”

I quote this because it seems to me a
masterpiece of sycophancy, although Polonius
has perhaps other aims, such as wanting to
humour a madman, in making himself so
agreeable.

83. According to the passage, choose the
correct option.

(A) Asycophant excels in expressing his

own feelings.

(B) A sycophant’s master understands
the important function that the
former plays in his life.

(C) A sycophant experiences no qualms
of conscience in expressing his
feelings.

(D) Asycophant’s master is often idiotic.

[CTET (1-5) (Lang. 2) 10-01-2022]

84. Choose the correct option from the

following :

(A) A sycophant’s master is often
morally upright.

(B) A sycophant is rarely himself.

(C) Asycophant is an honest, honourable
person.

(D) A sycophant’s survival sometimes
depends upon his capacity to be like
his master.

[CTET (1-5) (Lang. 2) 10-01-2022]
85. Read the following two statements :
(a) Asycophant is a mirror image of his
own master.

(b) A sycophant and his master differ in
their characters.

(A) (a)is false and (b) is true.
(B) (b)is false and (a) is true.
(C) Both (a) and (b) are true.
(D) Both (a) and (b) are false.
[CTET (1-5) (Lang. 2) 10-01-2022]
86. The gist of the passage is that

(A) a sycophant is out and out a self-
chosen victim.

(B) a sycophant is out and out a clever

rogue.

a sycophant sometimes tailors

his moods to mirror those of his

master’s.

©

(D) a sycophant and his master have a
fragile relationship.
[CTET (1-5) (Lang. 2) 10-01-2022]
87. Which of the following words has the
same meaning as the word “hue” as used
in the passage?
(A) cry (B) reflection
(C) refraction (D) colour
[CTET (1-5) (Lang. 2) 10-01-2022]
88. Which of the following words is the
antonym of the word “oldest” as used in
the passage?
(A) latest
(C) shortest

(B) youngest
(D) earliest
[CTET (1-5) 10-01-2022]
89. Which part of the following sentence
contains an error?

When I first entered  the room
(a) (b)
There were not less than
()
fifty people there
(d)
(A) (d) (B) (©
(€ (b) (D) (a)

[CTET (1-5) (Lang. 2) 10-01-2022]

90. Which part of speech is the underlined
word in the following sentence?
A sycophant cannot afford to assume any
colour of his own.
(A) Noun (B) Determiner
(C) Conjunction (D) Preposition
[CTET (1-5) (Lang. 2) 10-01-2022]

Direction (Q. No. 91-99)

Read the passage given below and answer

the questions/complete the statements that

follow by choosing the best options from
the given ones.

1. The Public distribution system, which
provides food at low prices, is a subject
of vital concern. There is a growing
realization that though India has enough
food to feed its masses two square meals
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a day, the monster of starvation and food
insecurity continues to haunt the poor in
our country.

2. Increasing the purchasing power of the poor
through providing productive employment
leads to rise in income, and thus good
standard of living is the ultimate objective
of public policy. However, till then, there
is a need to provide assured supply of food
through a restructured, more efficient and
decentralized Public Distribution System
(PDS)

. Although the PDS is extensive — it is one of
the largest systems in the world-it has yet to
reach the rural poor and the far-off places.
It remains an urban phenomenon, with the
majority of the rural poor still out of its
reach due to lack of economic and physical
access. The poorest in the cities and the
migrants are left out, for they generally do
not possess ration cards. The allocation of
PDS supplies in big cities is larger than in
rural areas.

4. In view of such deficiencies in the system,
the PDS urgently needs to be streamlined.
Also considering the large stock of food
grains combined with food subsidy on one
hand and the continuing slow starvation
and dismal poverty of the rural population
on the other, there is a strong case for
making PDS target-group oriented.

91. Read the following statements :
(a) India is a poor country and lacks
resources to feed every citizen.
(b) Food insecurity is one of the main
concerns for the poor in the country.
(A) (a) is true and (D) is false.
(B) (a) is false and (b) is true.
(C) Both (a) and (b) are true.
(D) Both (a) and (b) are false.
[CTET (1-5) (Lang. 1) 11-01-2022]
92. What should now be the objective of
public policy on PDS?
(A) to improve the food production.
(B) to provide better fertilisers to the
poor.
(C) to reduce administrative cost.
(D) to let the rural poor enjoy the food
subsidy.
[CTET (1-5) (Lang. 1) 11-01-2022]

93. Read the following statements :

(A) (a)is true and (b) and (c) are false.
(B) (a) and (b) are true (c) is false.
(C) (a) and (b) are false and (¢) is true.
(D) (a) and (c) are true and (b) is false.
[CTET (1-5) (Lang. 1) 11-01-2022]
94. What would be the purpose of making
PDS target-group oriented ?
(A) To remove the inequality between
the rich and poor.
(B) To provide food to poor rural
population.
(C) To improve the purchasing power of
the people.
(D) To improve the standard of living of
the people.
[CTET (1-5) (Lang. 1) 11-01-2022]
95. Study the following statements :
(a) There is less production of food
grains in India.
(b) The poor do not have enough
purchasing power.
(c) Cities get more food supplies than
rural areas.
(A) (a)isright but (b) and (c) are wrong.
(B) (b)isrightbut (a) and (c) are wrong.
(C) (c)isrightbut (a)and (b) are wrong.
(D) (a)is wrong but (b) and (c) are right.
[CTET (1-5) (Lang. 1) 11-01-2022]
96. ‘In growing realization’ in para 1, growing
is used as a/an :
(A) Verb (B) Adverb
(C) Adjective (D) Noun
[CTET (1-5) (Lang. 1) 11-01-2022]
97. In “purchasing power’ (para-2), the
underlined word means the same as :
(A) authority (B) capacity
(C) energy (D) will power
[CTET (1-5) (Lang. 1) 11-01-2022]
98. The word ‘system’ in ‘public distribution
system’ stands for :
(A) procedure (B) outlook
(C) thought process (D)routine
|[CTET (1-5) (Lang. 1) 11-01-2022]
99. ‘Streamlined’ in para 4 is used as a/an :
(A) noun (B) verb
(C) adverb (D) adjective
[CTET (1-5) (Lang. 1) 11-01-2022]

in the Ganga plain. The coastal plains
too, are densely populated. The plains are
agriculturally the most productive regions.
In addition, they have got network of roads
and railways. Many large towns and cities
that are commercially and industrially
important have come up in these regions.
All these factors have contributed to the
high concentration of population in the
plains.

. The hilly areas like Jammu and Kashmir

and the north eastern states are thinly
populated. These areas are economically
less developed, mainly because there is
difficulty of developing rail and road links
through the mountain terrain. The desert
regions of Rajasthan and Gujarat also
have sparse population. Among the states
and Union territories of India, population
is maximum in Uttar Pradesh, while the
Union Territory of Lakshadweep is the
least populous.

. Changes in the size of population depend

mostly on the birth rate and death rate. The
number of live berths per thousand people
in a year is called the birth rate, while the
number of deaths in a year is called the
death rate. The difference between these
two gives the natural increase, which is
the main factor responsible for population
growth. India is the second most populous
country, China being the first with having
17.2% of the world population. Together
China and India, according to a survey
in 2008, account for 60% of the world
population.

100. Which of the following statements is

correct ?

(A) The northern plains are densely
populated because of the Ganga river
which is considered to be holy.

(B) There is a good network of roads and
railways.

(C) There is no pollution as there are no
industries.

(D) There is little agricultural activity in
the area.

[CTET (1-5) (Lang. 2) 11-01-2022]

101. Read the following statements :

(a) There is difference in the density of

population among different states and
Union territories of India.

(b) Only increased scale of birth rates is
responsible for the population growth
in coastal areas.

(c) Uneven population distribution is a

Direction (Q. No. 100-106)

Read the passage given below and answer
the questions/complete the statements that
follow by choosing the best option from the
given ones.

. In India, as in other parts of the world,

(a) The public distribution system is
a system which is very popular in
India only.

(b) Itenables the government to provide
food to the people in remote areas of 1

the country successfully.

(c) People have to procure ration card
to avail of this facility.
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the population is unevenly distributed.
The concentration of population is the
highest in the northern plains, particularly

unique feature of India.
(A) (a)and (b) are true but (c) is false.
(B) (a) and (b) are false but (c) is true.



(C) Only (a) is true.
(D) Only (b) is true.
[CTET (1-5) (Lang. 2) 11-01-2022]

102. The reason for lower economic

development in hilly regions is :

(A) less concentration of population.
(B) Increased incidents of land sliding.
(C) Less developed roads and rail links.

(D) Tourism as the only source of
income.
[CTET (1-5) (Lang. 2) 11-01-2022]

103. According to a survey done in 2008, India

and China together account for ...............
population of the world.

(A) Three fifths  (B) One fifth
(C) Four fifths (D) Two fifths
[CTET (1-5) (Lang. 2) 11-01-2022]

104. ‘because there is difficulty of developing

rail’. Which of the following clauses is
used here?

(A) adverb (B) adjective
(C) principal (D) noun
[CTET (1-5) (Lang. 2) 11-01-2022]

105. network of roads (para 1) the underlined

word is a/an ............ .

(A) verb (B) adjective

(C) noun (D) pronoun
[CTET (1-5) (Lang. 2) 11-01-2022]

106. In densely populated, the underlined word

means the same as :
(A) thinly (B) thickly
(C) mostly (D) lively
[CTET (1-5) (Lang. 2) 11-01-2022]

which does not discriminate between the
rich and the poor. But in the short term,
indiscriminate use of resources tends to
adversely affect the underprivileged more
sharply. Loss of forest affects the poor
who use forest resources for a variety of
subsistence needs like firewood, medicinal
herbs or food.

. Drying up of rivers and ponds and falling

ground water levels means that women
have to walk longer in order to procure
water. The model of development we
are pursuing is heavily dependent on
the increasing use of energy. Most of the
energy currently generated in the world
is from non-renewable sources like coal
or petroleum. Large tracts of the Amazon
rainforests are being deforested in order to
provide for the increased consumer needs.
Are there enough of these non-renewable
resources which can allow not only the
advanced countries but all people in the
world to enjoy an affluent life style? Given
the finite nature of these resources, the
answer would be no. What about the future
generations? Are we going to hand over a
depleted earth and multiple problems to
them?

107. What is meant by ‘Development’ as the

cause of environment degradation?

(A) Increasing population and changing
life styles of the people

(B) Mushroom growth of urban centres
and human settlements

(C) Deforestation, emission of green-
house gases, construction of dams

110.

111.

112.

113.

violent storm surges and floods in
coastal areas.

(D) In coastal areas people used to
worship mangroves as deity who
protected them from natural disasters

[CTET (1-5) (Lang. 1) 06-01-2022]
Which of the following is NOT a
greenhouse gas?

(A) Carbon dioxide
(B) Methane

(C) Chlorofluorocarbon
(D) Hydrogen

[CTET (1-5) (Lang. 1) 06-01-2022]
The most ferocious effect of global
warming will be :

(A) increasing cases of skin cancer
(B) polluted water and health disorders.

(C) Increase in sea level and flooding of
coastal areas

(D) Reduction in agricultural production
[CTET (1-5) (Lang. 1) 06-01-2022]

Which of the following is nearest in

meaning to the word ‘degradation’ as used

in the passage (Para 1)?

(A) disruption (B) destruction

(C) debasement (D) discrimination
[CTET (1-5) (Lang. 1) 06-01-2022]

Which of the following words is opposite

in meaning to the word, ‘advanced’ as

used in the passage (para 2)?

(A) poor (B) backward

(C) unskilled (D) traditional
[CTET (1-5) (Lang. 1) 06-01-2022]

Which part of speech is the underlined
word in the following sentence?
Global warming is a matter of serious

and skyscrapers. 114.

Direction (Q. No. 107-115)

Read the passage given below and answer (D) Increasing wealth and money-
the question that by choosing the correct/ minded attitudes in modern society

most appropriate options. [CTET (1-5) (Lang. 1) 06-01-2022] coneem.
1. Development has indeed caused a high 108, The Tsunami is a term taken from : (A) Adjective (B) Noun
degree of environmental degradation in (C) Adverb (D) Pronoun

many countries and not just the displaced
people but all of the population is
beginning to feel the consequences. When
the tsunami' hit the South and South-East
Asian coasts in 2004, it was observed
that the destruction of mangroves and the
building of commercial enterprise along
the shore line was the reason for the greater
extent of the damage caused. You must
have read about global warming. The ice in
the Arctic and Antarctic is melting because
of increased emission of greenhouse
gases into the atmosphere and this has
the potential to cause floods and actual

(A) The Japanese Language.
(B) The Chinese Language.
(C) The Arabic Language.
(D) The Korean Language.
[CTET (1-5) (Lang. 1) 06-01-2022]

109. The importance of mangroves is obvious

from the first three lines of the passage.

Which of the following supports this

arguments?

(A) Mangroves belong to rare species of
trees in coastal areas which are used
in building construction

(B) Mangroves are the ancient tribes

115.

[CTET (1-5) (Lang. 1) 06-01-2022]
Which part of the following sentence
contains an error?

If he had needed his father’s advice
(@) (b)

He will not have faced
(©

this worrying situation.

(d)

(A) (0 (B) (a)
©) @ (D) (b)
[CTET (1-5) (Lang. 1) 06-01-2022]

who live in coastal area and protect
the people against violent storms

Direction (Q. No. 116-122)

Read the passage given below and answer
the questions that follow by selecting the
correct/most appropriate options.

submerge low lying areas like Bangladesh
and the Maldives. In the long term, the
ecological crisis will adversely affect all (C) The string root system of mangrove
of us. Air pollution is already a problem trees form a natural barrier against
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Buddha’s method was one of psychological
analysis and, again, it is surprising to find
how deep was his insight into this latest of
modern sciences. Man’s life was considered
and examined without any reference to a
permanent self, for even if such a self exists, it
is beyond our comprehension. The mind was
looked upon as part of the body, a composite
of mental forces. The individual thus becomes
a bundle of mental states, the self is just a
stream of ideas. ‘All that we are is the result of
what we have thought’. There is an emphasis
on the pain and suffering of life, and the ‘Four
Noble Truths’ which Buddha enunciated deal
with this suffering, its cause, the possibility of
ending it, and the way to do it. Speaking to
his disciples, he is reported to have said : ‘and
while ye experienced this (sorrow) through
long ages, more tears have flowed from you
and have been shed by you, while ye strayed
and wandered on this pilgrimage (of life), and
sorrowed and wept, because that was your
portion which ye abhorred, and that which ye
loved was not your portion, than all the water
which is in the four great oceans’. Buddha
told his disciples what he thought they could
understand and live up to. His teaching was not
meant to be a full explanation of everything,
a complete revelation of all that is. Once it
is said, he look some dry leaves in his hand
and asked his favourite disciple, Ananda, to
tell him whether there were any other leaves
besides those in his hand. Ananda replied : The
leaves of autumn are falling on all sides, and
there are more of them than can be numbered,
Then said the Buddha : ‘In like manner I have
given you a handful of truths, but besides these
are many thousand of other truths, more than
can be numbered.’

116. Buddha’s method of understanding ‘the
self” can be described as :

(B) philosophical

(C) moralistic (D) scientific
[CTET (1-5) (Lang. 2) 06/01/2022]

After the emergence of new scientific

approaches ‘the self’, came to be
considered as :

(A) metaphysical

117.

(A) apermanent entity in physical body
(B) beyond comprehension

(C) a composite of conflicting mental
forces

(D) a stream of ideas
[CTET (1-5) (Lang. 2) 06/01/2022]
Which of the following is not one of the

‘Four Noble Truths’s as enunciated by
the Buddha?

(A) There is suffering in the world

118.

(B) There is a cause of this suffering
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(C) The suffering has a demoralising
effect on us
(D) There is possibility of ending the
suffering
[CTET (1-5) (Lang. 2) 06/01/2022]
The most important characteristics of the
Buddha’s teaching is :
(A) complete explanation of the fact.
(B) emphasis on cleansing oneself of
what is base.

realization with the help of an
illustration

119.

©
(D) involving people in discussion
[CTET (1-5) (Lang. 2) 06/01/2022]
Choose the nearest antonym of the word-
*abhorred’
(A) flattered (B) entertained
(C) loved (D) admonished
[CTET (1-5) (Lang. 2) 06/01/2022]
Which of the following words has the
same meaning as the word, ‘permanent’
used in the passage?
(A) unending

120.

121.

(B) lasting

(C) remaining (D) sustaining
[CTET (1-5) (Lang. 2) 06/01/2022]

Identify the clause used in the underlined

part of the sentence “Buddha told his

disciples what he thought they could

understand and live up to”

(A) Noun clause
(B) Adjective clause
(C) Adverb clause
(D) Principal clause
[CTET (1-5) (Lang. 2) 06/01/2022]

Direction (Q. No. 123-131)

Read the following passage and answer
the questions that follow by choosing the
correct/most appropriate options :

122.

Inpresenttimes, ‘home” has become our world.
But home is equally important to our fellow
species. A common factor between millions
of birds, animals, insects and invertebrates on
Earth—our shared home is having a homestead.
A home provides a sheltering base for our
families enabling us to grow towards new
possibilities.

Similarly, their homes-nests high in trees,
burrows deep underground, silken webs
shimmering in sunlight, holes holding one’s
young hungry for a bite-mean the same to
all spices. This explains the great efforts
animals and birds make to construct their
homes, flying miles to find twigs, interlocking
branches to make platforms, digging under-
water chambers. Such homes are crucial for
ecologies. Consider the green-backed, fire-
crown hummingbird of Chile—it builds a
‘living nest’ using moss species which cannot

disperse their spores. The hummingbird selects
these species to construct a bright green nest,
helping land-based plants to proliferate. The
little birds’ generosity is rewarded by nature
— these mosses have chemical properties that
protect nests from vectors carrying disease.

In addition to ecological insight, nature’s
home builders show architectural beauty. The
weaver bird constructs a nest of interlaced
fibres and fronds, its hanging palace containing
chambers, doorways and corridors. A spider’s
web looks ephemeral in its delicacy, but
experts emphasise, these are constructions of
incredible geometry frames and radii at perfect
angles, physics providing precise tension,
built with spiders silk, a marvel of biology.
Importantly nature’s architects remind us that
our homes protect our dear ones. And enable
the young to begin their adventures of life. But
human activity is disrupting this marvellous
sphere.  Deforestation,  pollution  and
urbanisation are eating into the environment
animals and birds need to build their homes.

123. Choose the correct option :
The author underlines the importance of
home because it :
(a) gives shelter to our families.
(b) adds to our happiness.
(c) provides us with opportunities to
Srow.
(d) strengthens the bonds between
family members.
aand d (B) band ¢
aandc (D) candd
[CTET (1-5) (Lang. 1) 05/01/2022]
The green-backed firecrowned humming

birds of Chile uses certain moss species
because :

(A)
(B)

(A)
©

124.

they lend strength to the nest.

their peculiar smell keeps predators

at bay.

(C) they are easily available.

(D) they provide protection from disease

carrying insects.

[CTET (1-5) (Lang. 1) 05/01/2022]

Which of the following is not correct

according to the passage?

(A) Birds fly miles to find twigs to build
their homes.

(B) They make platforms by interlocking
branches.

(C) They dig deep into the earth to make
burrows.

(D) Breeding birds are not affected by

climate change.

[CTET (1-5) (Lang. 1) 05/01/2022]

The weaver bird’s nest is a marvel of
architectural beauty because :

125.

126.



127.

(A) its hanging nest contains chambers,
doorways and corridors.

(B) it has incredibly beautiful geometry
frames.

(C) its delicate, shimmering silks are a
delight to watch.

(D) it can withstand the worst weather
conditions.

[CTET (1-5) (Lang. 1) 05/01/2022]
Which paragraph deals with human
activities that are posing a threat to birds
and animals?

(A) Para?2 (B) Para 4
(C) Paral (D) Para3
[CTET (1-5) (Lang. 1) 05/01/2022]

128. Which of the following words is similar

1

in meaning to the word, ‘crucial’ as used
in para 2 of the passage?
(A) dependable
(B) comfortable
(C) wital
(D) monumental

[CTET (1-5) (Lang. 1) 05/01/2022]

29. Which of the following words is the

most opposite in meaning to the word,
‘marvellous’ as used in para 4 of
the passage?
(A) intriguing
(B) disgusting
(C) ordinary
(D) crucial

[CTET (1-5) (Lang. 1) 05/01/2022]

130. Which part of speech is the underlined

word in the following sentence ?
Ahome provides a sheltering base for our

families.
(A) adverb (B) conjunction
(C) noun (D) determiner

[CTET (1-5) (Lang. 1) 05/01/2022]

131. Which part of the following sentence

contains an error?

Wait here until I do not return from office.
(a) (b) © (A

(A) (d) (B) (c)

©) (@ (D) (b)
[CTET (1-5) (Lang. 1) 05/01/2022]

Direction (Q. No. 132-139)

1.

Read the passage given below and answer
the questions by choosing the correct/most
appropriate options :

Of the larger animals, the elephant is
perhaps the most intelligent. The love of
an elephant-cow for her offspring is almost
human; indeed, sometimes even more than
human.

2. In Africa an elephant-cow was once seen

carrying about her calf that had been dead

for two days. She would put it down when
she had to eat or drink and then take it up
again and move on.

. Another instance of an elephant-cow’s love

for her off spring was recorded by Lance
corporal Batalemayo. Wandering round
the Queen Elizabeth Park, Africa, when
he heard an elephant’s scream. He saw the
elephant about a 100 m away. A few meters
away from the elephant sat panting from
hunger a lion and a lioness, their tongues
hanging out. They did not have the courage
to approach the enraged elephant. They
remained there for an hour-and-a-half.
Every now and then the elephant would
charge furiously and then withdraw.

. The next day the Corporal went on his

rounds again and was surprised to see the
antagonists maintaining their positions.
The elephant was by now pretty tired out
and the lions were getting closer and closer.
He saw further that the elephant had been
guarding a dead calf. The lions withdrew
after maintaining the siege for three days.
The elephant-cow stood vigil for another
three days before leaving finally.

132. The elephant-cow carrying about her

dead calf :

(A) bodes ill for both of them.

(B) expresses her hope that it would
recover soon.

(C) expresses her fond belief that it is
still alive.

(D) reveals her extreme love for her
offspring
[CTET (1-5) (Lang. 2) 29/12/2021]

133. The elephant-cow screamed because :

(A) her injuries were causing her a lot of
pain.

(B) the lions are scared of elephants.

(C) she had seen two hungry lions ready
to attack her.

(D) she wanted to attract the attention of
the herd near the forest.
[CTET (1-5) (Lang. 2) 29/12/2021]

134. Which of the following is Not True

according to the passage?

When the Corporal went on his rounds

again he was surprised to see that

(A) both the elephant-cow and the lions
had maintained their respective
positions.

(B) one of the lions had been gored by
the enraged elephant-cow.

(C) the lions had started beating a retreat

(D) the elephant-cow too left the spot
after three days
[CTET (1-5) (Lang. 2) 29/12/2021]

135. The purpose of the author is to :

(A) show that the elephant and not the
lion is the lord of the jungle.

(B) Describe a serious confrontation
between the elephant-cow and the
hungry lions.

(C) show that the elephant is a highly
intelligent animal.

(D) underscore the love of an elephant-
cow for her offspring.

[CTET (1-5) (Lang. 2) 29/12/2021]

136. Which of the following words is similar

in meaning to the Word, ‘furiously’ in

paragraph 3 of the passage?

(A) slyly (B) fiercely

(C) cunningly (D) hectically
[CTET (1-5) (Lang. 2) 29/12/2021]

137. ....... the elephant is perhaps the most.

The underlined word means the same as :
(A) almost (B) possibly
(C) indeed (D) surely

[CTET (1-5) (Lang. 2) 29/12/2021]

138. Which part of speech is the underlined

word in the following part of speech?

The love of an elephant-cow for her

offspring is almost human.

(A) Preposition  (B) Adjective

(C) Adverb (D) Conjunction
[CTET (1-5) (Lang. 2) 29/12/2021]

139. Which part of the following sentence

contains an error?

For babies feeding  breast feeding

(a) (b)
is more superior to bottle

(© (d)
(A) (d) (B) (©
© (@ (D) (b)

[CTET (1-5) (Lang. 2) 29/12/2021]

Direction (Q. No. 140-146)

Read the passage given below and answer
the questions by choosing the best/most
appropriate options.

VENUS TRANSITS SUN

1. Millions of Indians kept their date with rare

celestial event of the “Evening Star” Venus
crossing the face of the Sun on Tuesday,
the 8™ June, 2004 even though the weather
played spoil-sport in several parts of the
country, denying perfect viewing.

2. Huge crowds of young and old thronged

planetariums in cities across the country in
the morning to get a view of the Earth’s
closest planet making its first touch with
the Sun at 10.46 a.m. Venus looked like a
small black dot against a giant bright Sun
when it began the transit at 11.06 a.m.,
Planetariums in the four metros and other
cities had made special arrangements for
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the public to view the event by putting up
solar-filter telescopes and binoculars.

3. An hour after the transit began, the weather
suddenly changed in states,
bringing rain. The rain and a cloudy sky
prevented enthusiastic sky gazers from
getting a perfect view of the transit, but
people waited anxiously for more than
three hours to catch a glimpse of Venus.

several

4. Their patience finally paid off when the
skies cleared in the evening to offer a
perfect view of the third contact of Venus
with the Sun at 4.37 p.m. The transit ended
at 4.50 p.m. when Venus was visible
outside the solar disc.

. Today’s was the first Venus transit to be
visible from India in 130 years. Another
transit 122 years ago was not visible from
India. The next transit will occur in 2012 at
night. So it will not be visible in India.

6. The mini eclipse, when Venus moved

across the face of the Sun lasted for over
a period of six hours. This is known as the
Venus Transit and occurs only twice every
century or so.

140. What was the rare celestial event. Which
millions of Indians had come to watch on
8" June, 2004 ?

(A) Lunar eclipse
(B) Solar eclipse
(C) Transit of Venus
(D) Partial eclipse
[CTET (1-5) (Lang. 2) 28/12/2021]
141. What played a ‘spoil sport’ during the
viewing of the rare celestial event?
(A) Earth eclipsing the Sun
(B) Obscure Solar disc
(C) Bright sunshine
(D) Rain and a cloudy sky
[CTET (1-5) (Lang. 2) 28/12/2021]

142. What was the ‘small black dot ‘that

appeared in the sky?
(A) Venus (B) Earth
(C) Moon (D) Jupiter

[CTET (1-5) (Lang. 2) 28/12/2021]

143. Read the following statements :

(a) This was the transit of Venus to be
visible from Earth.

(b) Next such transit will occur in 2012.
Choose the correct option :

(A) Both (a) and (b) are true
(B) Both (a) and (b) are false
(C) (a)is false but (b) is true
(D) (a) is true but (b) is false
[CTET (1-5) (Lang. 2) 28/12/2021]
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144. ‘Evening Star’ is another name for :

(A) Moon (B) Lucifer
(C) Venus (D) Jesus Christ
[CTET (1-5) (Lang. 2) 28/12/2021]

145. Which of'the following words is opposite

in meaning to the word ‘enthusiastic’ as
used in the passage ?

(A) excited (B) indifferent
(C) impatient (D) eager
[CTET (1-5) (Lang. 2) 28/12/2021]

146. ‘Spoil-Sport’ (paral) means a person who :

(A) is a source of others’ entertainment.
(B) is a merry maker.
(C) is the life of a party.
(D) spoils others’ pleasure.
[CTET (1-5) (Lang. 2) 28/12/2021]

Direction (Q. No. 147-154)

Read the passage given below and answer
the questions that follow by choosing
correct/most appropriate option :

1. Back in the days of America’s Wild West,

when cow boys roamed the range and
people were getting themselves caught
up in gunfights, a new phrase—‘snake oil’
entered the language. It was a dismissive
term for the patent medicines, often useless,
sold by travelling traders who always
claimed miraculous cure for everything
from baldness to snakebite. Selling’snake
oil’was almost as risky as business as cattle
stealing; you might be thrown out of town
if your particular medicine, as you realized
it would, failed to live up to its claims.
Consequently, the smarter’snake oil’sellers
left town before their customers had much
chance to evaluate the ‘cure’ they had just
bought.

2. The remarkable thing about many of the

medicines dismissed then as ‘snake oil’is
not so much that they failed to live up to
the outrageous claims made for them-
those that weren’t harmless coloured water
could be positively dangerous. What’s
remarkable is that so many of the claims
made for some of these remedies, or at least
their ingredients, most of them plant based,
have since been found to have at least some
basis in fact.

One, Echinacea, eventually turned out to
be far more potent than even its original
promoter claimed. Echinacea first appeared
in ‘Meyer’s Blood Purifier’, promoted asa-
cure-all by a Dr. H. C. F Meyer-a lay doc-
tor with no medical qualifications. Meyer’s
Blood Purifier claimed not only to cure
snakebite, but also to eliminate a host of
other ailments. Native to North America,
the roots of Echinacea, or purple cornflow-
er, had been used by the plains Indians for

all kinds of ailments long before Meyer
came along. They applied poultices of it
to wounds and stings, used it for teeth and
gum disease and made a tea from it to treat
everything from colds and measles to ar-
thritis. They even used it for snakebite.

147. Which of the following statements is true

about the ‘snake o0il’?

(A) Itwas adisdainful term for the patent
medicines.

(B) Selling of snake-oil was a risky
business.

(C) It was sold by travelling traders.

(D) Snake oil was in great demand in
America.

[CTET (1-5) (Lang. 2) 27/12/2021]

148. The reason why snake oil sellers left town

soon after selling it was that
(A) it was causing baldness.

(B) the authorities had received com-
plaints against them.

(C) they were accused of stealing cattle.

(D) it failed to live up to the tall claims
made for it.

[CTET (1-5) (Lang. 2) 27/12/2021]

149. Choose the correct statement. Native of

North America used poultices of Echina-
cea to treat :

(A) heart ailments
(B) teeth and gum disease
(C) neuro problems
(D) blood disorders
[CTET (1-5) (Lang. 2) 27/12/2021]

150. Read the following statements :

(a) Most of the medicines sold by trav-
elling traders were plant based.

(b) Dr. H. C. F. Meyer was a highly
qualified physician.

(A) (a)is false and (b) is true.

(B) Both (a) and (b) are true.

(C) (a)istrue and (b) is false.

(D) Both (a) and (b) are false
[CTET (1-5) (Lang. 2) 27/12/2021]

151. Which one of the following words is

most opposite in meaning to the world’

‘outrageous’ as used in para 2 of the

passage?

(A) appalling (B) scandalous

(C) acceptable (D) abominable
[CTET (1-5) (Lang. 2) 27/12/2021]

152. Identify the type of adverb in the under-

lined part of the following sentence :
Echinacea has been used by the Indian
for all kind of ailments long before
Dr. Meyer came along.

(A) Adverb of manner



(B) Adverb of place
(C) Adverb of time
(D) Adverb of degree
[CTET (1-5) (Lang. 2) 27/12/2021]
153. Which of the following words mean the
same as the word, ‘Potent’ as used in para
3 of the paragraph?
(A) prominent (B) powerful
(C) protective (D) precious
[CTET (1-5) (Lang. 2) 27/12/2021]
154. Which part of the following sentences
contains an error?

The landscape is beautiful

a b
in it’s own unique way.
c d
(A) (©) (B) (d)
©) (@ (D) (b)

[CTET (1-5) (Lang. 2) 27/12/2021]

Direction (Q. No. 155-161)

Read the passage given below and answer
the questions that follow by choosing
correct/most appropriate option :

1. There is consistent, strong evidence to
prove that the SARS CoV-2 virus, behind
the COVID-19 pandemic, is predominantly
transmitted through air, according to a
new assessment published on Friday in
The Lancet journal. The analysis by six
experts from the UK, the US and Canada
says public health measures to fail to treat
the virus as predominantly the airborne
route leaves the people unprotected and
allows the virus to spread. Although some
studies in the past have suggested that
COVID-19 may spread through air, overall
scientific literature on the subject has been
inconclusive. In July last year, over 200
scientists from 32 nations wrote to WHO,
saying there is evidence that the Corona
virus is airborne, and even smaller particles
caninfect people. “The evidence supporting
airborne transmission is overwhelming,
and evidence supporting large droplet
transmission is almost non-existent”, said
Jose-Luis Jimenez, from the University of
Colorado Boulder in the US. “It is urgent
that the World Health Organization and
other public health agencies adapt their
description of transmission to the scientific
evidence so that the focus of mitigation is
put on reducing airborne transmission,”
Jimenez said. Studies have confirmed these
events cannot be adequately explained by
close contact or touching shared surfaces
or objects, the researchers said in their
assessment.

2. They noted the transmission rates of
SARS-CoV-2 are much higher indoors

than outdoors, and transmission is greatly
reduced by indoor ventilation. The term
cited previous studies estimating that
silent- asymptomatic or pre-symptomatic
transmission of SARS-CoV-2 from people
who are not coughing or sneezing accounts
for at least 40 percent of all transmission.

155. Which of the following statements is not

true about the transmission of SARS-

CoV-2?

(A) Itis transmitted through air.

(B) Transmission rates of the disease are
much higher indoors than outdoors.

(C) Itisnottransmitted via close contact
or touching shared surfaces or
objects.

(D) It could be transmitted through
asymptomatic patients to a healthy
person.

[CTET (1-5) (Lang. 2) 27/12/2021]

156. According to experts from the UK, the

US and Canada the SARS-CoV-2 virus.
(A) spreads through human contact.
(B) affects the elderly the most.
(C) proves fatal to people with weak
immune system
(D) the airborne route leaves people
unprotected.
[CTET (1-5) (Lang. 2) 27/12/2021]

157. What, according to Jimenez, should WHO

and other public health organisations do

to effectively deal with the problem?

(A) Tofind ascientific cure for permanent
extinction of the virus.

(B) To find scientific ways to reduce the
airborne transmission

(C) Issue guidelines regarding Covid-19
protocol and make them mandatory
for all.

(D) To adapt their description of
transmission to scientific evidence
to reduce airborne transmission.

[CTET (1-5) (Lang. 2) 27/12/2021]

158. Choose the correct option to fill in the

blank in the following sentence :
.......... was the first to establish the fact
that Covid-19 pandemic prominently
spreads through air.
(A) World Health Organisation
(B) Jose-Luis Jimenez
(C) Research studies
(D) Lancet Journal
[CTET (1-5) (Lang. 2) 27/12/2021]

159. Which of'the following words has the same

meaning as the word, ‘overwhelming” as
used in paragraph 1 of the passage?

(A) strong (B) transparent
(C) clear (D) close
[CTET (1-5) (Lang. 2) 27/12/2021]

160. Which of the following words is opposite

in meaning to the word, ‘consistent’ as

used in para 1 of the passage?

(A) excellent (B) dependable

(C) marvellous (D) astonishing
[CTET (1-5) (Lang. 2) 27/12/2021]

161. Which part of the following sentences

contains an error?

He asked him why was he reluctant
a b
to accept such a good offer
c d
A) (a) (B) (d)
(€ () D) ()

[CTET (1-5) (Lang. 2) 20/12/2021]

Direction (Q. No. 162-168)

Read the following passage and answer
the questions by choosing the correct/most
appropriate options :

1. Healthcare is the right of every individual

but lack of quality infrastructure, dearth
of qualified medical functionaries,
and non access to basic medicines and
medical facilities thwarts its reach to
60% of population in India. A majority
of 700 million people lives in rural areas
where the condition of medical facilities
is deplorable. Considering the picture
of grim facts there is a dire need of new
practices and procedures to ensure that
quality and timely healthcare reaches the
deprived corners of the Indian villages.
Though a lot of policies and programs
are being run by the Government but
the success and effectiveness of these
programs is questionable due to gaps in
the implementation. In rural India, where
the number of Primary health care centers
(PHCs), is limited, 8% of the centers do not
have doctors or medical staff, 39% do not
have lab technicians and 18% PHCs do not
even have a pharmacist.

Indian also accounts for the largest number
of maternity deaths. A majority of these
are in rural areas where antenatal care and
do not extend to more critical services
like labor and delivery, where proper
medical care can save life in the case of
complications.

2. Due to non accessibility to public health

care and low quality of health care services,
a majority of people in India turn to the
local private health sector as their first
choice of care. If we look at the health
landscape of India 92 percent of health care

English | 13



visits are to private providers of which 70
percent is urban population.

However, private health care is expensive,
often unregulated and variable in quality.
Besides being unreliable for the illiterate,
it is also expensive for low income rural
folks.

3. To control the spread of diseases and
reduce the growing rates of mortality due
to lack of adequate health facilities, special
attention needs to be given to the health
care in rural areas. The key challenges in
the healthcare sector are low quality of care,
poor accountability, lack of accountability,
lack of awareness, and limited access
to facilities. Various organizations are
coming together for improvements in
health care and technology plays a crucial
role for successful implementation of these
changes.

162. Read the following statements and select

the correct option :

(a) The condition of medical facilities
in Indian villages does not leave
anything to be desired.

(b) Timely healthcare is within easy
access of the Indian towns.

(c) The state of healthcare in Indian
village is pitifully bad.

(d) Less than 700 million people in
Indian villages have the advantage
of adequate medical facilities.

(A) (a)is true and (b) is false.
(B) (b) is true and (a) is false.
(C) (c)is true (d) is false.
(D) (a) is false and (d) is true.
[CTET (1-5) (Lang. 2) 20/12/2021]

163. The passage talks about :

(A) the successful implementation of
healthcare programme in semi-urban
areas of India.

(B) the urgent need to prop up medical
facilities in suburban areas of Indian.

(C) the improvement of rural health
problems in India.

(D) the inefficiency of Indian doctors to
provide quality health facilities.

[CTET (1-5) (Lang. 2) 20/12/2021]

164. The passage makes the point that :

(A) medical facilities are now available
to a large number of rural citizens.

(B) a large number of women die while
giving birth to children.

(C) more than 60% of the rural population
has access to basic health facilities.

(D) availability of quality medical
functionaries is no longer a problem.
[CTET (1-5) (Lang. 2) 20/12/2021]
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165. Which of the following statements is not
true according to the passage?

(A) Due to lack of proper healthcare,
people in India turn to local private
health sector.

(B) The scenario in public healthcare
hardly requires new practices and
procedures.

(C) Govt. policies and programmes
prove unproductive owing to gaps
in implementation.

(D) In India most of the Primary Care
Health centres are poorly equipped.

[CTET (1-5) (Lang. 2) 20/12/2021]
The word ‘thwarts’ used in the opening
sentence of the passage means :

(A) facilitates (B) expedites
(C) obstructs (D) regresses
[CTET (1-5) (Lang. 2) 20/12/2021]

166.

167. Which of the following is the antonym
of the word ‘lack’ used in para 1 of the
passage?

(A) want (B) destitution

(C) deficiency (D) plenty

[CTET (1-5) (Lang. 2) 20/12/2021]

168. Which part of the following sentence
contains an error?
I shall not be able to reach your place

@ (b)

unless you do not give me an hour.

© (d)
(A) (@ (®) (a)
© (© (D) (b)

[CTET (1-5) (Lang. 2) 20/12/2021]

Direction (Q. No. 169-177)

Read the passage given below and answer
the questions that follow by choosing
correct/most appropriate options :

The total forest cover of Himachal Pradesh
increased nearly by 25 per cent and by more
than 1000 percent in Lahaul and Spiti district
between 1991 and 2015 due to plantations
initiatives, according to an analysis report by
the State Centre on Climate Change.

Out of a total geographical area of 55,673
square kilometres, the state has recorded a
forest cover of 27.72 per cent (15,43.352
square kilometres), according to The State of
Forest Report (ISFR), a biennial publication of
the Forest Survey of India, released last month.
It is said that’dense forest cover’in Kinnaur
decreased from 565 sq. km to 344 sq. km
during this period, a decrease of 39 percent.
Hamirpur, Kullu, Shimla and Sirmaur districts
also witnessed a declining trend in the dense
forest cover. On the other hand, it increased
from zero to 47 sq. kms in Lauhaul and Spiti

and from 164 to 459 sq. km in Solan, while
other districts also saw an increasing trend.
Except Una and Kangra districts, the State
witnessed an increasing trend of’open forest
cover’with Lahaul and Spiti registering an
increase of 770 percent. The total area under
scrubs in the State has decreased substantially
since 1995 from 1,845 sq kms, the report said.
It further said that as per FSI’s data, some of
the forest area in Una district was found to
be highly vulnerable to forest fires while a
substantial area of different forest classes in
Sirmaur and Solan districts was also found
to be moderately vulnerable to fires due to
preponderance of Chir Pine forests in those
areas.

The report also said that various broad-leaved
species of trees, which are used to produce a
tinier quality of fuel and fodder, are facing a
decline in area due to “anthropogenic pressure
of the forest fringe communities.”

169. The ISFR report is published :
(A)
(B)
©
(D)

every three months

every six months

every nine months

every twenty four months

[CTET (1-5) (Lang. 1) 21/01/2022]

170. Plantation activities in the entire state of
Himachal Pradesh have shown :

(A) downward trend

(B) rising trend

(C) mixed trend

(D) anuneven trend

[CTET (1-5) (Lang. 1) 21/01/2022]

171. Read the following statements :

(a) The forest cover in Lahaul and Spiti
decreased by 39 per cent.

(b) The forest cover in Kullu increased
by 40 per cent.

(c) The forest cover in Lahaul and Spiti
increased by less than 800 per cent.

(d) Apart of Una district was highly
vulnerable to forest fires.

(A) (a)is false and (b) is true.

(B) (b) is false and (c) is true.

(C) (c)is false and (d) is true.

(D) Both (a) and (d) are false.
[CTET (1-5) (Lang. 1) 21/01/2022]

172. Read the following statements :

(a) A few areas in Sirmaur district were
found vulnerable to forest fires.

(b) Some areas of Solan district were
found vulnerable to forest fires.

(A) (a)is true and (b) is false.

(B) (b) is true and (a) is false.



(C) Both (a) and (b) are false
(D) Both (a) and (b) are true

[CTET (1-5) (Lang. 1) 21/01/2022]
Which of the following is not true
according as the passage?

The total geographical area of Himachal
Pradesh is :

(A) not more than 55,558 sq. km
(B) not less than 60,000 sq. km
(C) more than 54,900 sq. km
(D) Is neither less nor more than 55,673
sq. km
[CTET (1-5) (Lang. 1) 21/01/2022]
Which of the following words has the

same meaning as the Word ‘tremendous’
used in the passage?

(A) immense
(B) exact
(C) vibrant
(D)

173.

174.

constant

[CTET (1-5) (Lang. 1) 21/01/2022]
Which of the following words is the
antonym of ‘inappropriate’as used in the
passage?

(A) misappropriate

175.

(B) disproportionate
(C) approximate
(D) suitable

[CTET (1-5) (Lang. 1) 21/01/2022]
Which part of speech is used in the under-
lined word in the phrase ‘continuously
putting pressure’ in the passage?
(A) Verb (B) Adjective
(C) Adverb (D) Noun

[CTET (1-5) (Lang. 1) 21/01/2022]

Which part of the following sentence
contains an error?

176.

177.

It will rain tomorrow, I shall not come

(a) (b)
to meet you in the club.
(©) (d)
(A) (d) (B) (b)
© © (D) (@)

[CTET (1-5) (Lang. 1) 21/01/2022]

Direction (Q. No. 178-185)

Read the passage given below and answer

the questions by choosing the correct/most

appropriate options.
When I was a boy in Dehra, there was a mango
grove just opposite the bungalow. It belonged
to someone called Seth Govind Ram (may
his soul rest in peace), and, during the mango
season, it was fiercely guarded by A giant of a
man called Phambiri. All my efforts to get into
the grove were repulsed, and on one occasion
I received a mild lathi-blow on my backside.

I just wanted to climb the tree’ I pleaded.
*Come back when the mango season is over’
said Phambiri with a vicious smile copied
from a filmi villain.

And then I discovered that he was an ex-
wrestler, that he had been a champion in his
youth, and had even thrown the great King
Kong, a famous wrestler from about forty
years ago. (I did not know at the time that King
Kong, in his bad years, was constantly being
thrown out of the ring.) So, whenever I passed
the grove and saw Phambiri, I would remark
on his great strength, his superb condition
(going to fat, really), his muscles like cricket
balls, and his bull-like neck and shoulders.
Gradually he warned to me, and began to tell me
of his exploits. [ acclaimed them. Then he showed
me feats of strength, like picking up rocks and
hurling them across the road. [ applauded. Before
long, he had invited me into the mango grove,
and by the end of the week I could have all the
mangoes | wanted. The guardian of the grove
actually pressed them upon me.

178. The man who guarded the mango grove
was :

(A)
(B) very persuasive
(C) armed with a sling
(D) very gentle
[CTET (1-5) (Lang. 2) 21/01/2022]

The mango grove was situated

(A) on the outskirts of Dehra.

(B) beyond Mussourie.

(C) near Seth Govind Ram’s fields.

(D) just opposite the bungalow inhabited
by the narrator.

[CTET (1-5) (Lang. 2) 21/01/2022]
The guard’s attitude to the boy changed
because the boy :

(A) was terrified

(B) turned obedient

(C) started behaving like a filmy villain
(D) made him feel nice about himself

[CTET (1-5) (Lang. 2) 21/01/2022]
The boy failed to get into the mango grove
because :

(A) he was too fat to do so.

(B) he did not know how to climb the
wall.

(C) he was timid.

(D) he was scared of the monstrous
guard.
[CTET (1-5) (Lang. 2) 21/01/2022]

The word ‘exploits’ used in the passage
means :

looked like a giant

179.

180.

181.

182.

(A) acts of meanness.
(B) acts of trickery.

(C) acts of exploitation.
(D) acts of heroism.

[CTET (1-5) (Lang. 2) 21/01/2022]
Which of the following words has the

same meaning as the word ‘acclaim’ as
used in the passage?

183.

(A) exclaim (B) declaim
(C) proclaim (D) praise
[CTET (1-5) (Lang. 2) 21/01/2022]
Which part of speech is the underlined
word in the phrase on my backside’in
the passage?
(A) Noun (B) Adjective
(C) Pronoun (D) Adverb
[CTET (1-5) (Lang. 2) 20/01/2022]
Which part of the following sentence
contains an error ?

184.

18s.

He is not coming to the school

(a) (b)
for a week because he is unwell.
(© (d)
(A) (@) B) (0
© (@ (D) (b)

[CTET (1-5) (Lang. 2) 21/01/2022]

Direction (Q. No. 186-192)

Read the passage given below and answer
the questions by choosing the correct/most

appropriate options.

Over the last few years, e-commerce has
become an indispensable part of the global
retail framework. Like many other industries,
the retail landscape has undergone a substantial
transformation following the advent of
the Internet, and thanks to the ongoing
digitalization of modern life, consumers from
virtually every country now profit from the
perks of online transactions. As Internet access
and adoption are rapidly increasing around the
globe, the number of digital buyers worldwide
keeps climbing every year. According to the
latest calculations, e-commerce growth will
accelerate even further in the future.

Internet users can choose from various online
platforms to browse, compare, and purchase
the items or services they need.
While some websites specifically target B2B
(business-to  business) clients, individual
consumers are also presented with a vast
number of digital possibilities. As of 2020,
online market places account for the largest
share of online purchase worldwide. Leading
the global ranking of online retail websites in
terms of traffic is Amazon. In terms of gross
merchandise value (GMV), Amazon ranks
third behind Chinese competitors Taobao and
Tmall. Both platforms are operated by the
Alibaba Group, the leading online commerce
provider in Asia. One of the most visible
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trends in the world of e-commerce is the
unprecedented usage of mobile devices. As the
adoption of mobile devices is progressing at a
rapid pace, especially in regions that lack other
digital infrastructure, mobile integration will
continue to shape the shopping experience of
the future. M commerce is particularly popular
across Asia, with South Korea generating up
to 65 per cent of their total online transaction
volume via mobile traffic.

186. Read the following statements :
(a) E-commerce growth has reached its
saturation point.

(b) Consumers from a few countries
stand to gain from the perks of online
transactions.

(A) (a)is true and (b) is false.
(B) (b) is true and (a) is false.
(C) Both (a) and (b) are false.
(D) Both (a) and (b) are true.

[CTET (1-5) (Lang. 2) 21/01/2022]
Which of the following is not true
according to the passage?

(A) The traditional modes of doing
business have become a matter of
the past.

187.

(B) Amazon leads the global ranking
of online retail websites in terms of
traffic.

(C) Thearrival of computer has revolutio-
nised the methods of doing business.

(D) The number of digital buyers keeps

climbing every two years.

[CTET (1-5) (Lang. 2) 20/01/2022]

188. The retail landscape has undergone a

substantial change because :

(A) every consumer in the world is using
the digital mode.

(B) most consumers are techno savvy.

(C) governments all over the world are
trying to popularise e-commerce.

(D) the arrival of computer has
revolutionised the methods of doing
business.

[CTET (1-5) (Lang. 2) 21/01/2022]
What accounts for the increasing
popularity of mobile devices in certain
regions of the world?

(A) Ease of use
(B) Lack of other digital infrastructure

189.

(C) Low cost of mobile devices

(D) Incentives by mobile phone manu-
facturers.

[CTET (1-5) (Lang. 2) 21/01/2022]

Which of the following is not supported
by evidence in the passage?

190.
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(A) Amazon ranks third in terms of gross
merchandise.

(B) Taobao is operated by Amazon.

(C) Tmallis trying hard to compete with
Amazon.

(D) Alibaba group is the leading
commerce provider in both Europe
and Asia.

[CTET (1-5) (Lang. 2) 21/01/2022]

Which of the following words is nearest

in meaning to the word ‘advent’ as used

in the passage ?

(A) departure (B) arrival

(C) postponement (D) engagement
[CTET (1-5) (Lang. 2) 20/01/2022]

Which part of speech is the underlined
word in the following sentence?
Internet users can choose from various
online platforms.
(A) Pronoun (B) Conjunction
(C) Preposition (D) Noun

[CTET (1-5) (Lang. 2) 21/01/2022]

Direction (Q. No. 193-201)

Read the passage given below and answer

the questions that follow by selecting the

correct/most appropriate options.

(1) The monthly report card in school would
make some children gloat and others weep.
I did neither. I just took it because I saw
it as a transaction between my teacher and
my father! Reading it always made my
father blow up. The teacher must have
said something not so nice. But I was
unconcerned. I had too much Else going
on that interested me.

191.

192.

(2) The alarming increase in student suicides
today is because we have created a society
founded on the premise that life is a race.

So you rush to the finishing line! Is it any
wonder that so many choose to end their
lives? This is the self-destructive model we
have created for ourselves.

(3) If ourjoy is about being better than someone
else, it is not success; it is sickness. To reap
the benefits of someone else’s failure is a
tragic way to live.

(4) Each individual is born with a particular
kind of genius. Education should create
the right atmosphere to allow that genius to
flower to its optimal potential.

(5) A student asked, how to live in an increa-
singly competitive and ambitious world.
I told him, whether, knowledge, power,
love or fame, you are essentially trying to
experience a little more of life than you
have now. The man going to the bar and
the man going to the temple are seeking the
same thing! They are looking for fulfilment,
but through different means. Both want

an experience of life that is a little more
intense and pleasurable than it is currently.

(6) At present, the stimuli are outside. But once
you know that the source of both pleasure
and pain, agony and ecstasy are within you,
why would you outsource it? Why would
you export it to alcohol or heaven or to
some authority figure?

193. Which of the following is FALSE?
The author was unconcerned about his
report card because :
(A)
(B) he believed it was something
between his father and his teacher.

his teacher seemed to be satisfied.

(C) he was occupied with other things
which interested him.

(D) thereport would make his father flare

up.

[CTET (1-5) (Lang. 1) 22/12/2021]

According to the author competition

based learning :

(A) is not appreciated by parents.

(B) is needed by students.

(C) leads to overall development.

(D) is self-destructive.

[CTET (1-5) (Lang. 1) 22/12/2021]
Which of the following statements is
NOT true?

Our students miss out on the joy of
learning because :

194.

195.

(A) they want to outperform others.
(B) they love to study books.

(C) their focus is only on studies.
(D) they think life is a race.

[CTET (1-5) (Lang. 1) 22/12/2021]
The role of education, according to the
author, should be :

(A)

196.

to help talented students to realise
their full potential.

(B) to equip students with useful skills.

(C) to sharpen the competitive ability of
the students.

to build the character of the students.
[CTET (1-5) (Lang. 1) 22/12/2021]

Read the sentences given below :

D)

197.

(a) Weall look for fulfilment in our own
way.

(b) The source of both pleasure and pain
is within us.

(A) Both (a) and (b) are true.

(B) Only (a) is true.

(C) Both (a) and (b) are false.

(D) Only (b) is true.

[CTET (1-5) (Lang. 1) 22/12/2021]
Which one of the following words is
similar in meaning to the word, ’alarming’
as used in the passage? (para 2)

198.



(A) disgusting (B) disappointing
(C) disheartening (D) disturbing
[CTET (1-5) (Lang. 1) 22/12/2021]
199. Which of the following words is most
opposite in meaning to the word,
‘particular’ as used in the passage
(para 4)

(A) random (B) general
(C) peripheral (D) integral
[CTET (1-5) (Lang. 2) 22/12/2021]
200. Which part of speech is the underlined
word in the following sentence?
“It was a transaction between my teacher
and my father”.
(A) Adjective (B) Conjunction
(C) Preposition (D) Pronoun
[CTET (1-5) (Lang. 1) 22/12/2021]
201. Which part of the sentence given below
contains an error?

Reading it always made my father
(a) (b) (©

to blow out
(d)

(A) (@ (B) (b)

©) (© (D) (d)

[CTET (1-5) (Lang. 1) 22/12/2021]

Direction (Q. No. 202-209)

Read the passage carefully and answer the
questions by selecting the correct/most
appropriate option.

1. We are unaware of how we are destroying
our own source of life in different ways.
Life needs an ecological balance and that
balance is being disturbed.

2. Around the earth is a layer of air. And
just on the top of that layer is the ozone
layer, which is a protective seal for the
earth but we have made holes in it which
is absolutely unnecessary. These holes
are now turning out to be most dangerous
things, because the sun sends rays and all
of the rays are not life-giving. That layer,
the ozone layer, was returning those rays
which would bring destruction and disease
to the earth, and was allowing only life-
giving rays, but we have made holes and
now all those destructive rays are entering
the atmosphere. Our atomic explosions
too have destroyed that layer.

. Because of the accumulation of carbon-
dioxide and man made chemicals the
temperature of the atmosphere has risen as
it has never risen before. For the first time,
ice on both the poles has started melting. If
all the ice from the north and south poles
melts, then all the oceans will rise by four
feet, port cities will be filed with water.

4. The Himalayan ice has never melted, it has

become eternally there. If the temperature

of the atmosphere rises a little more, then
the Himalayan ice will start melting,
and that is the greatest danger. And the
temperature is rising, nobody is caring
about anything.

. Atomic experiments continue, nuclear

experiments continue. And it is really a
horrible picture if the whole Himalayas
melt all the seas of the world will rise
by forty feet. All our big cities will be
submerged under water because they are
all near the oceans.

202. The ozone layer is extremely beneficial

to us because :

(A) it does not allow dangerous rays to
reach the earth.

(B) itisunder the layer of air around the
earth.

(C) it can turn Himalayan ice into water
for us.

(D) all the rays of the sun are life giving.
[CTET (1-5) (Lang. 2) 22/12/2021]

203. Which of the following statements is

Not True ?
The holes in the ozone layer

(A) are turning out to be dangerous.

(B) allow life destroying rays to reach
the earth.

(C) are dangerous, yet they do not affect
our health.

(D) are increasing the temperature of the
atmosphere.
[CTET (1-5) (Lang. 2) 22/12/2021]

204. What, according to the author, does not

cause a rise in the temperature of the

atmosphere?

(A) carbon dioxide

(B) melting glaciers

(C) man-made chemicals

(D) atomic and nuclear experiments
[CTET (1-5) (Lang. 2) 22/12/2021]

205. Which of the following statements is

Not True?

If the Himalayan ice starts melting :

(A) human life on earth may cease to
exist.

(B) sealevels all over the world will rise.

(C) itwill cause immense loss of wealth.

(D) all our big cities will be submerged.
[CTET (1-5) (Lang. 2) 22/12/2021]

206. Read the following sentences :

(a) We are upsetting the ecological
balance of the earth.

(b) The Himalayan ice has started
melting.

(A) (a)is true, (b) is false.

(B) Both (a) and (b) are false.

(C) (b)is true and (a) is false.
(D) Both (a) and (b) are true.
[CTET (1-5) (Lang. 2) 22/12/2021]

207. Which one of the following words is

similar in meaning to the, word ‘disturbed’

as used in the passage? (paral)

(A) puzzled (B) upset

(C) bewildered (D) confounded
[CTET (1-5) (Lang. 2) 22/12/2021]

208. Which of the following words is opposite

in meaning to the Word, ‘horrible’ as used

in the passage? (para5)

(A) civil (B) diligent

(C) comic (D) pleasant
[CTET (1-5) (Lang. 2) 22/12/2021]

209. Which part of speech is the underlined

word in the sentence given below?
Ozone layer is a protective seal for the
earth.

(A) Adjective (B) Noun
(C) Adverb (D) Pronoun
[CTET (1-5) (Lang. 2) 22/12/2021]

Direction (Q. No. 210-218)

Read the passage given below and answer
the questions that follow by choosing the
correct/most appropriate options :

1. Uttarakhand, the birthplace of India’s

major rivers like the Ganga and the
Yamuna and home to the Himalayan
ranges, is rapidly losing its forest land to
commercial activities. Data of over 70%
forest land, has lost about 50000 hectares
(ha) of its forest to various development
activities in the past 20 years.

2. The top six activities for which around

21207 hectares of forest land in the state has
been diverted are mining, water pipelines
and irrigation. The highest amount of
forest cover has been lost to mining
(8760 ha) followed by road construction
(7539 ha), power distribution lines (2332
ha) and hydropower plants (2295 ha).
Other smaller activities together claimed
20,998 hectares of forest cover. The other
activities comprise laying down of optical
fibre, railways, defence work, construction
of buildings etc.

3. A district-wise analysis, (from November

2000 to March 2020) shows that Dehradun
(21,303 ha) lost the maximum forest area,
followed by Haridwar which lost 6826
hectares, Chamoli (3636 ha), Tehri (2457
ha) and Pithoragarh (2,451 ha). This
diversion of forest land for commercial
activities is alarming when seen in the
backdrop of the latest report of the forest
survey of India (2019).
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4. Doon-based environmentalist Anil Joshi
said, “How can we ask for green bonus from
the centre when we are not sensitive about
our green cover?” Uttarakhand’s forest
cover is spread over around 38000 sq km,
which is 70% of the state’s geographical
area. It has 112 species of trees 73 species
of shrubs and 94 species of herbs, all of
which, scientist say, are facing the heat of
development activities.

210. The writer’s main purpose in the report

is to describe :
(A) the scenic beauty of Uttarakhand.
(B) focus on the huge loss of forest cover.
(C) highlight the development activities
in the state.
(D) draw attention to lack of employment
in the state.
[CTET (1-5) (Lang. 1) 24/12/2021]
211. Select the option that shows that
Uttarakhand is a unique state according
to the passage.
(a) It has a salubrious climate
(b) It is home to the Himalayan range
(c) It has arich cultural life
(d) Itis the birthplace of the Ganga and
the Yamuna
(A) (a)and (b) (B) (c) and (d)
(©) (b)and(d) (D) (a) and (d)
[CTET (1-5) (Lang. 1) 24/12/2021]
212. Which of the following activities has
caused the maximum forest loss in
Uttarakhand?
(A) Hydropower plants
(B) Mining activities
(C) Road construction
(D) Power distribution lines
[CTET (1-5) (Lang. 1) 24/12/2021]
213. The term ‘optical fibres’ is associated
with :
(A) information technology
(B) mining activities
(C) road construction
(D) hydropower plants
[CTET (1-5) (Lang. 1) 24/12/2021]
214. According to the author, development
activities are playing havoc with :
(A) asettled way of life
(B) peoples health
(C) Uttarakhand’s environment
(D) traditional Values
[CTET (1-5) (Lang. 1) 24/12/2021]
215. Which of the following words is most
similar in meaning to the word “various’in
para 1?
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(A) useful (B) uniform
(C) different (D) connected
[CTET (1-5) (Lang. 1) 24/12/2021]

216. Which of the following words is opposite

in meaning to the word, ‘alarming’ used

in para3?

(A) confounding (B) comforting

(C) distracting (D) electrifying
[CTET (1-5) (Lang. 1) 24/12/2021]

217. Which part of speech is the underlined

word in the sentence given below?

‘Uttarakhand is the birthplace of India’s

major rivers’

(A) Noun (B) Adjective

(C) Adverb (D) Pronoun
[CTET (1-5) (Lang. 1) 24/12/2021]

218. Which part of the sentence given below

contains an error?

He congratulated his sister
(a) (b)
for her success in the examination.
©) (d)
(A) (@) (B) (@
© (© (D) (b)

[CTET (1-5) (Lang. 1) 24/12/2021]

Direction (Q. No. 219-224)

Read the passage given below and answer
the questions that follow by choosing the
correctly most appropriate options :

1.

One of our destinations was Ranthambore
National Park in Rajasthan, North India.

. It was my dream to do a tiger safari and

Ranthambore is one of the few places left
in the world where Bengal tigers roam free.

. While there, we camped in gorgeous tents

just outside the park. On our first night, our
hosts prepared a beautiful dinner next to a
campfire. It was pitch dark beyond the fire.

. After dinner, I was tired and decided to

walk back along dark paths to our tents
using my iPhone which barely lit up the
path a few feet beyond me.

. As I approached my tent, I saw a large

lumpy creature Outside. I could not see
anything else, so I thought it was a cow or
one of the deer from the park. I was almost
upon it when it startled and bolted away,
I could not see what it was, but it did not
matter as [ was tired and only wanted to go
to bed.

. As | started to unzip my tent, I felt

something behind me. The hair on the back
of'neck stood up as I turned and tried to find
out what it was.

. Sensing movement above me and casting

my iPhone flashlight upwards, there to my
horror, was a Bengal tiger staring down at
me.

. I screamed for help, but nobody came.

Turning back to the tiger with my flashlight
Inoticed it blinked and looked away. Then [
turned back to the tent and tried desperately
to unzip the door but only managed a bit.
I then turned back to the tiger with my
flashlight. Back and forth, and back and
forth, Until I slowly unzipped the tent door.

. Each time I pointed my flashlight at the

tiger, it blinked and looked away but did
not move. Eventually, I realised that I was
blinding it each time with my flashlight and
knew I had a chance to survive. Finally,
the tent door was fully open and I jumped
inside.

219. The author decided to visit Ranthambore

National Park :

(A) to get respite from his daily hectic
life.
(B) to fulfil his desire to do a tiger safari
(C) to enjoy its wonderful ambience
(D) to photograph wild animals in their
natural habitat.
[CTET (1-5) (Lang. 2) 24/12/2021]

220. What was the author’s immediate reaction

when he saw the tiger so close to him?
(A) He pointed his flashlight at the tiger
(B) He made a threatening gesture.
(C) He was at his wits end
(D) He shouted for help.

[CTET (1-5) (Lang. 2) 24/12/2021]

221. The guests were served their dinner :

(A) near a campfire.
(B) in gorgeous tents.
(C) in the hotel’s dining hall.
(D) in their individual tents.
[CTET (1-5) (Lang. 2) 24/12/2021]

222. The tiger did not pounce upon the author

because the iPhone flashlight :

(A) confounded it (B) scared it

(C) blinded it (D) startled it.
[CTET (1-5) (Lang. 2) 24/12/2021]

223. Which word is the most opposite in

meaning to the word, ‘Gorgeous’ as used
in para 3 of the passage?

(A) scary (B) ugly
(C) exotic (D) Nasty
[CTET (1-5) (Lang. 2) 24/12/2021]

224. Which word is most similar in meaning to

the word, ‘Barely” as used in the passage
(para 4) ?
(A) hardly
(C) easily (D) completely
[CTET (1-5) (Lang. 2) 24/12/2021]

(B) immediately



Direction (Q. No. 225-232)

Read the passage given below and answer

the question that follow selecting the correct/

most appropriate options.

Loss of Learning During the Pandemic
(extract)

School closure due to the COVID-19 pandemic
has led to complete disconnect from education
for the vast majority of children or inadequate
alternatives like community based classes
or poor alternatives in the form of online
education, including mobile phone-based
learning. One complete academic year has
clapsed in this manner, with almost no or little
curricular learning in the current class. But this
is only one kind of loss of learning. Equally
alarming is the widespread phenomenon of
‘forgetting” by students of learning from the
previous class— this is regression in their
curricular learning. This includes losing
foundational abilities such as reading with
understanding and performing addition and
multiplication, which they had learnt earlier
and become proficient in, and which are the
basis of further learning. These foundational
abilities are such that their absence will
impact not only learning of more complex
abilities but also conceptual understanding
across subjects. Thus, this overall loss of
learning-loss (regression or forgetting) of
what children had learnt in the previous class
as well as what they did not get an opportunity
to learn in the present class —is going to lead
to acumulative loss over the years, impacting
not only the academic performance of children
in their school years but also their adult lives.
To ensure that this does not happen, multiple
strategies must be adopted with rigorous
implementation to compensate for this overall
loss of learning when schools reopen.

This study, undertaken in January 2021,
reveals the extent and nature of the’forgetting/
regression’ kind of learning loss (i.e. what was
learnt earlier but has been now lost) among
children in public schools across primary
classes because of school closure during the
COVID-19 pandemic. The study covered
16067 children in 1137 public schools in
44 districts across 5 states. It focused on the
assessment of four specific abilities each in
language and mathematics, across classes 2-6.
These four specific abilities for each grade
were chosen because these are among the
abilities for all subsequent learning—across
subjects—and so the loss of any one of these
would have very serious consequence on all
further learning.

An assessment of the learning levels of
children when schools closed as well of their
current status were necessary to understand
any such regression. The former was best
done through teachers who have been deeply

engaged with their learners, and thus had a
reliable assessment of children’s abilities,
when schools closed in March 2020. Therefore,
this baseline assessment of children’s learning
levels, i.e. where they were assessed on
specific abilities in language and mathematics
when school closed, was done based on
a comprehensive analysis by the relevant
teachers, aided by appropriate assessment
tools. All abilities associated with the previous
class were not assessed; a few abilities critical
for further learning were carefully identified
and assessed. These are referred to as specific
abilities in the document. ‘End-line’ was the
assessment of the same children’s proficiency
on these very same abilities in January 2021,
which was done by administering oral and
written tests.

225. Pick the correct option to justify :
Assertion (A) : School closure due to the
COVID-19 pandemic has led to complete
disconnect from education.

Reasoning (R) : Vast majority of

the children are being taught through

community-based classes, inadequate

online or phone-based classes.

(A) Adistrue and R is false

(B) Ais false and R is true

(C) Both A and R are true and R is the
correct explanation for A

(D) Both A and R are true and R is not
the correct explanation of A
[CTET (1-5) (Lang. 2) 01/01/2022]

Given below are 4 real life situation

pertaining to school education. Which of

the following option is correct :

(a) COVID-19 Pandemic has led to
complete school closure.

226.

(b) One complete academic year has

been totally Lost.

(c) Little or almost no curricular learning
has taken place.

(d) Widespread “forgetting” of learning

from previous class.

(a) & (b) (B) (¢) & (d)

(a) & (0) (D) (b) & (d)

[CTET (1-5) (Lang. 2) 01/01/2022]

Pick the option which best gives the
meaning of the word ‘pandemic’ as used
in the passage.

(A)
©

2217.

(A) widespread disease.
(B) a chronic disease.
(C) adisease confined to one region.

(D) adisease that has spread all over the
world.

[CTET (1-5) (Lang. 2) 01/01/2022]

228.

229.

230.

231.

232.

Study the following statements :

(a) School closure had led to forgetting
by students of what they had learnt
in the previous year.

Lack of foundational abilities will
impact further learning.

(a) is right and (b) is wrong.

(b) is right and (a) is wrong.

Both (a) and (b) are right.

Both (a) and (b) are wrong.

[CTET (1-5) (Lang. 2) 01/01/2022]

Pick the correct option to justify/show

how loss of learning can be remedied.

Assertion (A) : It can be ensured that
learning loss does not happen.

Reason (R) However, rigorous
implementation of multiple strategies

have to be used for maintain curricular

achievement.
(A) Aistrue but R is false
(B) Both A and R are false butRis the
correct explanation of A

(C) Both A and R are true and R is the
correct explanation of A

(D) As false but R is true
[CTET (1-5) (Lang. 2) 01/01/2022]

Pick the right option to show how a

baseline tool can be made to make a

comprehensive assessment.

(a) Assess all grade level competencies

included in curriculum.

Assess skills/abilities that lead to

future complex learning in language

and maths.

(c) Assess all advanced concepts and

skills in all subjects.

Assess core language skills and
foundational maths operations and
numericals.

(A) (a) & (b)
(B) () &(c)
(©) (b) &(d)
(D) (¢) & (b)
[CTET (1-5) (Lang. 2) 01/01/2022]
Pick the option which is opposite in

meaning to the word “proficiency” used
in the passage.

(A)
(B
©
D)

(b)

(A)
B
©
(D)

(b)

(d)

advanced abilities

inadequacy

competence

incompetence

[CTET (1-5) (Lang. 2) 01/01/2022]
‘in the form of .....

The underline word is a :

(A) Noun (B) Pronoun

(C) Adjective (D) Adverb
[CTET (1-5) (Lang. 2) 01/01/2022]
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Direction (Q. No. 223-239)

Read the passage given below and answer
the question that follow by selecting the
correct/most appropriate options.
Examination anxiety is a fairly common
phenomenon that involves feelings of tension
or uneasiness that occur before, during, or
after an examination. Many people experience
feelings of anxiety around examinations
and find it helpful in some ways, as it can
be motivating and create pressure that is
needed to stay focused on one’s performance.
Examination nerves, worry, fear of failure are
normal for even the most talented student.
However, stress of formal examination results
in such high degree of anxiety in some students
that they are unable to perform at a level which
matches the potential they have shown in less
stressful classroom situations.

Examination stress has been characterised
as “evaluative apprehension” or “evaluative
stress” and produces debilitating behavioural,
cognitive, and physiological effects no
different from those produced by any other
stressor.

High stress can interfere with the student’s
preparation, concentration, and performance.
Examination stress can cause test anxiety
which adversely affects test performance.
Person who are high in test anxiety tend to
perceive evaluative situation as personally
threatening; in test situations, they are often
tense, apprehensive, nervous, and emotionally
aroused. Moreover, the negative self-centred
cognitions which they experience distract
their attention and interfere with concentration
during examinations. High test anxious
students respond to examination stress with
intense emotional reactions, negative thoughts
about themselves, feeling of inadequacy,
helplessness, and loss of status and esteem that
impair their performance. Generally, the high
test anxious person instead of plunging into
a task plunges inward, that is, either neglects
or misinterprets informational cues that may
be readily available to her/him, or experience
attentional blocks. While preparing for
examinations, one must spend enough time for
study, overview and weigh one’s strengths and
weaknesses, discuss difficulties with teachers
and classmates, plan a revision timetable,
condense notes, space out revision periods,
and most importantly on the examination day
concentrate on staying calm.

233. Anxiety, common before any examina-

tion can make a Candidate :

(a) nervous, worried and stressed.

(b) feel comfortable while facing new
challenges.

(c) experience different type of fear.

(d) suffer from mental health and
discomfort.
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(A) (a) and (b) are correct but not (c)
(B) (b) and (c) are correct but not (a)
(C) (c) and (d) are correct but not (b)
(D) (a) and (b) are correct but not (c)
[CTET (1-5) (Lang. 2) 01/01/2022]
Feeling of anxiety is sometimes helpful

in performance.
Choose the statement which is not correct.

(A) Encourages to move forward even
after failure.

234.

(B) Guides to cope up with the situation.
(C) Motivates and creates mental energy.
(D) Helps in focussing on target under
pressure.
[CTET (1-5) (Lang. 2) 01/01/2022]

Study the following statements :

(a) Examination stress can cause
debilitating behaviour.

235S.

(b) Examination nerves do not affect the
most talented students.
(A) (a)is right and (b) is wrong
(B) (b) is right and (a) is wrong
(C) Both (a) and (b) are right
(D) Both (a) and (b) are wrong
[CTET (1-5) (Lang. 2) 01/01/2022]
Which of the following is nearest in
meaning to the underlined word?
“Examination stress produces debili-
tating physiological effects.”
(A) undermining (B) weakening
(C) strengthening (D) restorative
[CTET (1-5) (Lang. 2) 01/01/2022]
A person who is high in test anxiety
and takes the evaluative situation as
personally threatening, may NOT show
one of the following symptoms?
(A) Concentration
(B) Fear
(C) Anxiety and nervousness
(D) Emotional excitement
[CTET (1-5) (Lang. 2) 01/01/2022]
238. “on. can cause test anxiety which

adversely affects test performance.”
The underlined clause is ............ clause.

(A) Principal (B) Noun

(C) Adjective (D) Adverb
[CTET (1-5) (Lang. 2) 01/01/2022]

‘While Preparing for examination’

The underlined word is a ............

(A) Noun (B) Adjective

(C) Adverb (D) Conjunction
[CTET (1-5) (Lang. 2) 01/01/2022]

Direction (Q. No. 240-248)

Read the passage given below and answer
the questions that follow by choosing the
correct/most appropriate options :

236.

237.

239.

1. Generosity is one of the most admired
attributes any person can exhibit. Whether
a child donates his hard-earned allowance
to a disaster-relief effort or a businessmen
donates millions of dollars to charity,
we feel appreciation and admiration for
those who are generous, but admiration
and appreciation are not the only benefits
of generosity. Solomon promises that
those who are generous will never lack
for anything—every true need will be
provided—and that you will prosper, and
your prosperity will always increase.

2. Psychologists tell us that the two motivating
forces in a person’s life are their desire
for gain and their fear of loss. Solomon
promises that generosity directly impacts
both. If you could wave a magic wand that
you would experience as ever-increasing
prosperity, how much would that wand be
worth?

3. A truly generous person is one who freely
gives a significant portion of what he has
to meet the needs of others without any
expectation of receiving anything in return.
Being generous means being focused on
meeting the genuine needs of other people,
whether with money, deeds or emotional
support or assistance. A lot of people think
that you have to be rich to be generous.
Nothing could be further from the truth.
One of the most generous persons | have
known was a janitor I worked with in
college. He scrubbed toilets five nights a
week and took care of his bed-ridden wife
during the day. He was generous with
everything he had : his time, his kind words
his thoughtfulness and his considerate acts.
I once asked him if there was anything
he needed. “Heavens no”, he replied.
”Everything [ have ever needed has always
been abundantly provided.” To this day, I
have never met a happier man. As Solomon
promised, he never lacked anything; and
just as he refreshed others, he was himself
refreshed.

240. Which of the following statements is
not true?
According to the author a generous person
(A) never lacks anything.
(B) never expects anything in return.
(C) is immune from suffering.
(D) is always happy and contented.

[CTET (1-5) (Lang. 1) 21/12/2021]

Solomon in para I of the passage talks
about :

241.

(A) man’s responsibility towards others.
(B) lack of generosity.



242.

243.

244.

245.

246.

247.

248.

(C) benefits of generosity.
(D) theneed to be generous towards only
deserving persons.

[CTET (1-5) (Lang. 1) 21/12/2021]
The expression : ‘magic wand’ in para 2
implies a wand which :

(A) helps us perform entertaining feats.
(B) solves our problem quickly.

(C) adds to our popularity.

(D) ensures ever-increasing prosperity.

[CTET (1-5) (Lang. 1) 21/12/2021]
Which of the following option is false ?
The noble, generous janitor helped people
with his :

(A) kind words

(B) money

(C) considerate acts
(D) time

[CTET (1-5) (Lang. 1) 21/12/2021]
Read the following statement :

(a) Desire for gain and fear of loss are
two greatest motivating forces in a
person’s life.

(b) You have to be rich to be generous.
(A) (a) is true (b) is false
(B) (b) is true (a) is false
(C) Both (a) and (b) are false
(D) Both (a) and (b) are true

[CTET (1-5) (Lang. 1) 21/12/2021]
Which one of the following words is
similar in meaning to the word, “attributes’
(paral) as used in the passage?
(A) sensibilities
(B) capabilities
(C) qualities
(D) abilities

[CTET (1-5) (Lang. 1) 21/12/2021]
Which one of the following words
is opposite in meaning to the word,
’genuine’ (para 3) as used in the passage?
(A) tricky (B) fake
(C) clever (D) hidden

[CTET (1-5) (Lang. 1) 21/12/2021]
Which part of speech is the underlined

word in the following sentence?
Nothing could be further from the truth

(A) Adverb (B) Conjunction
(C) Pronoun (D) Noun
[CTET (1-5) (Lang. 1) 21/12/2021]

Which part of the following sentence
contains an error?

He had the audacity to tell his boss
() (b)
on his face that he was lying.
(c) (d)

(A) (d) B) (©
©) (a (D) (b)
[CTET (1-5) (Lang. 1) 21/12/2021]

Direction (Q. No. 249-255)

Read the passage given below and answer
the questions that follow by choosing the
correct/most appropriate options :

1. We all want to be the best parents we

can be for our children, but there is often
conflicting advice on how to Raise a kid
who is confident, kind and successful.
Throughout the circus act of parenting, it is
important to focus on balancing priorities,
juggling responsibilities and quickly
flipping between the needs of your children
and other family members and yourself.
Modern parents have the entire Internet at
their disposal and don’t follow any single
authority. It is hard to know whom or what
to trust.

. Research tells us that to raise a self-

reliant child with high self-esteem, it
is more effective to be authoritative,
than authoritarian. You want your child to
listen, respect and trust you rather than fear
you. You want to be supportive, but not a
hovering helicopter parent.

. All of these things are easy to set as goals

but hard to achieve. How do you find the
right balance?

. As your child develops, the challenges

will change and your thinking may evolve,
but your approach should be consistent,
firm and loving. Help your child learn
through experience that making an effort
builds confidence and helps you tackle
challenges. Calibrate your expectations
about what your child is capable of doing
independently, whether you have an infant
learning to sleep through the Night, a
toddler helping to put toys away or an older
child resolving conflicts.

. Remember, there is no one right way to

raise a child. Do your best, trust yourself
and enjoy the company of the small person
in your life

249. According to the author, parenting is

challenging because :

(A) there is often lack of harmony and
cooperation in the family.

(B) financial constraints cause a lot of
stress.

(C) parents have to fulfil the diverse
needs of family members.

(D) it requires training in planning and
managerial skills.
[CTET (1-5) (Lang. 2) 21/12/2021]

250. Which of the following is most effective
in raising an independent, self-respecting
child ?

(A) Authoritarian approach
(B) Authoritative approach
(C) Being too affectionate

(D) Providing all comforts and convenie-
nces

[CTET (1-5) (Lang. 2) 21/12/2021]
251. The term ‘a helicopter parent’ refers to a
parent who :
(A) is wealthy but not well-educated

(B) pays extremely close attention to
their child’s education, problem etc.

(C) provides their child with all com-
forts and facilities needed for all
development.

(D) expects his child to out perform all
his classmates.
[CTET (1-5) (Lang. 2) 21/12/2021]
252. Which of'the following helps parents best
in bringing up a really good child?
(A) An excellent school
(B) The Internet
(C) Counselling by experts
(D) A decent neighbourhood
[CTET (1-5) (Lang. 2) 21/12/2021]
253. Which one of the following words
is similar in meaning to the word,
“priorities” as used in the passage?

(Para 1)
(A) preferences  (B) prejudices
(C) biases (D) ranges

[CTET (1-5) (Lang. 2) 21/12/2021]
254. Which one of the following words is
opposite in meaning to the word, ‘firm’as
used in the passage? (Para 4)
(A) indecisive (B) Feeble
(C) glossy (D) diffident
[CTET (1-5) (Lang. 2) 21/12/2021]

255. Which part of the following sentence
contains an error?

As your child will grow
(a) (b)
new challenges will arise
(© (d)

(A) (d) (B) (©
© (@ (D) (b)

[CTET (1-5) (Lang. 2) 21/12/2021]

Direction (Q. No. 256 to 264)

Read the passage given below and answer
the questions that follow, by selecting the
correct/most appropriate options :

1. Each drop represents a little bit of creation
and of life itself. When the monsoon brings
to northern India the first rains of summer,
the parched earth opens its pores and
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quenches its thirst with a hiss of ecstasy.
After baking in the sun for the last few
months, the land looks cracked, dusty and
tired. Now, almost overnight, new grass
springs up, there is renewal everywhere,
and the damp earth releases a fragrance
sweeter than any devised by man.

2. Water brings joy to earth, grass, leaf-bud,
blossom, insect, bird, animal and the
pounding heart of man. Small children
run out of their homes to romp naked in
the rain. Buffaloes, which have spent the
summer listlessly around lakes gone dry,
now plunge into a heaven of muddy water.
Soon the lakes and rivers will overflow
with the mansoon's generosity. Trekking in
the Himalayan foothills, I recently walked
for kilometres without encountering
habitation. I was just scolding myself for
not having brought along a water-bottle,
when I came across a patch of green on
a rock face. I parted a curtain of tender
maiden hair fern and discovered a tiny
spring issuing from the rock-nectar for the
thirsty traveller.

3. Istayed there for hours, watching the water
descend, drop by drop, into a tiny casement
in the rocks. Each drop reflected creation.
That same spring, I later discovered, joined
other springs to form a swift, tumbling
stream, which went cascading down the
hill into other streams until, in the plains,
it became part of the river. And that river
flowed into another mightier river that
kilometres later emptied into the ocean. Be
like water, taught Laotzu, philosopher and
founder of Taoism. Soft and limpid, it finds
its way through, over or under any obstacle.
It does not quarrel; it simply moves on.

[CTET (1-5) (Lang-I) 31-01-2021]

256. Which part of the following sentence
contains an error ?

He knew that he will
(a) (b)
go back on his promise
(© (d)
(A) (@ (B) (@)
(€) (b) D) (©
257. Which of the following statements is
not true ?
(A) The damp earth releases a sweet
fragrance.

(B) There is renewal everywhere.
(C) New grasses spring up.
(D) The sweltering heat comes to an end.

The earth does not look .............. before
the onset of the monsoon.

(A) tired (B) cracked
(C) brown (D) dusty

258.
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259. Children respond to the first rains of

summer by

(A) singing songs

(B) giving shouts of joy

(C) floating paper boats in water
(D) running and playing in the rain

260. The tiny spring issuing from the rock is

hidden by

(A) tall grass

(B) thick moss

(C) maiden hair fern
(D) bushes and creepers

261. To become part of a river, a tiny drop

has to

(A) merge its identity

(B) have lot of strength

(C) depend on external forces
(D) suffer a lot

Which of the following words is most
similar in meaning to the word 'pounding’
as used in para 2 of the passage ?

(A) sinking (B) shaking
(C) benumbing (D) palpitating

262.

263. Which one of the following words is most

opposite in meaning to the word 'descend'
(para 3) as used in the passage ?

(A) zoom (B) flow

(C) ascend (D) hover

Which part of speech is the underlined
word in the following sentence ?
Almost overnight new grass spring up.
(A) Adverb (B) Preposition
(C) Pronoun (D) Adjective

Direction (Q. No. 265 to 273)

Read the passage given below and answer
the questions that follow :

264.

The future of water will be a gamble-resting
entirely on the way we decide to play the
game here. Either we continue to use water
irresponsibly, threatening the very existence of
this planet, or we adopt sustainable and smart
water management practices to build a water
secure future.

By 2050, India’s total water demand will
increase by 32 percent from now. Industrial and
domestic sectors will account for 85 percent
of the additional demand. Over-exploitation
of ground-water, failure to recharge acquifers
and reduction in catchment capacities due to
uncontrolled urbanisation are all causes of the
precarious tilt in the water balance.

Ifthe present rate of groundwater persists, India
will have only 22 percent of the present daily
per capita water available in 2050, possibly
forcing the country to import its water.

Optimists believe that India’s people some
1.7 billion by 2050, will have integrated
water efficient practices into their daily lives.
If the ambitious water sustainability goals
set by global industries and governments are
testament we dare say that the world has begun
to recognize water as a resource after all.
While beverages giants are focussed on
returning water to the communities where
they manufacture their drinks, food processing
players are engaging with farmers and upstream
actors to minimise water usage across the supply
claim and textile houses are evangelising the
concept of sustainable fashion. Companies have
realised the risks emanating from the possibility
of a water-scarce future. This has triggered
companies to re-engineer processes, implement
water optimizing, technologies, establish
water audit standards, and use a collaborative
approach to deal with the water crisis.

[CTET (1-5) (Lang.-I) 09-07-2019]

265. The problem of acute water scarcity in
future cannot be dealt with by companies
through:

(A) implementing water optimizing
technologies

(B) discovering a viable substitute for

water.

©

D)

Which one of the following words is

most similar in meaning to the word

‘threatening’ as used in the passage ?

re-engineering processes
establishing water audit standards.
266.

(A) menacing (B) coercing

(C) persisting (D) frightening
267. Which one of the following words is
most opposite to the meaning of the word
‘increase’ as used in the passage ?

(A) perceive (B) achieve

(C) relieve (D) decrease
Identify the clause in the underlined part
of the following sentence :

He breathed his last in the village where
he was born.

(A) Adjective clause

(B) Adverb clause

(C) Principal clause

268.

(D) Noun clause

269. What part of speech is the underlined
word in the following sentence ?

I do not know why he is so curious about
it.

(A) Noun clause

(B) Principal clause
(C) Adverb clause

(D) Adjective clause



270. We will face a severe water-scarcity
problem in future mostly because :

(A) water is not a renewable source.

(B) by 2050, demand for water will

increase considerably.
©
(D)

we do not use water responsibly.

ground-water level water is steadily
decreasing.

Which of the following will NOT lead to
a severe water imbalance ?

271.

(A) over-exploitation of water.

(B) failure to recharge acquifers.
(C) uncontrolled urbanisation.

(D) flawless water infrastructure.

272. Persistent ground water depletion will

NOT necessitate :
(A)
(B)

shutting down of industries

adoption of smart water management
technologies

©
(D)
Optimists cannot pin their hope for better
water management on :

(A) reducing demand for water by using
new technologies.

using water judiciously
import of water
273.

(B) discovering new ways of augmenting
water supply

(C) treating sea water for domestic and
industrial sectors

(D) integrating water efficient practices
into daily use.

Direction (Q. No. 274 to 282)

Read the passage given below and answer
the questions that follow by selecting the
correct/most appropriate option.
As I kept strict watch over my way of living, |
could see that it was necessary to economise.
I, therefore, decided to reduce my expenses
by half. My accounts showed numerous items
spent on fares. Again, my living with a family
meant the payment of a regular weekly bill.
It also included the courtesy of occasionally
taking members of the family out to dinner
and likewise attending parties with them. All
this involved heavy items for conveyances,
especially as, if the friend was a lady, custom
required that the man should pay all the
expenses. Also, dining out meant extra cost, as
no deduction could be made from the regular
weekly bill for meals not taken. It seemed
to me that all these items could be saved, as
likewse the drain on my parse. So, I decided
to take rooms on my own account, instead of
living any longer in a family and also to remove
from place to place according to the work. I
had to do, thus gaining experience at the same
time. The rooms were so selected as to enable
me to reach the place of business on foot in

half an hour and so save fares. Before this I
had always taken some kind of conveyance
whenever I went anywhere and had to find
extra time for walks. The new arrangement
combined walks and economy, as it meant a
saving of fares and gave me walks of eight or
ten miles a day. It was mainly this habit of long
walks that kept me practically free from illness
throughout my stay in England and gave me
a fairly strong body. Thus, I rented a suite of
rooms; one for a sitting room and another for a
bedroom. This was the second stage. The third
wa yet to come.

[CTET (1-5) (Lang.-I) Feb. 2016]
274. The author could reduce his expenses
by half by :
(A) having only one meal a day
(B) renting rooms close to his office
(C) travelling in a bus
(D) cooking his own meals.

2750 constituted a major part of the

author’s expenses.
(A) Meals

(B) Fares

(C) Dining out
(D) Entertainment.

276. The author’s choice of his new residence

enabled him to :

(A) be close to his friends

(B) work longer and harder
(C) save money on fares

(D) keep things under control.

277. What gave the author a fairly strong
body ?

(A) Yogic excercises

(B) Self-discipline

(C) Nourishing food

(D) Long walks.

278. The steps taken by the author to reduce

his expenses show that he was :
(A) frugal

(B) always short of money
©
(D)
The word ‘numerous’ most nearly means :
(A) enormous (B) many

(C) goodness (D) politeness

saving money for emergencies
miserly

279.

280. The word which is opposite in meaning
to ‘courtesy’ is :
(A) aggression
(C) immodestry
Which ‘part of speech’ is the underlined
word in sentence given below ?

‘I decided to reduce my expenses by half’.
(A) Preposition  (B) Adjective

(C) Adverb (D) Noun

(B) vulgarity
(D) rudeness
281.

282. “The new arrangement combined walks
and economy”’.
The “voice’in the above sentence has been
correctly changed in :
(A) the new arrangment had combined
walks and economy
walks and economy are combined in
the new arrangement

(B)
(C) walks and economy were combined
in the new arrangement

walks and economy have been
combined by the new arrangement.

Direction (Q. No. 283 to 291)

Read the given passage and answer the

questions that follow by selecting the most

appropriate option.

He has reservations on the treatment of dance
in Indian films, but, given a chance to work
on his own terms, legendary Kathak Dancer
Pandit Birju Maharaj would like to work more
in Bollywood. The 75-year-old tells us, “In my
opinion, dance is adulterated in Bollywood. To
make it more dramatic, the dancers are asked
to perform in an exaggerated manner. That
makes any kind of dance impure, especially
classical dance. I’d like to work more in Hindi
films, provided my dance is not tampered
with.”

D)

The Kathak maestro tells us that over the years
he’s been highly impressed with how some
female actors have showcased classical dance
on screen. On being asked on how he sees the
passion for dance among youngsters in the
country, Birju Maharaj says, “I see that the
young generation is divided in their response
to classical dance. But in all my interactions
with the younger lot, I have been impressed.
These children have such amazing presence
of mind, listening and learning while I talk
and teach them.” It is often said that classical
dance doesn’t receive due credit, but the man
who is an authority on the subject thinks Delhi
receives the art well. “I feel that classical
dance might not be on a rise, in popularity,
but I have always been overwhelmed by the
response that I have received in Delhi. My
performances have always been applauded by
packed houses in the Capital,” he opines.
[CTET (1-5) (Lang.-I) 16-02-2014]

283. The information presented here about
Birju Maharaj can be found in a/an :
(A) newspaper article
(B) diary
(C) encyclopaedia
(D) autobiography
284. The observation that ‘dance is adulterated’
means that the dance form is :
(A) not practiced according to tradition

(B) found in adult entertainment
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(C) performed only in films
(D) suitable to be performed by adults

285. Here, “to perform in an exaggerated

manner” suggests that performers :
(A)
(B)
©
(D)
A ‘packed house’ during his performance
suggests that it was :

(A) jammed in tightly

(B) filled into

(C) exceeding allotted time

(D) well-attended

The younger dancers have ‘presence of
mind’ means that they :

(A) are open to learning the pure form of
the dance

are not professionally trained
deliberately distort the dance form
only dance for a selected audience
cannot dance

286.

287.

(B) prefer traditional styles of dancing

(C) can combine to perform in the
traditional and modern styles

(D) are calm while they prepare to
perform

288. Birju Maharaj’s assessment of his popu-

larity lies in :

(A) the large numbers of practitioners
and admirers of his style in Delhi

(B) the influence of traditional styles in
modern dance

(C) his migrating to Mumbai on popular
demand by producers

(D) the number of dances he has choreo-
graphed in films

289. A word that can replace the phrase
‘tampered with’ in the passage is :
(A) falsified (B) misrepresented

(C) disturbed (D) misused

An antonym for the word ‘showcased’ is:
(A) advertised (B) published
(C) abridged (D) withheld

A synonym for the word ‘inspired’ from
the text is :

(A) adulterated (B) impressed

(C) received (D) divided

Direction (Q. No. 292 to 300)

Read the passage given below and answer
the questions that follow by selecting the
most appropriate option.

Our body is a wondrous mechanism and
when subjected to unusual stress over a
period of time, it adapts itself to deal more
effectively with that stress. Therefore, when
your exert your muscles against resistance,
they are forced to adapt and deal with this
extraordinary workload. This is the principle
of weight training. Strands of muscle fibres

290.

291.
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become thicker and stronger in response to the
demands placed on them.
One of the great merits of weight training
is the strength of your heart. During weight
training, your heart is forced to beat faster
and stronger in order to pump sufficient
blood to the muscles being worked. In time,
your heart, like your body, will adapt to this
extra workload by becoming stronger and
more efficient. Since your body needs a given
amount of blood to perform its daily tasks, your
heart will now need fewer beats to pump the
same quantity of blood. Sounds good? There’s
more. Your entire circulatory system is given
a through workout every time you exercise,
which increases its overall efficiency. Even
the neural paths from your brain’s command
centres to each individual muscle become
more effective, enabling easier recruitment of
muscle fibres for carrying out physical tasks.
In essence, your body becomes a well-oiled
and finely-tuned piece of machinery, whirring
along without any breakdown. In today’s
stress-filled world, you need all the help you
can get.

[CTET (1-5) (Lang.-T) 29-01-2012]
292. The principle of weight training is :

(A) thickening of body through extra
consumption

(B) helping the body adapt to increased

stress

(C) training muscles to exert more

pressure

(D) disposing extra workload

Weight training makes the muscles :

(A) become stranded

(B) become intense

(C) resist workload

(D) thicker and stronger

293.

294. During weight training, the heart pumps:
(A) an extraordinary amount of blood
(B) less blood

(C) more blood

(D) required blood

A stronger and more efficient heart :
(A)
®)

295.
is assisted by muscles of the body
beats faster and more often to pump
blood

needs fewer beats to pump the same
amount of blood

©
D)

When neural paths become more
effective :

can rest longer, reducing its workload
296.

(A) the muscles function effectively and
independently

(B) the brain functions at extraordinary
speed

(C) the brain opens new pathways for
communication

(D) the brain employs various muscles
easily for physical tasks

297. What does the term ‘well-oiled’ in the
passage denote?

(A) Greased (B) Healthy

(C) Serviced (D) Massaged
Which one of the following is the most
appropriate title for the passage?

(A) How to Retain Your Health?

(B) Health is Wealth

(C) Stress-busting

(D) The Mechanics of Weight Training

What does the above passage suggest?

(A) We should subject our body to as
much exercise as it can withstand

298.

299.

(B) We should carry out physical exer-
cise as a routine

(C) Physical exercise is necessary occa-
sionally

(D) We should ignore physical exercise

300. The word ‘wondrous’ (first line) is :
(A) anadjective  (B) averb

(C) anoun (D) an adverb

Direction (Q. No. 301 to 308)

Read the passage given below and answer
the questions that follow by choosing the
correct/most appropriate options :

Freedom is one of the most important factors
in life. Man has fought politically all over the
world for freedom. Religions have promised
freedom, not in this world but in another. In
the capitalist countries, individual freedom
exists to some degree and in the communist
world it has been denied. From ancient times,
freedom has meant a great deal to man and
there have been its opponents, not only
political but religious through Inquisition, by
excommunication, tortures and banishments
and the total denial of man's search for freedom.
There have been wars and counter-wars fought
for freedom. This has been the pattern of man's
endeavours for freedom throughout history.
Freedom of self-expression and freedom of
speech and thought exist in some parts of
the world, but in others it does not. Those
who have been conditioned, revolt against
their backgrounds. This reaction which
takes different forms is called 'freedom'. The
reaction to politics is often to shun the field
of politics.

One economic reaction is to form small
communities based on some ideology or under
the leadership of one person, but these soon
disintegrate. The religious reaction against
established organisations of belief is to revolt,
either by joining other religious organisations



or by following some guru or leader or by
joining some cult. Or one denies the whole
religious endeavour.
One thinks of freedom only as freedom of
movement, either physical or movements
of thought. It appers that one always seeks
freedom on the surface. Surely, this is rather
a limited freedom, involving a great deal of
conflict, wars and violence.
Inner freedom is something entirely different.
It has its roots not in the idea of freedom but
in the reality of freedom. It covers all the
endeavours of man. Without inner freedom life
will always be an activity within the limited
circle of time and conflict.
[CTET (1-5) (Lang.-1T) 08-12-2019]

301. Real freedom, according to the author, is:

(A) inner freedom.

(B) political freedom.

(C) religious freedom.

(D) economic freedom.

302. Read the following sentences :

1. Individual freedom does not exist at
all in capitalist countries.

2. People do not have individual
freedom in communist countries.

(A) 1is true, 2 is false.

(B) Both 1 and 2 are true.

(C) Both 1 and 2 are false.

(D) 1 is false, 2 is true.

Which word is most similar in meaning
to the word 'endeavours' as used in the
passage ? (Para 1)

(A) attempts

(B) actions

(C) challenges

(D) movements

303.

304. Which word is the most opposite in
meaning to the word, 'shun' as used in the
passage ? (Para 2)

(A) rehabilitate

(B) welcome

(C) rejoice

(D) prefer

305. Which part of the following sentence
contains an error ?
There is no doubt  that hard work
(a) (b)
paves the way to success.
(© (d)
(A) (a) (B) (b)
©) (o) (D) @)
306. Which of the following statements is
not true ?

(A) Material progress cannot be achieved
without freedom.

(B) Freedom is not one of the most
important factors in life.

(C) Freedom helps man evolve morally
and spiritually.

(D) Man can enjoy life only in an
environment of freedom.

307. Which methods do authorities not use to

suppress people fighting for freedom ?
(A) Excommunication

(B) Persuasion

(C) Tortures

(D) Inquisition

308. Reaction against established religion

prompts people not to :

(A) to start a new religion.
(B) follow some guru.

(C) join some cult.

(D) join other religious organisations.

Direction (Q. No. 309 to 315)

Read the passage given below carefully and

answer the questions that follow by selecting

the correct/most appropriate options :

Water is the core of life; hence water must
be central to our spiritual thinking. Water is
not only most of earth, but also most of life.
Therefore water conservation must be our
deepest concern.
The Himalayan mountain range is among the
highest, youngest and most fragile ecosystem
of the planet. The Himalayas have given us
some of the great river systems of the earth
including the Indus, Ganga, Brahmaputra,
Nu Salween, Yangtze and the Mekong. The
Himalayas are also called the "Third Pole", for
they contain the largest mass of ice and snow
outside the earth's polar region, the north and
south poles. There is a permanent snowline
above 5,000 metres. Some of the glaciers
in the region are the longest outside the two
poles.
The Himalayas serve as water towers, providing
water on a sustained basis to more than 1,000
million people and millions of hectares of
land in South Asia. The greenery benevolent
climate, highly productive ecosystems, food
production and overall happiness is south
Asia. are in fact, attributable to the bounty of
the Himalayas. They are not only beautiful,
they are life-givers. Little wonder that they are
venerated as the abode of gods.
To keep the Third Pole preserved through
assured conservation is one of the greatest
challenges for the contemporary world.
Himalayan mountains are acommon but fragile
natural resource. As mountain ecosystems have
enormous bearing on the earth's systems, their
special care, regeneration and conservation of

their pristine resources would only bring more
happiness, peace and prosperity to large parts
of the world. In Agenda 21, Chapter 13 of the
United Nations, the importance of mountains
is underlined : "mountain environments are
essential to the survival of global ecosystems."
The Himalayas in the state of Uttarakhand
are especially rich in water resources. This
area is home to dozens of perennial streams
and numerous other rain-fed rivers along with
innumerable rivulets, waterfalls and ponds,
etc.

[CTET (1-5) (Lang.-IT) 08-12-2019]

309. Whatis not so special about the Himalayas
in the state of Uttarakhand ?

The Himalayan state has :

(A)
B)
©
(D)
Which one of the following words is most
similar in meaning to the word, 'bounty' ?
(A) assets

(C) abundance
Which word is opposite in meaning to the
word, 'benevolent' ?
(A) rude

(C) indecent
Which part of speech is the underlined
word in the following sentence ?

The area is home to dozens of perennial
streams.

(A) Adverb
(C) Pronoun

huge mineral deposits.

many rain fed rivers.

numerous waterfalls and ponds.
many perennial streams.

310.

(B) sympathy
(D) generosity
311.

(B) untruthful
(D) malevolent

312.

(B) Adjective

(D) Noun

In the context of the passage which of the
following is not true ?

Water should be central to our thinking
because :

313.

(A) Itis alife-line for our farmers.

(B) It is considered holy by most
religions.

(C) Itis the core of life.

(D) We cannot survive without water.

314. Which of the following has not been

mentioned in the passage ?

(A) The Himalayas provide water to
more than 1000 million people.

(B) The Himalayas irrigate millions of
hectares of land.

(C) the Himalayas form the back bone
of our tourism industry.

(D) The Himalayas provide us with
highly productive eco-systems.

Which of the following is false ?

(A) Climate change has little effect on
the Himalayas.

315.
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(B) They bring prosperity to large parts
of the world.

(C) They have some of the longest
glaciers.

(D) The Himalayan mountains are a
fragile resource.

Direction (Q. No. 316 to 322)

Read the Passage given belwo and answer
the following questions by selecting the
correct/most appropriate options.

A remarkable feature of Edison's inventions
was their basic simplicity. There were
innumerable  scientists possessing  deep
knowledge of electricity, chemistry, etc., but
it was this unschooled genius who succeeded
where they failed. What were his unique
qualities ? Firstly, he had an uncanny ability
to judge the practical use of any scientific
fact. Secondly, he was blessed with patience
and perseverance. He would try out countless
ideas till he found the right one. Third was his
business acumen, which enabled him to earn
the large sums of money necessary to conduct
experimental work.

Edison’s enthusiasm for work and optimistic
attitude ensured a long and productive life.
Only after crossing the age of seventy-five did
he start slowing down. During his final illness,
his curiosity about his condition, medicines,
and treatment, made the doctors think that
possibly he was taking this too as one of his
scientific investigations! He passed away on
18 October, 1931, at the ripe old age of eighty-
four.
During his lifetime itself Edison became
one of the most famous men in the world.
Honours were showered on him. Among
them was the congressional gold medal in
1928 for his contributions to human welfare.
In 1960, he was posthumously elected to the
Hall of Fame for Great Americans at New
York University. But the tribute that was most
eloquent was quite unintended. The authorities
contemplated switching off the power supply
in New York, the scene of his triumph in 1882,
for two minutes as a mark of respect on his
death. But 1931 was not 1882. Since normal
life would have come to a standstill by the
two-minute power cutoff, the idea was given
up. There could be no greater tribute to the
man than this negative tribute!

[CTET (1-5) (Lang.-IT) Sep. 2016]

316. The most remarkable feature of Edison's
inventions was their :
(A) multiple usefulness
(B) low cost
(C) aesthetic aspect
(D) fundamental simplicity

317. According to the author, Edison became
prosperous because he :

(A) made the best use of his time
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(B) had great business sense
(C) had luck on his side
(D) worked very hard

To conduct experimental work, Edison
needed :

318.

(A) huge amounts of money
(B) calm and quiet atmosphere
(C) sophisticated gadgets

(D) support of generous patrons

319. Edison's long and productive life can be

attributed to :

(A) his involvement in charitable work
(B) his positive attitude

(C) his immensely good health

(D) alarge circle of friends

320. The word ‘uncanny’ as used in the passage

means :
(A) terrific

(B) astonishing

(C) weird

(D) great

The opposite of ‘famous’ is :
(A) unknown

(B) negligible

(C) unnoticeable

(D) unpopular

321.

322. Which part of speech is the underlined
word ?

“... any scientific fact.”

(A) Adjective (B) Adverb

(C) Preposition (D) Noun

Direction (Q. No. 323 to 328)

Read the passage given below and answer

the questions that follow by selecting the

most appropriate options :
Your attitudes are the perspectives from which
you view life. Some people seem to have
a good attitude towards most things. Some
people seem to have a bad attitude towards
everything. But when you look closer, you
will find that most of us have a combination of
attitudes, some good, some not so good.
Whatever attitude we have towards anything
will affect how we feel about it, which in turn
determines whether or not we will do well. So
our right attitudes play a very important part in
helping us become successful.
In fact, as we can see, a good attitude is
essential for achievement of any kind ! We
so often hear of someone who is said to have
a “bad attitude”. The term is often applied to
young people, especially to teenagers who
frequently get into trouble, but we often hear
it about adults, too. The implication is always
that the individual in question is not going to
make it if he doesn't change his attitude.
I would agree, without a good attitude it is not

possible to see the opportunities ahead and
set one's sights to reach them. But even more
important is the fact that in order to the kind of
feelings which work for us we’ve got to have
the right attitude to start with.
But where do we get our attitudes from ? Are
we born with them or do they just appear out of
nowhere ? Our attitudes are no accident. They
don't just happen. Our attitudes are created and
influenced entirely by our beliefs.

[CTET (1-5) (Lang.-II) Sep. 2015]

323. The term “bad attitude” is used for young
people because they :
(A) dety all kinds of authority.
(B) behave irresponsibly.
(C) often get into difficulty.
(D) are unpredictable.

324. Right attitudes are absolutely essential to:
(A)

(B

succeed in life.

win the goodwill of our peers and
superiors.

have harmonious relations with
others.

©

(D) promote our mental well-being.

325. Which one of the following statements
is correct ?
(A)

B

We are born with our attitudes.
Our attitudes are influenced by our
parents only.

Our attitudes are created and
controlled by our beliefs.

©

Our attitudes are the results of our
personal experience.

D)
326. The word ‘determine’ most nearly means:
(A) govern (B) influence
(C) overcome (D) engage
327. Which part of speech is the underlined
word in the sentence given below ?
‘Some people seem to have a good attitude
towards most things.
(A) Adverb
(C) Adjective

A/An attitude is absolutely
necessary for attainment of any kind.
(A) virtuous (B) cheerful

(C) optimistic (D) good

Direction (Q. No. 329 to 334)

Read the passage given below and answer
the questions that follow by selecting the
most appropriate option.

(B) Preposition
(D) Conjunction
328.

The farmer is up before dawn on shearing-day,
driving his flock into pens. By eight o’clock
the shearers arrive and after a hearty breakfast,
they take their places on long benches that the
farmer has improvised in the pens. Shears are



taken from leather cases and sharpened with
whetstones; a fire is lighted to heat pitch for
the marking and the work begins.
Soon the shearers fall into their routine. A lad
seizes a sheep from the pen and ties its feet —
not with a cord, because that might injure it,
but with a strip of sacking. The sheep is carried
to the benches and the shearer begins to slice
off the wool. First he shears the coarse wool
from the sheep’s belly, then lays the animal on
its side on the bench between his legs while
he snips at the curly wool round the neck. He
works to and fro along the ribs, peelling the
wool back until it hangs like a cloak doubled
back over the animal. Then, he turns the sheep
over and begins on the unclipped side. In a
few moments the whole fleece falls away in
one piece, looking like a dirty grey rug. A few
more snips from the shears and the wool is cut
from either side of the sheep’s tail, leaving the
animal white and naked. The shearer pushes
the sheep to the ground and immediately calls
for another animal. Meanwhile the lad daubs
the farmer’s mark in pitch on the newly shorn
sheep, unties her legs and drives her out of the
shearing pens.
A second lad — the farmer’s son — seizes the
fleece as it is tossed aside, rolls it up, tucking
the tail-wool in first and secures the bundle
by knotting the neck. Any loose clippings are
gathered separately.
The work continues till one o’clock, when the
farmer’s wife summons the men to dinner.
Each man finishes the sheep that is beside him,
then the whole party goes back to the farm
house. The men troop into the farm kitchen,
leaving their dogs to scuffle in the yard. After
the shortest of dinner-breaks — for there is
much to be done — the shearing continues, and
the pile of fleeces mounts.

[CTET (1-5) (Lang.-IT) 29-01-2012]

329. What expression in the first paragraph
suggests that shearing does not take place
very often?

(A) Flock (B) Whetstones
(C) Shearing-day (D) Improvised

330. The shearer first cuts the wool from the

of the sheep.

(A) ribs (B) tail

(C) legs (D) underside

Why are loose clippings of wool gathered
separately?

(A) Because they are not so valuable as
whole fleeces

331.

(B) Because they are needed to fill up
the top of the bags

(C) Because they weigh less than a whole
fleece

(D) So that they do not get spoiled

332. Wool which has been sheared from a

sheep is—

(A) rolled and bundled

(B) tied with sacking

(C) bagged on shearing-day

(D) cut into two pieces by the shearer
with a few snips

333. What word from the passage best tells

us that shears are like a very large pair
of scissors?

(A) Cut (B) Slice

(C) Sharpened (D) Snips

The sheep is carried to the benches. It is
an example of :

(A) anegative sentence

(B) passive voice

(C) degree of comparison

334.

(D) an interrogative sentence

1.(D) 2.(C) 3.(B) 4.(C) 5.(C)
6.(A) 7.(A) 8.(B) 9.(D) 10.(C)
11. (B) 12.(C) 13.(C) 14.(A) 15.(C)
16. (C) 17.(B) 18.(C) 19.(D) 20. (C)
21.(B) 22.(C) 23. (D) 24.(B) 25.(D)
26. (D) 27.(C) 28. (C) 29.(A) 30.(A)
31.(C) 32.(D)33.(A) 34.(B) 35.(B)
36.(B) 37.(C) 38.(C) 39.(B) 40.(A)
41. (B) 42.(C) 43. (D) 44.(A) 45.(C)
46. (D) 47. (C)48.(A) 49.(A) 50. (C)
51. (B) 52.(C) 53. (D) 54.(D) 55.(B)
56. (B) 57.(D) 58. (C) 59.(C) 60. (B)
61. (C) 62. (D) 63. (D) 64.(B) 65.(A)
66. (C) 67. (D) 68. (A) 69.(C) 70.(C)
71. (B) 72.(C) 73.(C) 74.(D) 75. (D)
76.(C) 77.(C) 78.(C) 79.(B) 80. (B)

81. (C) 82.(C) 83. (D) 84.(B) 85.(A)

86. (B) 87. (D) 88. (D) 89.(B) 90.(B)

91. (B) 92.(D) 93.(C) 94.(B) 95.(D)

96. (C) 97.(B) 98. (A) 99.(B) 100. (B)
101.(C) 102. (C)103. (A) 104. (A) 105. (C)
106. (B) 107. (D)108. (A) 109. (C) 110. (D)
111.(C) 112. (C)113. (B) 114. (B) 115. (A)
116.(D) 117. (D)118. (C) 119. (C) 120. (C)
121.(B) 122. (A)123.(C) 124. (D) 125. (D)
126.(A) 127. (D)128.(C) 129. (C) 130. (D)
131.(B) 132. (D)133.(C) 134. (D) 135. (D)
136.(C) 137. (B)138. (B) 139. (A) 140. (C)
141.(D) 142. (A)143.(A) 144. (C) 145. (B)
146.(D) 147. (D)148. (D) 149. (B) 150. (C)
151.(C) 152. (C)153. (B) 154. (A) 155. (C)
156.(D) 157. (D)158. (D) 159. (A) 160. (B)
161.(C) 162. (C)163. (C) 164. (B) 165. (B)
166.(C) 167. (D)168.(C) 169. (D) 170. (B)
171.(C) 172. (D)173.(A) 174. (A) 175. (D)
176.(C) 177. (D)178. (A) 179. (D) 180. (D)
181.(D) 182. (D)183. (D) 184. (D) 185. (C)
186.(C) 187. (D)188.(B) 189. (B) 190. (A)
191.(B) 192. (C)193. (A) 194. (D) 195. (B)
196.(A) 197. (A)198. (D) 199. (B) 200. (C)
201.(C) 202. (A)203.(C) 204. (D) 205. (B)
206.(A) 207. (B)208. (D)209. (A) 210. (B)
211.(C) 212. (B)213. (A)214. (C) 215. (C)
216.(B) 217. (B)218. (C) 219. (B) 220. (D)
221.(A) 222. (C)223.(B) 224. (A) 225. (A)
226.(C) 227. (D)228.(C) 229. (C) 230. (C)
231.(D) 232. (A)233.(C) 234. (D) 235. (A)
236.(B) 237. (D)238. (D) 239. (D) 240. (C)
241.(C) 242. (D)243.(B) 244. (A) 245. (C)
246.(B) 247. (A)248. (B) 249. (C) 250. (B)
251.(B) 252. (B)253. (A)254. (A) 255. (D)
256.(C) 257. (D)258. (C) 259. (D) 260. (C)
261.(A) 262. (D)263.(C) 264. (A) 265. (B)
266.(A) 267. (D)268. (A)269. (A) 270. (A)
271(D) 272. (A)273.(C) 274. (B) 275. (C)
276.D) 277. (D)278.(A)279. (B) 280. (D)
281.(A) 282. (C)283. (A)284. (A) 285. (B)
286.(A) 287. (A)288. (A)289. (B) 290. (D)
291.(B) 292. (C)293. (D)294. (D) 295. (C)
296.(D) 297. (B)298. (D)299. (B) 300. (A)
301.(A) 302. (D)303.(A)304. (B) 305. (D)
306.(B) 307. (B)308. (A)309. (A) 310. (D)
311.(D) 312. (B)313. (B) 314. (C) 315. (A)
316.(D) 317. (B)318. (A)319. (B) 320. (C)
321.(A) 322. (A)323.(C) 324.(A) 325. (C)
326.(A) 327. (B)328. (D)329.(C) 330. (D)
331.(D) 332. (A)333.(D)334.(B)

ad
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fr=fafaa T @ YeeR B T Y &
eI /9] SYYT IR a1 fadbed BT gAT |
eI 21T & S IR Bl ART I TR T4
¥ BRI g8 IRTM @I SR A B 3R T s
IR A g B AR TG B | D SAFA—AI
T B BA? DI Y A T8t B ? DI fht
el IR 37 37 H I W 99 fbar {6 S @
MEvY gRvr FR AR & <=°F & forg S
TfRY AR AfFT—T9 B ATl STgl F9a
B, I A Th—gR ¥ e T =Mty | 39 PR
M & U S T AR TEIYA H faernet
A IMBR fAerar &, —ad 79 ¥ |ag YaT a1 §
5 AR 3R @ BT Bem? g g oA @
9T F1 g @ A1 A 59 TPR Sreaferd
B W B 3R RIS 4R A9 # o1e O et
T & I PR F1 81 $9P 918 3 I 7o
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Frerh ¥ | 9% YaTg Bl A1 SeRT—3eT & R
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CTET (1-5) 28-01-2023
1. ‘IR & <= & forg S =g | are
| A ®
(A) & & T & forg ST @y |
(B) Y% & /M & o0 <1 =fen |
(C) 31 & = B forw o =iy |
(D) 9ol & TRH & o0 ST =feg |
2. IRAfY o el B—
(A) SR @I sa@fl  (B) IRl &1 w@m
(C) wafRar &1 Sy (D) Aferer @ gfa
3. T 3R SEIgH H W B —
(A) Theresr | (B) TMeerEr H
(C) RS H (D) TNTR |
4. ' E W A B
(A) I§ & g |oat I
(B) g8 &
(C) rFafkerd 3=
(D) & g€ 3T
5. '3 A §RT J R F S ferd & |
e STerTeT ¥ e §—

(A) 3T AR & FF 4B 5

Iafed =9I

(B) T AT M@ el el T
(C) JH1 9T 8M% arTel § & S
¥l
(D) ST At g W fiem & weE
3P LRI H I Ol & |
6. T SR FEYA oM H WH b
R 1 @ T | S SR B

(A) W (B) gTel
(C) " (D) HerT
7. ‘fasm’ @1 ad® faaw o B—
(A) BX (B) S
(C) RIS (D) S
8. ' SrgaRed’ § YT §—
(A) & (B) for
(OIS (D) =
9. ST ¥ e ‘g’ QU e &7
(A) YaTE (B) 7%
(€) ¥R (D) wHI

fr=faaa T @ YeaR IB T U &
|2l /A9 SuYth ST arel fdded BT g |
g MRA & Rl BR W) S9N §,
Y yopfar =1 Hamh, | don gaiy fafterand
TS R 319 BT 3 HART & | I8 & e Hariy
Sfds & SR A AT S B | 39 IS B
IR, T der wa fmivr wen i gfe &
TG S A AreT 3R AR I S AA3H BT AT
HETIqU] T & | AeTTg P ASR] Bl g A
BB ST & | el 3T YT HieR € Sl Tae
Pl B Mg T &
CTET (1-5) 23-01-2023

10. Fr=fIRad 3 | DF-91 97 WK B SH&107

7 R &7

(A) Torma (B) TferTrg

(C) AT Y= (D) f&arae uaw
11. T FHel’ BT 37 5—

(A) Wa+ fAToT &1 Bl

(B) Hff A &1 wen

(C) THRY s =M &1 Fen

(D) wfex fHTor &t Fer
12. =TeT T <R A3 7 AHETg D TG

AR B

(A) fozden
(B) wfex fyHT01 B §
(C) Ma=Nd |
(D) IR, AT Ta o f=or Pt H
13. 'IferTg P AR @1 5 A BEl S
T I | I -
(A) TfrerTg ¥ AR &1 I B |
(B) dferrg # yrdH WiaR B |
(C) afrerrg & AfeRT & ggeran 5|
(D) afierg A AR @1 Aewa & s
Tl
14, fr=fofag & & @\ dfierg @
ArMfers Ao =& &°
(A) |ga1 (B) WHRIAT
(C) H=T™I (D) yaei
15. “Tg 3 YA R T i XA Hell &
g T & 1" e | aad
(A) &I 3T YA AR & S 9ae fsor
P IOIS SITERT & |
(B) & 3M® UM #iaR & R wa
oo wenm o= & @ AfRRT W
Aot % |
(C) &l 3 YT Aiex & Ree fafor
&l P ST+ HRAMT o |
(D) T&l 3% Yrd e & forar et
IS B
16. ‘3rId’ o1 AfYy-faeog ¥—
(A) o1 +&q (B) 31 + Id
(C) sfr + e (D) aft + &
17. ot a1 et ores 7E B
ISIESIS (B) S1gd
(C) emran (D) 3meeRi
18. e ¥ o w8 pH-1 87

(A) H_TT (B) s
(C) wddrm (D) FroRered

FrafaRed e # TSHR g8 T Y B
e | ¥ SIYAI SR aTel [Ibed 1 giaw |
F3 oAl T RIS Fiom b 918 A SaD
BT T PIE T I T8 g forad ANE
T 9 B | 98 qERen favafderem & faema
IREX & e GX-GR AP SIIR ¢a-gadl o,

=y amm | 1



3T ST Il bl TRI&0T W B Gl oA
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19. SI9® B -4 91 FHare W& o ?
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B B?
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23. JeRren fivafdemey @ aRER &g fbd
TR T ART ga B
(A) 9gd 91 (B) 9gd gX
(C) Tgd RET (D) g 3
24, STEAN weE B o -
(A) Sifeer (B) 3t
(©) @ (D) ST
25. < o T vrest # 9 fa vew H y@g
IR SURTT ST BT YA §aTl &7
(A) STIHEIT (B) aRRsm
(C) Nasherd (D) 3=
26. ‘SII-TET BT GAN {908 B
(A) T B FHaT
(B) 1@ & forg |waan
(C) 9 ¥ Fwaar
(D) V9 SR F¥aT
27. ‘I’ Bl 37 B
(A) T
(B) Hfda wa
(C) wg—fIgaq we
(D) W&l W
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(A) &= fadry &1 S g Brl o &
e S aTel %ol I7 il Bl WIS
BT |

(B) 9™ & fthed UR S9! A3 HUSA
BT YT T B |

(C) 9= & Afthed TR {4l &1 0 9@
& g B

(D) w9 & Aftha &1 aRo o
AT

64. IR BT Y919 b R T=ar 87
(A) BaeT AT TR TSl &
(B) &9 YH(I X U=l &
(C) Y qo 7T IHT TR g=dl &
(D) UPHT TN A ST U & T8 g
)

65. S8 AR ARKAT BT e RIFRT 7 TR
el Y& B | 9T H NEifehd ¥eE @ I
TR YA DR b &7
(A) T (B) =fssar
(C) afrsseia (D) wfvssargut

66. "HH—¢ S AT | o S R
AR &7
(A) ER-ER ¥ O &9 S|
(B) ER—8R A BT Y919 T TR |
(C) ER—ER Ffth 3 STOTIAR SiaT

AT BRA T
(D) ER-R G =k T SR & Sg |

67. ‘FuiRa’ ¥ d&-w1 T 872
(A) @ (B) Ra
(C) = (D) 5

68. ‘A’ vIeg ¥
(A) g7od g (B) faaim ot
(C) T vrex (D) wEe vres

fT T e B eaYde ufen qen gu e
Ul & SR B WU H A9 SuGeh (9 Bl
T HIT |

T 3T T SieraR & | ATTaTRe B0 3 ST
@ro §9 1801 7 g3 o1 | Ieet I8 Ifarr TR,
TRy U & AR SUHETEIY A §gd IS & |
el g3 o I 91 WA § uig IR o | 98
R, IFETRT TAT IS F P A H frewh
o, fobg I 9 | Hact T, SRYH, WAl
3R Polgel & I w41 & | FHA-FH I8 T,
HERT SR A A § @ 3w @1 A
S B

T T Slfehd ARG & A oAl D g 5
T F el & 1 U oY 5—9H, SR U=,
A gawT, R, IR, IRES AR 9iEd

DI, ST AT (AT T FTeh! e Al
H W ST FH1 & | B ol g B A A
& dTel IE Sfed 3Tdell S12ral Igd Ble—BIC
eI 7 I 8 159D FS A AaR| Bl HA I
A Srfee e BRI | qErgaT ged drell
HI&T Sife, 3707 ged B A1 faavoT el g8
g Sl B
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69. T <61 <o 1 T vt & g ?

(A) 1807 (B) 1809
(C) 1801 (D) 1810

70. TR & SR T B SfehT ARA™T
SUHEEY & fha <9 A A4 § T8 e
ST ?
(A) WRd (B) ST
(C) e (D) waret

71. T # ST ARG B fhaw oAl @
Al # g SH 87
(A) 9 (B) 313
©) B (D) &4

72. TR & SR FrEAfaRad # & dE—w
B T &7
(A) Sfow Te S1d Yrd Sieirg groi

T

(B) Effewd 95 99— FSI # Y& ¥ |
(C) <ffew Taget 41 § I8 oIl 8 |
(D) Sffew gat TRR 3 9gd wagd &
LRIEASIN IR

73. T Y SifehT B T H U O B?
(A) Fael @R T+ H
(B) @ael Aot gl H
(C) @R qU1 qoF g+ QT H
(D) @act TS |

74. TER S AFAR Sfeh b g A qIl
1 T farae Bl 77
(A) 9 & arfers B ®
(B) O ¥ 31fer T8 B ¥
(C) T BN E
(D) TF T AN T

75. IS Sifeh, 319w g2 & 1T faa=or Fxell
TS o S B 19 N ¥k & T W
PIFT—T T TANT PR FB &7
(A) IR™ (B) T
(C) Frar (D) fasm

76. T & AR T B SAfehd Igd 9l
T § fawga e 7 i S o fag
A B | Dbae TN, FEIYS, FEAT JoI
PG AT T4 & | 39 19T BT AR
7 8?




(A) Sffom 6 T 9 Jon 9 gfg T8 o

(B) Sffew & weear # Iol | FHI oS
Bl

(C) Sffew= Bl | yget foTa & |

(D) Effew & &I H 9919 & aR |
PBIS BRI Sy T8 & |

77. 9 | DH-9T ARy o1 Sarexvr
E 8?
(A) RN SUHEEY
(B) BC-BIC gS
(C) T 9T
(D) T A

foT T e P ggER, g@ TN g & forg
R SUYH fIdhed BT a9+ BT |
H T 3R SareRvl a1 g | H & el 4 aM
FRAT g AR AN T & 6 37 el &
3R |aE WERR 98 ¥ oy oI €19 A
fordy e 1 &Y fioew @<t & A AT S
=My & 2 R 9 vep &1 & | W) 71al, H{iifd
AR fafewr wferet 7 o w9y W 3= Q1 orer
TS 8T o1 SAeTT A ST & | ST & Tedre
|1 18 W BRI g, TR fawafaene, fag
™ 21 3R I, P1 SAT—37eTT AT AT 8 ¢ |
T AT TR & fel SR qw A e g & s
T8 N St T AT 8, W o g 9 &
QY A I A S Prg A Ay oy o fafy
H ol 1 A & | AR AT TSl & ot
|1 Al @ & W™ B | RRgEm 7 g
IR TP & B | QY Al 7 fored s
X ¥ g8 I 1 U 81 Redl s a1 fhR
3 fafat # ol 9 & BRu B 3R I
STTT—3TeTT |TNIY B 21 T 7

[CTET (1 to 5) (Lang. 2) 30.12.2021]
78. QY 3R I I STl T—TenT WTwIay H die

Eakcan it

(A) forei = (B) TR A
(C) fafesti = (D) a1 =

79. TERI & TR T 3IR S 7 A ...
.......... BT AR B |
(A) eaf (B) a1
(€) = (D) forfa

80. TSI 191 A F35eT < fRrfRrit & et wrerer
A P e
(A) ToTE R BT
(B) ToTEN 3R Samy
(C) TR, BRAT
(D) ToqE, AT

81. T & SFAR Ueh & WIH e Ay §
oy SIM wR—

(A) ST WIN-YRAR & Sl &
(B) SIETT W9 9 SIRN 8.

(C) ST W9 & 9 S &
(D) e Sl &9 el ®

82. T H MR ERT oo &1 Fea
XTSI T =l & TS B—
(A) e (B) 5§
(C) BR™ (D) w1
83. e # 9 i wreg 3
(A) & (B) S¢
(C) BR¥Y (D) forfy
84. NI &1 ggTa wY &—
(A) ¥t (B)
(C) *hferat (D) it

85. ‘el B TN &' AR H @b 3R B
I TR DIF— N7 265 37
(A) HER (B) famfeq
(C) Tfifa (D) SRR

1T T e BT UEH], IV W TR B U
R SRYH [Ided 1 Fg7 BTy |
Ree 99 = oftes 9oy faamw s9a
AE—faaRT 7 31f¥re fora 387 | S8 & 31y
A AR B BT | - S | 7 e
S | AT SRS SRR 7 %el & b 3mads
IR & HIeTH e ST & f& 31T it # Par
TP Tgar! | SRFRTY SM9ds TTaed &l SR ST«
SR B Sl BT M AW o | TRR DT @R
JTE AR NI Y@ § S BRI A, oy
YT RE—R@E ¥ |, Wedn, b s
G AT IR HRISTS GRS & & | 79 fb
e # 31T @fth oTa Shad | ST,
3% gaN, W1 4 Sersl, gA%1 A gt 7@,
I TARK &1 SR e & guRl Bl A
g ot =rer o & | e Rifg & a1 geard
N T | fFg TR BR W TP T ST ¢
ghg & 99g B

[CTET (1 to 5) (Lang. 2) 29.12.2021]
86. T B AN I T B ARy ?

(A) RSTaT e 3R &g A Wl |rar |

(B) 89 ¥ HHGR B Y FFEar w0

=1y |
(C) 1a < ey e =afeh & Fsr et
=1 |

(D) 3T+ SRISR aTel 3 fsrar e Ay |
87. TR B YR W 3T AT A HieH

Tl T & b 319 Sirae 3 el a S I

T IR | R a5

(A) STTads A1l S M- &I GaR
G B
(B) oM9as AR T I@HR D |y
BT AT TN AT HHTT & |
(C) 3Mga AT I BT 3119 O T 1T |
(D) 3mgds e SMUd WA B SHArgal
o1 PR 78 o= 2
88. 'SER’ BT fae wrex §—
(A) STgaR (B) SISSR
(C) SeRan (D) MR
89. T & AT HRUT Bl YEAT B forg $79 |
RN 3MATAR T8I &7
(A) FHRTHAS TR
(B) wfesr
(C) woor RhAl BT AIET
(D) SRt
90. 379 & frad faeivu—fasrsy @ w9y &
87
(A) 5P g
(B) IBRTHAS TRaer
(C) S8 first
(D) YE-—EE
91. ' I-9m" o B—
(A) g7 W (B) 31T ¥R
(C) faceh s== (D) FEgS
92. &Y ANT STIARATE] HEE &7
(A) ST YT AqeTd et ST O TEaTd
T
(B) 1 391 Aaed fdhet OIF O o I1)
@ g
(C) i 3rTemarsy 2 |
(D) S S8R #9 ¥ HIH el IR & |

T T T B EHYES qfey I gw MY
T & SR AT
gt ¥ e 0 &R e g €, |/ ST
T B 9 W & g &l IoM O FB
|- ARl & THRIETS Sl BT AT J
T YEHR AT P BT qUT a1 AR 37 A S
AHEAA YT TS | 3R MY 37 AT BT I
& 1Y 3¢ Adew of o &, 3R AT wer
AETA PRA &, A T B IR oy S Fae
1 YReel M, 3T I TR IR G | 51T
Prg Il 39 Abed B A1 I P PRI B
forT s orn & 5 o9 o 3R Sud 9 B
=T 781 21 b AR 98 BH B Bl Dl g2
8 A B, A D Silad b qW g I
3ITY T B S &, Sia 7 SHT 3R GRET FX
ST 2 | HE AR H S A I | I e
& IR e 79 7 TP B B FBT BN ¢,
T2 I ¥ Fedl A B 8 |

[CTET (1 to 5) (Lang. 1) 07-01-2022]
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93. T 3 AN fFAS a1 IR el §U &7
(1) 89 'Y & 9 W)
(2) T IRAIRS TBYfH & §ef T
(3) o URsM & 961 WX
(4) <R & FEAM & 9 TR
(A) 1 (B) 2
©) 3 (D) 4
94. 3T BT P IR HA B 1T B0 a1
EESASASN AT
(1) I & THRIES d61 B &G |
A |
(2) T B THRAS @l BT a1y
BRAT |
(3) TIRI BN THRIHD STl F G &1 |
(4) TR # THRIAD Il F G
BT
(A) 1 (B) 2
©) 3 (D) 4
95. eI H Hed! A B B 0T Bl Seeid
fopa T 7
(1) e AeiRa & &1 o7 |
(2) FPRHAD A BIA BT 07|
(3) 1Y A gad B Bl YT |

(4) A B Bl T |
(A) 1 (B) 2
© 3 (D) 4

96. IR 3T AT F&T BN UM & foTT §g Haheq
ATE, W oo, |
(1) AR BT AT PR 3 GRebe el
BT |
(2) SIf® HEd B TS |
(3) @FEH FHS B AR HRAT TS |
(4) 9T B B FTBT B T |
A) 1 (B) 2
©) 3 (D) 4
97. 319 ¥ R D 1T DS INIRT TE &
AT’ AT Bl IR &—
(1) o1 o o forg fonelt TR a1 T
& o B |
(2) o FB N BTN, BH D 9 I 7TE
ISUEIRS
(3) IR B TR B A A &

(4) PSP AHAT BRAT B

(A) 1 (B) 2
© 3 (D) 4
98. "AHel’ Iex B YT &—
(1) @@ ()
3) @ (4) et
A 1 (B) 2
© 3 (D) 4
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99. Hde A GREHA B TR HT BT 37 5—
(1) gredr 7 for & |
(2) A § SR S
(3) TNl HER R |
(4) el & gy st <& |
A) 1 (B) 2
© 3 (D) 4
100. ‘P’ TS T—
(1) wrgaraes F=T
(2) <fkraras |
(3) afddaras |
(4) urarae e
A) 1 (B) 2
© 3 (D) 4
101. RE—=E’ ¥ ©F-—<1 T &7
() fEgemms (2) Tgos a4
(3) &= 9™ (4) HHIRT FA
(A) 1 (B) 2
) 3 (D) 4

T Y T B SAYES 9T A I T
TRHT B SR AT |
T g7 P L GHST Y R TS B
TP T Afd fHar T SR o/ H g8 7 @
U 3R 7 B URSH & HM N HH Fih
ISP 379 S IALIDBAT 7 X8| g B Al
o =, faren, et & faaR 91§79 favary
7 Aieres B T, 9@ A 81 S 9 AfREd
¥ | 9% Yeetad a8, fawR ue o) ey &
R T PR T MY |73 Ffe 3 3R fmari
BT SORTEN AT AT FARIEN e srgferd 1 8
Hifs TPpfa B AT O BT Y STHRAHGT T
& UgAR T | WA S el §, fe Swn
SEISEAESEACI AR CAREIREINICINEIN
Pl freTifer &9 & 91 fORaR Udhs oW dTel STRH
IR T AR, STBIIE, AL Sia faar
TS &, MIHE AR R W TP Afd &
&1 8 WP [ & e ¢ 3R $9d! I
FHMA TS T VN YgRT & Aot B TAgH
JT BTN TSI RT3 el ahell & | AT 3
TR T T B A S—IAT-2TT TSI
7 ¥ MR B

[CTET (1 to 5) (Lang. 2) 07-01-2022]

102. T SafeR &l Siia [k AR ScEfaas
BT 8?
(1) < 3/ & ¥ fga &1 o B
(2) S 3T ER DT W@ I AT &
Tl
(3) S 9gd 3w Awhet BT B
(4) S AT B A BRI V& B
A 1 (B) 2
©) 3 (D) 4

103.

104.

105.

106.

107.

108.

109.

GEH F A& A B AR

(1) e &4 Aafd i Begen |

(2) 9 1T o9 FART T 9D |

(3) e SMYR TR G YT &l
@ |

4) Rraer Swm e & f&a & fban
ST b |

(A) 1 (B) 2

© 3 (D) 4

T | IR B S BT T SR &—

A) 1 (B) 2

© 3 (D) 4

R U o T B e B—

(1) foR & FEH AHST |

2) MR B S

(3) fowaR & yEY HRAT

4) fasm & IR ¥ faR H=A1|

A) 1 (B) 2

©) 3 (D) 4

Hfde e | g 5

(1) =@ ) ¥

3 @ 4 fow

A) 1 (B) 2

©) 3 (D) 4

IH @ A § upfa @ e @ faeg

waTE?

(1) IR B qAlz B AT o9 B 71T
BT |

(2) FH, W & AGWT IR fFaRT &
TR D AT AT T DA |

(3) I P AW IR fERT B g
BT |

(4) TS 3rgHa IR fIarT & emfaa
BT |

@)1 (B) 2
© 3 (D) 4
M IR DRIeT &9 g 8 9 &7

(1) <9 ST AfBIfe g fawa S
Bl

(2) 9 G qH gTDB TET IS W ¢ |

(3) V9 S I q% T @1 o g |

(4) </ 3T AR fm ST ¥

(A) 1 (B) 2

© 3 (D) 4

Jarrafy a1 T e 5 —

(1) ¥ar 3 gk

(2) @ frgf

(3) war# fgf

(4) a1 & forw fagf

A) 1 (B) 2

© 3 (D) 4



fu T e B SYde ufen der gu e
e B SR QY |
B AR Pl SRR 7 BF TR A Bl @RI
3R $HTT PR B & BN 8 | IT ST <.
q., FEERYA s & fa=maH | ggad ywifad
B B A A 99 TR W AR 59 Refa
P SUHIGITAE Ped © | STHIGEE B fAehie
TR 39 |alel IS1 o1 ¢, FRfh 3o gedl .
S & IR TR & el el R AT B
SUHIETAR, STASTANT, IR HaR-STET
IR TIUT 1 T4 JA FEIEA] DY A1d TR Gl
Bl del M- § Bis RRml ol dd
e S| 37 Siared $Ee1 7 Sfe /e A ygeen
Ya7 fpar &, S Shew & fafdy wdi & fow 9a<
TR % | S Ao 718 e 3 Ufea ) ST
I 9ISy & forg wafaRer oY gfte | R
AR fears; fawedi & forg faemasiier <o & v
TS @ &, Fih 39 <2 A VA ot ugfadr &
Sia¥ BT MR Y& & | Tsfea Raen e v
8 fadeg &1 98 R IRMAT SR fRwaR wRd™
SUHEEI | YRTET BT U BT e T |
[CTET (1 to 5) (Lang. 2) 07-01-2022]

110. SYHIGIEE & fahIe &1 HE HIER IR
T E?
(1) SVE=Hgigl
(2) e & IRE<d W) Fae |
(3) wgAfSTeN gHRG! &t T |
(4) faenfamgof S |

A1 (B) 2

© 3 (D) 4

SUHERTATE {4 Fel &7

(1) SITIHAT B AR TXIY @I |

(2) AP W W T WIS g
AR |

(3) \ETEAT BT ATST HRAT |

(4) TS B TG ST |

A) 1 (B) 2

©) 3 (D) 4

YAl TR YGWUT Bl &I PRE DT &7

(1) <hared e+

111.

112.

(2) ¥R Sl
(3) YA Sl
(4) o ol
A 1 (B) 2
© 3 (D) 4

113. F=ifaRed & & dHA—1 |9 3 =1 87
(1) g e

(2) TRmET HEEY

(3) 9IRS STHEET

(4) irared e

(A) 1 (B) 2
© 3 (D) 4
114. & fearss fadweal & iR R W1 8rRm?
(1) e S & forw
(2) fereardy glaensii & forg
(3) wIfT 9 & & forg
(4) TITEROT A& B fory

A1 (B2
© 3 (D) 4

115, "9sfea Raen” wafeRer @ Ife 4
RIS T &7

(1) I& ABS ¥ I BT & |

(2) SHH HH AT 3N B

(3) T AT BT BT ATET ¥ |
(4) 3E SNared SeF &1 YA T8 B

T

(A) 1 (B) 2

©) 3 (D) 4
116. FfIRIT # DF—=1 "SI’ BT TARraTY

TTeg TE &7

(1) wER

@) 3w

(3) faea

) g

A1 (B) 2

©) 3 (D) 4
fow TT TR B SAFYES ufer e @ MU
T B IR B o R SUYe fadbed Bl
TIF BT |

SR G DI G1iep Yy g an sHere
BT S TE S | ST ARG FEHfal A gof
TR & G & | g IR S 97 7 FA(AT
Y N & o gaery A 3 o 5 & SRar
3T & | FRAT | T o1 T RRIerear W
T U< BN, ST TRIRG IR AHRIS G
B | T | ShE-wfd o U B B, s
I 9 gfeg BT RER Age S & ¥ | S
B ARM IRR B eI P QURAY 3 s
eI & T IRR H fIem R @rel oraR
T S a1 T BN HA DGR Febre
P YT PR &, AN W WA FH B SN S
31 99 9T YA FAT A B S 5
AISH o 9 g s fpam o Sl 1 9@
T & IR Ao 7 a1 SITe 1 quived § RIRe
HEHTS BPR AT BT BRUT S F A 81 Sl
T 1399 v afid Je Suged Sfd MR
T TR T B AT B ST T e |

117. ‘ST’ &1 a9 fHad 8?

(A) Faat aififes SrTaMT |
(B) ael W@y |

118.

119.

120.

121.

122.

123.

124.

125.

(C) anfifes srgsaMI o wared M1 |
(D) Af—Rarsi |
[CTET (1 to 5) (Lang. 1) 03-01-2022]
IRRG R ARG YEa1 F T U
B 87
(A) 3RS T Pl |
(B) ¥¥aR & WIftq |
(C) e IF Tl &
(D) faomirg gared YRR & fedt oI 1
SUI & IR INR B YTa-T—HeATT Bl
vl fasm freran &1 aifea a9
RIT A 7P
(A) T 3 BT AT AR fred ST B |
(B) ura+ 7T fftw & o
(C) ura i bl 4 TRe SR e e
Bl
(D) 9T ST A AT & W & |
[CTET (1 to 5) (Lang. 1) 03-01-2022]
Terd el g & faei g e faw
BN B IR © | TET e @ garef |
T T &7
(A) <1 gt @M AT T8 B B
(B) i gl TRIR @I B UgA & |
(C) <1 g1 WM AW B E |
(D) <1 garef TRR BT 1 UgAN & |
[CTET (1 to 5) (Lang. 1) 03-01-2022]
T @ e B FHET FHF BH B I &2
(A) 19 IUIH & & |
(B) 9 WIS |G XA & |
(C) 1§ 1 @ & 9o &R & |
(D) 9 31 @ & o 7 B S |
[CTET (1 to 5) (Lang. 1) 03-01-2022]
e &1 fdm v B—
(A) S (B) ISR
(C) IR (D) fafere S
[CTET (1 to 5) (Lang. 1) 03-01-2022]
FrfeRad 7 ¥ DF—T fIeyoT %7 SaTeRU
3—
(A) 3R (B) STER
(C) srd (D) 3rerett
[CTET (1 to 5) (Lang. 1) 03-01-2022]
gEeld A9 Bl Y9Te fohg I) Tedr 7
(A) TR R
(B) ot fafa—faem o=
(C) Baet 9ra wfed =)
(D) TR
[CTET (1 to 5) (Lang. 1) 03-01-2022]
IR H DT TTT T
(A) q (B) =
(C) = (D) fé
[CTET (1 to 5) (Lang. 1) 03-01-2022]
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fu T TEme @ wFyde ufer der 9o e
I & IR B 0 FeRT IuYad fadbed o
TIT DI |

DI B SIS &l B FAG H PIHRAR
T T T | U el o AIfeTan § & A B gAR
fopam ST =R | &R T pral @ fbe & wivTe
M D IS IR IR O | JRIRg HTE W B I
39 IS TR Hi¥Ie] 9N © A 39 g B A&
HIT I 8 | TP IRE 4 I8 AT GRIRTel! Bl
hd BIAT & | IR BIY BT ST fopaiT Higr 3R
BB BT B | AT BIHFER B Bikel § IS BIg
& A8 AR Fergell 3TaTS i TP IR G o
g 39eg & AT & W §, R SqD B3 A
M- TR N Fhe B BT B

R & 9 & et b Sirar &, S AR
HEAT & | DI a1l S P 17 qH
TR R I | ara—fApR @ Al § Hiferer
A P fo1g N I8 T SIS I I |
A P ABS! O AR A B 4 T B STarel
TN & HM | I8 Ygad e & | Radm, By
P AR do1 Jermfsal g & forg ff e &y

ARG SHYA Bl 8 |
126. TSl W BT HIFAT I &, Fdg H S
fopsr - & e fomam T 7?
(A) BB
(B) BIHFER
(C) Prasmsy
(D) PTHIG
[CTET (1 to 5) (Lang. 2) 03-01-2022]
127. DY 5 FEM | 10 Hiiel S & S9!
o=y 7 27—
(A) o5 (B) ey
(C) w3 (D) w1
[CTET (1 to 5) (Lang. 2) 03-01-2022]
128. < & %l BT A §—
NREEL (B) FEIRY
() <& (D) FraRR

[CTET (1 to 5) (Lang. 2) 03-01-2022]

T & el M H I @ dAdbSl B
TART BT & Fifh—
(A) % 3 3R HAGIR B ¥
(B) T 3 3R PoR Bl &
(C) I8 3™ 3R Holgq erll &
(D) I% 39 3R w! Bl ®
[CTET (1 to 5) (Lang. 2) 03-01-2022]
AR B—
(A) M & &I & 91 O
(B) faet @1 I
(C) =€l &1 I
(D) ¥ BT &t
[CTET (1 to 5) (Lang. 2) 03-01-2022]

129.

130.
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131. SseTal & faug e —
(A) 3T+l (B) M + <7
(C) 3nsg + gl (D) MR + T
[CTET (1 to 5) (Lang. 2) 03-01-2022]
132. 'BHI’ Bl AT oo B—
(A) BOR (B) wiER
(C) AgRaT (D) fhe™
[CTET (1 to 5) (Lang. 2) 03-01-2022]
133. 'S A¥fg BT A& A1 I 8 | XY@
e B
(A) wGaras =
(B) STfrarads s
(C) fedaras |

(D) TUraTEe faRoT
[CTET (1 to 5) (Lang. 2) 03-01-2022]

QT T T P YIS UGy FoT U T
T & SR D 0 kT Sugerd fdedbed Bl
TIT I |
TR ¥ HeraRT & STfrand w1 SR § 3 9T B
et dTel YA Bl <l § | STl qriRaTRepd
B A | o=l A <7 & o o fbfy 7 oy
Tgfy & 3R ST BRI B | AT ST TS |
qierarel W BM AT dTel IE Jora”] Al Bl
THRIHDHAT SOR BRAT & | BT B AT b
YE—RINT U9 Helax & | BT AT, BI2T ST,
12T I 3R T ST e AHRIAS 37ef 7
B A & | STy, RIe eaeiy & aref wWiord
Y TG D TGATSN BT BRI A1 U8, 9 & B8
o & b B8y ThRIAS Ufhar & | ey
T S8 T SR 7 IMHHT | T fory Ay aref
# qUT SIS FAS & forg o, sxe Terd
B B b B A & | I B |
134, 28 gereRi A fHFa9 Iy o=al & 9REaR

BN Bl 91 B TS 8P

(A) IRaR (B) <&

(C) =afad (D) 99

[CTET (1 to 5) (Lang. 2) 03-01-2022]
135. 9PRIAD A H TN B drel Gerast

& T—

(A) T EET  (B) €U AT

(C) & TRIAT (D) &1 I

[CTET (1 to 5) (Lang. 2) 03-01-2022]
136. AHRIAD 31 F TN B dTeT e B—

(A) Sra—samg (B) Sre—arel

(C) = ((DESSER

[CTET (1 to 5) (Lang. 2) 03-01-2022]
137. ‘&Y’ BT SEAIHG TS MR

(A) der (B) X1l
(C) e (D) gaTT
[CTET (1 to 5) (Lang. 2) 03-01-2022]
138. T8 B 37T W T JelaxT T8 —
(A) TR fa@mT (B) eff@l &t art
(C) = gern (D) ATA-YIeT BT
[CTET (1 to 5) (Lang. 2) 03-01-2022]
139, ‘AT | ‘$H’ GG S R g9 Tl

e B—
(A) TS (B) ATHIRTS
(C) MG (D) TSNS

[CTET (1 to 5) (Lang. 2) 03-01-2022]
140. ‘ST’ FETaR A AR B—
(A) GG BT (B) B AHH
(C) PR dfem (D) WERT &1
[CTET (1 to 5) (Lang. 2) 03-01-2022]

A U T T P UG IB T YA B
Y SUYH SR dTel fddhed Bl Ay |

P U U 99 91 & A Ol & | 9 UG A=
I TB GAH BIS oM B o7 T Bl o &
S-S &1 T © | 15T 1 GRET 9 AR FHA
@ oTT U et o1 Ugfedi ¥ ferT Uep wier-wr 'R
TR BRAT 8 | A | Freeiad e IR U e
G RS TS ¢ | et &1 ARE Gax art SR
T E? ORI A 1, M-S q1 Aerel A1 |
3R 9 fIuTh a1 | 3RS F80T B & | by
9 IR0 SR ¥ R TRE WG] T
Raerct &1 P Gl BRT—IRE TeeR &1, forra
TR ¥ AR AT B S ¢ | AT Bl IR U 8
A A1 G SR & el 99 O & | gL & A
W B UGpfeetd AN e fRrerr @ i
IR &1 S YBR THell B I8R B W B-
fR® 91 oo 9y gal B AN & | AgATE g
el ol B | Ia uferll & <) 9 faT 7 9w
el ferd | 2 B 8 S o 1 WIiR hel
TR TR® Y Bell 2 ¢ |

141. A Pl T8 e A1l IR T & ? TeeT A
el B YR FEl T 8, Fifp—

(A) I B R & GaH E |

(B) q U Pl Gl Y& B © |

(C) 3RIER TSl | Silad U< I &
(D) &S B GRIE v ¥ |

[CTET (1 to 5) (Lang. 1) 23-12-2022]
el I B 8 AR AR AU gAY b
forg e <7 B?

(A) AYAfRE BT BT B & forv |
(B) Hférai &1 e o & foru |

(C) foaferat @ x| UM BRM & forv |
(D) TG Bl T IR B T
[CTET (1 to 5) (Lang. 1) 23-12-2022]

142.



143. U U I BIS OF & fTg =l =
& &7
(A) U1 9Y SHET Y& P v |
(B) Sae &1 FARARar & 9IY @ &
ferw
(C) A= I ASH a7 & forg
(D) 3T | BT el BRA B oy
[CTET (1 to 5) (Lang. 1) 23-12-2022]
144. "fa9Th I1Y & SRR T80 BRI & ' SRR’
¥1s foperah foTu ugeh ganm &7
(A) g
(B) SRS
(C) HE T8 MHAES
(D) a3
[CTET (1 to 5) (Lang. 1) 23-12-2022]
145, Sl & forg U= AT 67 |= 5 &
TE ¥?
(A) FAIFE  (B) fiediary
(C) TEfRe (D) STER et
[CTET (1 to 5) (Lang. 1) 23-12-2022]
146. "Tx" BT 1
(A) I (B) |&AMT
(C) ey (D) et
[CTET (1 to 5) (Lang. 1) 23-12-2022]
147. ' 3190’ favrevr fosras fore ugeh gom &7
(A) frea (B) &1
(ORI (D) T
[CTET (1 to 5) (Lang. 1) 23-12-2022]
148. "Tgfed” H 9T 5—
(A) @ (B) ¥
©) =a (D) @
[CTET (1 to 5) (Lang. 1) 23-12-2022]
149. T fiR®’ | I B—
(A) Fel-arg (B) do1-fredt
(C) wat-wet (D) Te-ig
[CTET (1 to 5) (Lang. 1) 23-12-2022]

Fr=faRaa e @1 eagde Tgax U MU
YT BT Hel SR ST |

&l 7 WHa AR AT A D Fd FERI
Ugars &1 341 U W, R qen i e
T | BRIIGR 981 31 BT Y& x4 & | 91 9 &
YHR & AH ¢ | T&T TN ucae | 1 3 &
S, SR A1), Tiie, T1RE JER, SITSTeriT, <,
e, Tl 3T UTT B & | g1 9 AeRvl Yg
B ¥ 99 | e @1 wera Sl & | g
TN Siel TR JEARIU IS I & BRI B
TeT fHETROT I AHT ST FHAT & | T 7 A B
T s BT IR S Wbl & D gl b
IRET WE S S HM AR S| a1 a0 Bl

o BT T ¢ | I P qA BRUT BR-HX &I
A& & oD eI Sia-org 3l o1 far
BIT ¢ | IR T HeiRa UPIT  FIHI aATaRv]
SFeTe a1 H 2 feran & | feamaeTs, e, e,
wIYS, BITST, YR 3Mf SR Bl A g4 )
¥R Y& g B |

150. HFIA1 BT Had fHa- TR Ugars 87
(A) 79 7 (B) 99 |¥gaT 7
(C) e A (D) g&ii 51
[CTET (1 to 5) (Lang. 2) 23-12-2021]
151, 91 & IR § DH-A1 BT Fel T8 87
(A) T e &1 Fera A ©
(B) &1 ¥ 9ATERYT Yg BT &
(C) &1 & 91l B JHE Bl &
(D) 991 & S8, X&), el 3nfs fierd |
[CTET (1 to 5) (Lang. 2) 23-12-2021]
152. 91 9 9 F Ta1 ARG DA Qe N
AP B?
(A) B-%X J&T TMHR
(B) Sia-srgaii & faa=r &
(C) g&i & IRl & @1E 71 4
(D) fed &1 He@ I |
[CTET (1 to 5) (Lang. 2) 23-12-2021]
153. 91 &1 &1 SR T 87
(A) -9 g&
(B) ot Sfa-sTg
(©) A ardraRvT
(D) Uférll @1 FHerRa
[CTET (1 to 5) (Lang. 2) 23-12-2021]
154. gfAeRoT P 37ef BAM—
(A) qA T em (B) 9 1 Al
©) AT Fea (D) 4 BT ST
[CTET (1 to 5) (Lang. 2) 23-12-2021]
155. ‘ger’ oes ol ATy faeos §—
(A) g -9 (B) §X - @
(C) g -am™ (D) g - AW
[CTET (1 to 5) (Lang. 2) 23-12-2021]
156. AFI-AICT § AT BT—
(A) PR gy
(B) ROT TG
(C) wry qcge
(D) ¥\ qcged
[CTET (1 to 5) (Lang. 2) 23-12-2021]
157. ‘G’ TR A1 31 B—
(A) IRE (B) T UN®
(C) waHa (D) STTHY®
[CTET (1 to 5) (Lang. 2) 23-12-2021]

forder (wem S 158 9 164 T6)
frfaRad Teme & &FgEs aiey 91 I®
Y YT B ST ST |

e aT 89 ¥, 98 ST 3981 XAl ©, WK oY
AT & | UPIT & SR SR IR B ARG I
T & Shae # ofeg Wt &1 §R Wrerar &1 S
AN ‘STedl BRI, STeal BRI° B XS o &, 9
qreTd H, TR F, R BB YA Arbin
B IRATT BRA T | Fherar AR T S4B
I BT 8, S SRIgEd B H o Red & | 2
w9 9 5l B e A e wu | A
T T & | S99 & 918 oA SR-6R Sy
B AR @ G B GR-ER & o B Bl
X BIE I TfFex | TaTE o B g gead
UTHIT TR B 1 BT B &, AT TE SHD!
I T B 1 g& B e o ar A, Ry
Tel-uIfd A1 T TR B BT |
158. <& BT YT B B I STy B—

(A) w7 (B) Tof

(©) wgfe (D) &

[CTET (1 to 5) (Lang. 2) 23-12-2021]
159. 'S8R w9, TIRY ¥’ B YA aArbin Bl
P aRare wRa E?
(A) S &R B B W B
(B) <1 9Rsm™ | B B Y& B
(C) N & &M H Teadmol IR & |
(D) S R et JTf oY BT R & |
[CTET (1 to 5) (Lang. 2) 23-12-2021]
THA-ITT H DI 3T T &7
(A) Sgife @ e (B) Tegoy HHE
(C) &8 w4 (D) 3rFA{E FHAN
[CTET (1 to 5) (Lang. 2) 23-12-2021]
T B T T ARG I 57
(A) STyt o
(B) % B &l
(C) SRFaM a7 o
(D) T U] &R bl
[CTET (1 to 5) (Lang. 2) 23-12-2021]
BT 9 I fhe YT BT &7
(A) S RIqE® M § 7 & B
(B) <1 9 &1 SRR IR B |
(C) ST ¥R 79 & BH PR B
(D) S 'S @RI, BT Y T & |
[CTET (1 to 5) (Lang. 2) 23-12-2021]

160.

161.

162.

163. IR’ B faelm vreg B T—

(A) w1 (B) €k

(C) emgx (D) =I

[CTET (1 to 5) (Lang. 2) 23-12-2021]
164. ‘TP # gt Brm—

A) 9 (B) |}

(GEN (D) 9%

[CTET (1 to 5) (Lang. 2) 23-12-2021]

Ry wmwn | 9



Y T T TR B UeER IB T WA B
T SUGeh SR dTel fadhed Bl gHg:
g Riem @1 ST &9 <9 forar| &
S fRrer o i o < foran, R R
e’ &1 w9 AEaqel M 8, e FRo
fch 1 el M T febe1 91 et b e i
T8 BN | 5w BRI I8 & b Rren & warfaes
3R 3TITD [T Pl BB g VW fawi w)
e & o, S 7S 1 UhaRwl fabrd
FRA &, T BRUT Afthed BT I8-9-991 AR
3T & I & | IrcaraRe | 9 dwer—fiet
P13l a% Sfyd e T8 fAen & | 5i@r e
f T, g8 gea1 RE-ARE Y BT B & IqD
Rrer-p5 # 1 Ber-ygirdl B e faam s
IV & B AS A FET T
"BAIRT STIHE B T & b &R <afh TR e
P 99 B IR, TreiR-eraven RS9 9w W
AR Siad-$1el dd [HA-1-fBA1 Ber-ygfa o1
U WIT-Yhed B WIRAT I X Hhal & |
TS & 1 Fas-RT TR &9 o191 TS 51gT
G &, S O, P, 3R, SRR
R & T b ARy 9§ — R IRE TR oI
T, S I TS A & | 57 TR THAH SR
Y B PR BA-YIRAT, ST AGH-FL BN ¥,
eI A BRIT—PXG bl Sl &, A JgRm
A qI3yPd | & 8 e S, gfed g
e w2t o Fewa <7 & HRUT ARG B AN
3 9 Riegel Fida ST € | fheiR-araen o1 54
TRE TTeTd IR IR T I <61 Aol 9 2 <&l
T | AT IS-9-R1ST J37SF BT 7 & ¥ | hfkn
T A fIBT 1 XET & | ST AN ST F,
IRAR FEI ¢ | AT A THe TSI & AR T i)
&GN R DT IR TG & | S HITID Srawerail o
TART SF-TAE \8RT S <& & | 37T T et
NN AT TI S @RI

[CTET (1 to 5) (Lang. 1) 08.12.2019]
165. SIF—fs @1 9gd ffed Hewd < @
EEITUT_
(A) AT H WIS 2 e B
(B) =afth gor &l 8 W T
(C) =aftp faeasr or W18 U= 98 B
(D) AT SARY B <& B
foreRTa=en difdedr & yeeer iR W

166.

BT H ..o BT R 3T Y& B
(A) = (B) wfy
(C) & (D) TaH

167. T | SF—41 Ik e ¥ = & ?
(A) wfaw  (B) wkRfa®

(C) eifyaafe (D) dIfd®

10 | AGRAWAL =XAMCART

168. 3T &1 ™ 9 31 <1 § A1 < &
T ar § ford ' -

(A) A (B) g9
(©) # (D) st
169. ‘fawfia’ o # Y & -
(A) =@ B)d
(C) 9 (D) Rya
170. IJBT & AR TR P&l o [l & b
sy et e Tdrer—
(A) 3T &I (B) 3d ¥ |
(C) Tar =& | (D) =< B

171. g e 7 foo fowg o1 wa9 arfdre
wEwq e S g ?
(A) TST &I (B) fasi= @1
(C) skierT &1 (D) el B
172. IS S YR W & b R Aaiferp
S S P TR & 7
(A) Fel g )
(B) ToreiRma=en w
(C) e I
(D) fasm= @
173. 3ge0e & AR IO, e, e
anfe fawg —
(A) I IIHE | (B) BT YoM B |
(C) I YIH &l (D) TP Y& & |
174. MAMAE WR T Y G H T HH
el & —
(A) FeIER aref
(B) 31eRI T &A™
(C) Ug &I Sy
(D) A I
175. W91 3ot & fhed waner efer 7
(A) T (B) R R
€) X (D) faarst
176. WIHE TR IR 99T AEw § A1 G
DT T | Fewaqu & ?
(A) I e (B) SHRR-9F
(C) cefifas (D) PR
177. T faw &1 Iew &1 Aded &, S
(A) forg—ag, ST
(B) SM@YROTSAT, TregTaet!
(C) wrearae, fawy
(D) eragRoTel, fvg—ag

A T T TR B UeER I T TR &
I SUYFd SR a1t fadbed o1 gy -

HIa & FHEIE § IRITHR 3R 1T SR [0
B SR T B IR S, 9 98 370 oo Aid
ST T TG HASTBR SAB—SHT b 1 TR
B TGS T PR G 8 | IE FOR T

T 5 & 9Ifde wu 9 39 WOR ¥ e srafy
Td & e | BRI 4G & d1e AR e |qael,
31, Ig—aTgg Sied R AR 7T eharga 3R
YHTge W el & | g i3 3 feer W
TR faorg UM & foTy 99 gAR 8+ # s faar
I & 5 1 T A M FehA! SR Ui
BT YPHTR BeTTdR FaI—HaT B fTT R & oY |
HIH-YGT TP &H AT AR PR A © |
3o oy xeamef =rfened IR TRied FHT & 9 R &d
AN S foTY AHERT Sila &g SR 99 Fahd & |
T AT Sa BT AT GG B B oty
e fraR 721 el & | W AR oo gl &
ST W T IS I8 © TN §76 AR J g
F 3R W BTV | S99 &R U VI g # 8 Y&
R N T RRAGRI HIAR T T S I |
IF[T AIS Sia &1 FdArS Ren I T T8
ARG AT F1 S MFEHT IR Ffegemet
B ohdT B | IS 59 IR FMg S S~ Bl
& T IE 90T FER TG faR T80T R < |
oY Y AT 1 emeATAaT BT SN ST 3
e, 78 o 78 e S & ed—54 @1 Seey
FepA! SR Aol A O B & ¥
[CTET (1 to 5) (Lang. 1) 09-07-2019]

178. W fdaR Ao A=l & A A

(d) (@) (x)
a1 S R B I
(=)
I A UG UG g A Pl
IR 9FN A 9 o T E, R e W
et o sfg B—
A) (@) (B) (=)
© @ (D) ¥
179. 39 w=aT 3 P oreg vEaife—
(A) FHH (B) w7
(C) Fgarar (D) HEI
180. ‘Fr =1}’ vrex o1 Suga fRmdiane wres v —
(A) et (B) TRITBRI
(C) et (D) T=reit

181. 9IGRT H Gga AeAfAD’ W fob
STy A g ?

(A) M H, d@ (B) Mg, &l
(C) emfyg®, a1 (D) e ¥,
T RSB AT H&T Iol A &, S—
(A) 9% gRT IFTATHR TRRd B W2 |
(B) STHEHT Wi Sild <& |

(C) My g Sila H 4rs fRieres <2 |
(D) &RAT TR R w9 & TE |
“HOR A’ fry FEr T E ?

(A) HEIRN W 50T 9 HR a

(B) WIfi® IRIR &I -Tea=an

(C) e Faferl & Sreemll IH

(D) AP FER 6 Feod!

182.

183.



184. fder waeTel TR faog o= & fow o
BT S & 3Taeadar 9aTE TS § P
(A) 3D Al F M AR BR o
(B) Tao/@ oM & feTg AT 4T
(C) T AIGIRl BT 7 H A M AT
(D) HET-9a1 & AT 3R 2 5T

185. BART SIa+ |aT IROT S Hawdll &, Al TH—
(A) Fzared 99 & RIUBR B |
(B) #a% FgRI B TIR-UR &R |
(C) R IR RUBR R |
(D) 9=Ha1 & foru Heep! IRT A |

186. & & SITARVT B Se¥T T—

(A) B TR ST G

(B) omeATAeDHdT I TRTeT Y& o
(C) e ! SR Ul T TRl et
(D) 39 & Bl TAR—IER HRAT

T RT T TR B UeER I Y TR &
eI /A9 SUGET IR a1 faded BT AT |
TeIeT U9 o1el UaTe EH Td AR gael v
arat st aif¥e wEw & fawr 8§, S
AT TaTHS B B H T ¥, S Ao
TS AN AT JATHT 7 A AN & AR T &
EISSIESICan A
fvg % fOR® &9 4 9 TP & Al e o
AR PIet A1 SR e | ST < |
ARG 7 G Pl ARAT Trell, W I8
e & aifw aroi § f Wi e, i 98
3TY S & &g BT AT fafg HR gar
o | A Y GREP b1 ST, Yicrsal & SRl
q o e S, IR 9 B A B
ST A1 Fee 81 98 3THd BRall fb I PHoR
w0 ¥ ST B T E | W P AR S
& O B STel e SABid B 8, 9
31eS Siled & oy SifFar) v e € faeg
He<aqU1 I8 & fo T BHT STa b1 ST Ul Y
foran ? I S9! SR B S 1 91 agel @l
37T A W IR I e T A B 3 B
e X T BT 3R A& BT 3R TGN |
CTET (Lang.-T) Sep. 2015 (I-V)

187. faRa! &1 7o faeve I8 & & ST —

(A) WETATHIETY TE B |

(B) #Ifys Hecaraniemy &H Bl & |

(C) TE—fyaT Il B Bl 3287 Bl B |

(D) ETHS BRI FR T & Bell B
188. &I DT ITTT B 7 DA o1 Bl eIy

PR TS ST AT B i —

(A) g orf~T &rol § o e orr |

(B) 9% S & PRI AT HX G o |

(C) a8 Tl YAIWH! bl U &l BRall
o |
(D) S SiIaT BT S U R ¥ NI
&1 T B |
189. AT I 1B & FAT JUK &7
(A) IRM & forw
(B) ¥q=Tar1 & ferg
(C) -} e & ferg
(D) e Siad & forg
190. < e YaTHd B BRA H THed
.
g A b & B WM TR D«
¥IeE YYF TE T S HadT §7?
(A) aTIfaE (B) &A@
(C) H&w (D) wifarreTett
191. ‘wfosar & QAR & ee I W —
XEifere 1 Ty B
(A) IR B) X
(C) MR ¥ (D) P |
192. ' Heil—Hifa fafe &= g o 1’
SHYa araare H foar—fageor g—
(A) ¥ (B) Werl—Hifer
(C) frafe (D) X gd
193, ‘Hewardien’ foe oeal & et a1 & ?
(A) & + 3Mepien
(B) W& + IMmapien
(C) 98T + 3Mpren
(D) ¥l + Bien
194. W 14 fFee 718 o ?
(A) TF9-99= @R &
(B) MM AR @
(C) SiIa &1 & YR1 B drell Bl
(D) TS HR R a1l B
195. ‘IS’ 1 @RI BIet AR HAF A Hbd
foeran & f5 g’ @1 o1ef B—
(A) "F—4fi (B) T& fa=aR
(C) TP I (D) farmaa

S T 7T =T B gk Had Sfed fawen
BT T DT |

frem & JPR auRET (SfFT BHEI©) F FH
T SUER BT &, S I BT ST GHST arel
& ERT SHP! e oian &, K7 9 fara e
A & | AR BT URA A S SAST B
faRaRr & faQwar & 1 98 Ran R 7= &
Rt 1 ufehar & Al | f¥1eres 3o Bl &
A& T PI T AP el &b w9 A I
BRAT B; S8 URY ST TFHR I8 AT 3R
Pl Moy Rig a1 & | B, Fld §85aK

I IS BT RIetewr & i@ &1 sifarer Rig
B AT FHET 8, b 39 Hh o 191 fh a7
T O IR BT S il & (fb wiferes &
IRTT ST IRTT W TR B), <feT 3 o
AT 3 IRAABAT P B Tl o U b 9
o freres o RIfdr v 1
[CTET (1 to 5) (Lang. 1) 16-2-2014]
fRren & SO sragron e @1 fha v
H TG Bl 87
(A) Trem o ufohan § Fael WA =
et B
(B) el 9 & o9—a+ A U &
(C) frenm § paet o Rierdi @1 Rrfera
Eackd
(D) TRrem % SUBRI &1 TF—3 BT &
TR & AR BT AU s aAfaapall
Pl & S Uy ?
(A) et SiaH &
(B) frem & 9191 & |aIR &
(C) frere oia: frferg 8 &
(D) 9 35T &
T TR % TR TR o1 ufshaAr qe
B & fore erfyard urd 37—
(A) Rrers & suRafa
(B) Rretes &1 WA A BT
(C) B &1 URH 3FHI BT
(D) BE B WA & o1y Ssg® BT
TR & AR SIS B faaReRT &
e /&7
(A) forem sT9 &1 SUER &
(B) fRreras 218" & 3R BIF A’ T
(C) e et wea Saired BT &

196.

197.

198.

199.

200.

(C) frfarat & sen

(D) frer 3R B & Aeg TR
Rismar’ orsg & g9 arer fagiyor 3—
(A) frsmay

(B) fSrsmeararen

(C) Roremg

(D) fSrsmeTeiiet

5 wres § <1 YT BT AN gan &7
(A) aRfapHar

(B) STHa

(C) faersar

(D) foaReaRT

201.

202.

R s | 1



203. I TR H A ek b eref B—
(A) HaaA (B) v
(C) 9ga (D) foreget

204. S TR AT AFDR I8 39T AR
I A Rig HRAT & 1" XGifebd o8 B
SITE 3T 91eg T TRINT T ST Naehlt &7
(A) YA
(B) dfawmfera
(C) omafifed
(D) wfcreemg=n

e (ues s 205 9 213 @)

I QT U eI B UgaR wew Sfed fawe
BT IIT BT |

FHTST A TSRS, ¥hedl srerar Rl ol gy
FHE B P FH T8 T | Be-H-BIC T B
HI—STT ¥get AT Bl Sea] B & | AI—alg AT
P e Bl W Thel | NS A1 Bl 3T
B ER A I oM & |

3P Ul &) ) O g0 Fea: 98 N ©
b @rs N H—a19 STeThl B TN |, STeADh] BT
we e & IR H IR Wiy & Hed1 va st
AT 3reraT SIHHIaH B T 18707 el |
N T T8 AT | AT a9 | gel TR
A AoaE SIS @1 I8 T8 R S 6
A—aTq I BT o7 T B? T gl BT 0
Sire @1 g8 9 78 e 9 $ erw ok
o ST B YOI B DI S A1y ?
IfI-—getr B9 @ oref F 77 gg W P AL
T | 9RO |1 © 5 Sie g B | vse
& TR TEA-IERT o € 1 ER S @ wrel

T IS TP Pl Gell & AR 7 ol & gl
ST SR 1 ST A1 O 39 AT B Ui ot
e AT R 3 3T PR B B

[CTET (1 to 5) (Lang. 1) 28-07-2013]
205. ‘91 o B—

(A) T

(B) forafaRyor

(C) AEArad

(D) foyare
206. 9P fIUd & R 6 T F=E IT

T v B

(A) qfa (B) drifaw

(C) Irafaeman (D) |gEaA

207. R P TSGR BT H& BRI T 87
(A) S=dl & IR § T ST

(B) ATa—far 9 @1 ered 7 S
(C) 3™ H1 31 7 ST

(D) TR IHM B Sl Bl

12 | AGRAWAL =XAMCART

208. & =R A {5 9] 1 IS 1 gor 57?
(A) =i B Rl T W Bl
(B) 98 BIC e Bl ¥HA A T B
(C) 987 BIC 9= Bl GBI Ao B
(D) ¥gd BIC = Bl Tl H BRI
Eal
209. G & forg frde Rieor o &
TR B8P
(A) TR—9eT 99 BT
(B) =@l @1 fil N yBR o Rrem <
BT
(C) 35 ATA—fIdT 9+ Bl
(D) BI-BIC gl Bl I fermerdl H yaer
e @1
210. AT @1 g o |8 R F IR A
ST 7 STes) &7
(A) S B <A SR ST b
(B) I s=ai B1 S T uret wrars
SiIGED
(C) b e ¥ YAl o AT §9 A
(D) a9 &= SISt @t T fam <
ik

211. TS SR T fpass URy o T8 87
(A) IR F gRT R1e ot 7 A
% g
(B) SIMAM FAS 71 99 UF % B8R |dhe
% g
(C) TR 6 FRIen <= a1t et @rer
% g
(D) AIA-fUaT gRT S=dl BT qTer—grsor
T HA P U
212. TEH P FTAR GO Ugel FIT S
T &P
(A) ST B YB3 HH Bl ST 1Y
(B) §=di & IR H
(C) s=ai &I Rren & IR 7
(D) Ara—fer & fRren—wax @1
213. ‘AT e
(A) AeH—fReAS Tea—g
(B) A% T=—FH
(C) Fre® sm—gm™
(D) FToT =g
A T T TR BT UeER I T WA &
Y SUYFd SR dIet fadwed o1 gy |
e &1 fawg ok |l <9 oy 9 & fewm
¥ 2 s T oy g&I% g 32 1 BIC =i
% 1T AT &1 TR &R T Geid B
v & & &1 SRV & oY, Te ¥ R
Sred whg I ¥ e arel G | S T |

39 99 & ged B BaEal B TP e B
S—¥TeA1, AT AR TS B YARIGRT | I=ai
Pl FAOIGR 65 3R G JIERHT 3BT T © |
g fHT S22 B Werd IRIY, 3Mad! 59 a1
1 g et SIo | g ifiiReRd geRIghy &
S Sl Bl UG W YA BIRTA BR H HAIS
e &, 91 el e o uftear § &
9 WR P FER gga M T A1 SAfeed
T B AT | STH TG A1 TeA AT I
TE & O JBR B

[CTET (1 to 5) (Lang. 2) 31-01-2021]
214. f9 § D91 I BRS Tag T8 &7

(A) IR (B) & ferw
(©) & (D) &
215. G&RID BT .............. D SR R BRAT
=Ry |
(A) Bt (B) 3mg—a
(C) Afh® frem (D) Sueteeran
216. BIC T= B YD DI 97 IF WY A
BT ARy —
(A) 9 328 (B) TSR
(©) WMeqe (D) <Fre ST
217. Sdl BT B UE SRR 7S] ST &2
(A) ASER (B) wRed
(C) wifea (D) &
218. e 6 ufhar § gRERT @B HEG ¥,
HifH—

(A) fora 3 gererar yret B |

(B) 9= I FHEFT I§ B IRl & |

(C) TeAl I1E B SRl &

(D) IS ¥ G YT Bl
219. I% g THT B FHeeqol gof B—

(A) (B) fawa

(C) wamE (D) 3mg T
220. ' BRI F B ... a9 ¥

(A) T=EES (B) TUTaTE®

(C) wra-He (D) gRHAETES
221. ‘GRIGRT" &1 A= g—

(A) FR+9RT (B) IT + iR

(C) T+ 3mgfr (D) I: + g
A 3T T TR BT UeHR I MY YAl B
e /A UG IR AT faded B gMAT |
B W@a g0 1599 & g0 I f5 g 99 A
AR G # oY1 6 o | S8 e b ae
il AT TERT B TG TR AT B 7T |
BRI WS B AR LN g, FARI D AT B
ez o T &R Al ST e fie & wR
I gferd & T | ot a9 e a1 < ol



<R BT 2RI UK AT PIg I el I8 T8 o1 7d
AW @1 | I I8 |ra 7 {6 - e
BT SRS & ¥ @ a1 frg SAS | g8l
PTE V1 M TR B, S A B Al b1 gadw
I FPAR 9 | FAKH e T a% g1 |
TP A AR Y& T AR @IDRT Bl
9 IR iR i fora T g% faan | fd gR
IR TR F 31 M &1 71 | 8 i Fies
A IS B I Ugd | S N T S
3R <&M Ao BT a1 « Al T8 | 26 S
P YA 3T o | Al 7 TS T I]GHA |
ERGICEEGIPIISCISEAT IS I BCE
B IR ST <) Wi I& | I S e @
IR AT A1 FYDR BT I SR FrH 4RI
TR G TEI— VIR qAT B AN, IR 30
H IR A U I O o TR W @ A
T & HIE, Teb & X H T Y | M FHI e
A ATHT < ARG AT R R 9 | i & b
THT A T I |

[CTET (1 to 5) (Lang. 2) Sept. 2016]

222. "V AR 999 B ARN
1T T ?
(A) w11 S 9 R faan

(B) 3. Mg 7 | faa

(C) I FRTERR 7 W) fan

(D) 9& = foran

ARA H 26 SHaK 61 9 A9 B AT 7
& BT BROT o

(A) JfD B ERT AE—IRE b THR
(B) &I A=A1erg & ST

(C) I &1 g419

(D) BRI gadi BT TTarg BT

& HIAd Pl T Gal & Tg B ?
(A) Tt sRaal wnT o i

(B) 7T UgA PRA B GARN PR &
(C) &9 AR K. e N el ey
(D) 26 SERY BT Y4 AARIT Y

“8ra # g1 HOT @1 a7ef B

(A) SAHATT FRAT

(B) fawaraemd &=

(C) =IfT H=AT

(D) gg W O HAT

SIFI—AT1 b ekl &1 g &1 ol
7 forar T ?

(A) S e & forw

(B) & HRIaR 1 Ad g & forg
(C) 8= BT sHgroifer <7 & oy

(D) T faast 9 & forg

AT 1 R O ST eI @ 37 B
(A) Rgar & smr  (B) fanfie @
(C) AT BFT (D) 31 B ST

223.

224.

225.

226.

227.

228. <91 B BRI TR o1, RAfh
(A) TREr & & T o0
(B) BIg SHT AY & o
(C) Tre Rt wre =181 & <& o
(D) 99 9 AT @18 o
229. 'SHSAT fohaT BT DF—1 YN b a8 & ?
(A) T SHE ¥ (B) gU SHEH ol
(C) sigSASs Iel (D) e vvs T
230. |1 T A fadRad T8 BT gHd
ey fAfeared & 6 9w e & forw

231. FHfIRad | SH—1 B Wfies wR
W AT ARG B T Hed YUl Sqavd Al
AR A BT § ?

(A) T & UIGAHH & STy fowal o
| ST

(B) WSl Ao, faRmeor oiR o< &1 gg
&I AT

(C) \oT, grE-faare iR Hfaar-—ue |4
ART o

(D) ST 1 U GRA™ TG Ga P
AR BT AT AT

232. W9 G W YEIHRT P Tgd Fed o
frafaieq § & T=aRT & 99 HH
HETYO! STANT DT BN ?

(A) 37ERi/quif &1 HH AT

(B) Tl e 1 &1l e

(C) 15 oo 1 oIt wreq I
(D) T wreg <1 & qei ST

forder (wem v 233 9 240 9F)

S fT Y TR BT UgdR e Sfd fAdme
BT T T |
Siad # 94 SIUPR ¢ 3R SR B & A
IYF AR S &1 TV AN 3 JTBR B
PR B o & 3R Tq 7 AR Sl Yaprel
TP Uga 3R UM BT Spier o, I8 sl &
BRI SR & 1 7 STTPR BT 39 WP B A
i T T STuRTy § | 6P TARI b U fhu
Y SURTE BT ST 3 9 U9 4 & B 5 | I8
TR 33 5 S @ oo & ufd 9
Tl Bl 8, I8 fpl & 1 Uy PIE U9 T BR
HHT &, fob] TB <N FTBR &b WIHR A T
% TG TP SRAIBR 3 & 9N & | ST Sia
FIPR F VY BT & A SYHH I Il & |
[CTET (1 to 5) (Lang. 2) 16-2-2014]

233

234.

235S.

236.

237.

238.

239.

240.

BT &7

(A) 9T B 3R

(B) TN AR HfSASAl A1 iR

(C) *ra=Tei & 3R

(D) TR A AR

RID BT T T1 U9 el &7

(A) T U & &7 STHIET

(B) WIS &I 319 Ui U9 7 HRAT

(C) STIBR BT WBR T BHRAT

(D) STIPBR B WHR B A

STe foRt w99 % Uiy {3y g or=ame, 2o

& fIog SMMaTs] 781 S d—

(A) 389 SR & UM S, 2T B
erar fierdr &

(B) 9% %9l 3719 URT ST IRl ©

(C) 39 9nfer &1 AR 1 Y&l &

(D) 98 TS B MBI I ST &

‘BRI Y fhsT R Hopd el 87

(A) 3T, TNOT, RIS BT HaT & fory
AT BRAT

(B) AT ¥ YT STEBR Bl YabTeT H I
=gl

(C) |HTS P STHR I o B & oty
AN T

(D) T AT S FAIST § SRR, 20T,

9 TR &1 Y SexT B

(A) ITPR AR YHET B ART BRAT

(B) 3N 3R YIS BT G B &P forw
YRS FH=AT

(C) TRE—TRE F AR Bl fIerman gaqmn

(D) U9 3IR Jug &I SR FHRAT

3 e ¥ SUBH’ B 37 B—

(A) 3TR¥, BT

(B) TRIRY, Ao

(C) ST, GARTE

(D) e, HR

e 9gd IYBR &1 Y@ifhd o H
P PRP &7

(A) *NUTETT HRE

(B) SIfIHRUT HRG

(C) &R BRE

(D) TS BRE

“... 3R PR BN 8 Wil YA 3R ST
T 9 7 o g—
A) &

©) ¥

(B) &
(D) 3R

= | 13



e (wee e 241 9 247 96)

RIEACMRE BINICI R A RS E L AS ERRA LTS

BT FIT I |

et et T S=al & 3NfeHd S & TP FeT

TN 8, STafh S Afehd Bt b ¥Ter I By

A g1 B | g A Y AN & B ST Febell b

TEIS A1 FHAPIVT TGYSl BT &FAhA FbrerT &

o o9 ¥ Y S BT BT | I g

T Il ¢ 5 9 GO & A 5 F ALy B

YIS T e &, 9 I8 S U Bl 6T Sh

9 H SN ® 1 H I8 A R o fF B 99

A ARIRE 5/ F S=dl B I BRENT iR

P ghg B IRTI <7 BT AR el | wped

P T [T HewaqUl PRINR s—a<al Pl 9

BT TRART BT RIGH | B Hamsli § I8 @ast

A S AET Bl ® 6 9F fRed® arer aaw

B SIQ, R 39 S A dfgd 5F 515

T AR | A T B B

[CTET (1 to 5) (Lang. 2) 16-2-2014]

241. TGS B AAR e P 37 ®

(A) T B YANT HRAT

(B) M &R

(C) fowa wR =if¥eR T H_e

(D) ST 9T AT

ST T $TBT B SN &7

(A) 99 &1 I8 39 b 919 sR Aifds
9T b <1ed b1 I Bl e §

(B) 9 & I8 < fob s—a A9 &
5 BT SARIHRT &

(C) V9 & I8 <@ 5 99 & gr1 &
AT G@I B AT 3T FHS &

(D) 919 & I <@ f& F9 F gN
oI B fHy o | &

ISP P AR :

(A) IRING 5 | 7T gfeg DI SmaegHan
& B

(B) IR 5/ # FeTar R O Ifg
P ATTIHAT BT &

(C) YRR M g=dl o BARR I &

(D) IRRE 57 & THaH Hewdqol T
®

TERT & AR T e RS a1f 94

ST 872

(A) 99 U FeTell T Afd e e
SITQ

(B) <9 SN UNIRG M ¥ 7 gl oY

(C) 9 SqPT AfhT AT 7 fhar Sy

(D) 9 S TR QU: iR  faam wme

'TTOI UE H FH YT e | I

9T T U T

242.

243.

244.

245.

14 | AGRAWAL =XAMCART

(A) YRs® (B) gfeo®

(C) sfod (D) Tfes®
246. ‘PRI’ P Igaad W9 5—

(A) B (B) P

(C) PrdemHr (D) wraf
247. ‘Afgd’ T= | e ARF T

(A) & (B) d1g

(€) g (D) If&

IR P UGy IfeTRad g & |y S
fawed gy |
AR <9 A ygfie Riel TS TP o] Ydhe
T & 3P TH W I3 Tl AR Blerl
FHIA B TRE IR ISR TS B U E | ST
TS 39 NE fbar T ¥ T 3T Uebrer dieiot
e F TR GRPA F Tgad & | G DI
e T d ThIER R Faeed ¥, 9
I W HH AT PN B | T IR AT
B A AR T IR IR AW FW eI 99 H
ST ARJHTST & S[RY RIem & TR & IR |
e g 1 99 AR & ared &y e 81 'R
Pl FERGIAR] H I gead Pl a¥E I8 HIH
& 8 | MR TS o S W1 Bl Ao
T TP 39 3 9 5 Hore faver o B | E Ry
HITHTIT 1 RTST U1 R1ar e e & 1 A%
¥Iea] H, 8 et gl Bl et @ forg Suge &,
|1 I8 T F=Y 18 gl A1 ARe P Saa”
e AT, &R ST 61 S faere Wrs @ feren
P I SAMIBR P YT 3 FdT & FHSAT S |
I B Ul fapRia wgsr 78 s & SR 7
9§ B9 JHYde e & b TR e W) S
ol A7 & AfIHR BRI B |

[CTET (1 to 5) (Lang. 2) 28-07-2013]

248. S THA-Dleroll A 5 AT H g BRIl

&?

(A) < T H

(B) A& WIST H

(C) fa<eh o 5

(D) &+ A

g 59 faaR & FeAd Ta &7

(A) AT H & TSR T |

(B) I &1 WRINT Haa AfHd WX
TP & SUga ¢ |

(C) WIS BT JART Igd A B |

(D) 3= ATy S T §RT T

TRID 7T AT BT o ey o1 57

(A) ST 9 (B) TEREART ¥

(C) SRS ¥ (D) Yo |

g fR1em & =/ TR T|T 91 g3 Sl

TGS B AT &7

249.

250.

251.

(A) I I AT B Al F TSI
(B) T —dierall ® AT TP &
ECIGR]
(C) w1 & SRY e <=1
(D) AT B e &1 AfHR YT 7 B
252, ‘fAR’ oreg § 'S% YO T TR SN 96k
I, TE T
(A) faaR®
(C) TarI®
253, 'AIEY’ ¥R ¥
(A) faeoT
(B) fopam—faRoT
(C) wraara® s
(D) foa
254. "BR Bl ATER&IAN] H 98 g Pl e I8
TAId Y&l &' a9 § XG@ifhd 7T ¥
(A) fomar fa=rm
(B) feogaras ad=m
(C) erfregaras ad=m
(D) HELarad FIAH
255. THA AR Breral BT HHIIT DI A6 KX
I3 9§ A § 5 TP SR Pierst
(A) fom & T8 @el Y E
(B) 3rAT&-1T ®Y W el 7Y ¥ |
(C) TS & qE Wiel T & |
(D) I Y & FeraTg T |

TR BT e} frfeIRad yeat § wed Sfa
fade gMT |
BAR A P AER @18 GTD g F AT T 8
&I T G P AT B W9 H; B B Berg
Tq WeremT & WX 61 gL F 2 A1 ARG B
e H; G A B A0 TG ARl Tebll
IR SRESAT BT AN YIH FRA ¢ | T AER
S H Seel™, S U9 Rl W) od
%, ¥ TR 3fex U4k Td AR B A B
|11, fava—dg@ vd H=< B AT 9@
TGN ¢ | 37 §IRT HEIgoH B SUT &4 3 a1
%1 I8 e © & Fgfaar vd |9gwE g™
8 B WIN @I 3R 9§ Fhd & | 37 AR B
q1eH | B I8 A e A & fp araa ¥
&I 1 1 A& TP &, B 9 7189 TP Tga
B TAD T3 ¢ |
[CTET (1 to 5) (Lang. 2) 18-11-2012]

256. QBRI BT T fhey |aferd 8?2

(A) THEAT A TP

(B) WPl fafaea

(C) PuA

(D) faeg—dyga

(B) TiiR®
(D) Ta1R®




257. ' 3N—3eT TXId & AT 4 T @R
ohd foar T ¥°?
(A) Taf¥= gom—eret
(B) STeTT—3TeT IR
(C) ITTT—3TeNT U
(D) faftr=1 o+ \var
258. el & 94 dH-W AR B

HEYHY | el T 87
(A) eH fRaw (B) Riers g
(C) a1 faas (D) It Sl

259. JMER I BT AT A9 TEAR &7
(A) ITg @1 ffe BreTd YERa &
(B) T T Vel ¥
(C) B fra—geTa W& ©
(D) | UH & & Bl ST B ©
260. ‘<RIRR’ H DT TN &°

(A) fep (B) HHYRT A

(C) &8 &A™ (D) TG\
261. ' Tex B

(A) (B) foran—fareor

(C) faRur (D) fepam
262. g’ WE T

(A) fom (B) faeeoT

(C) fra-faRor (D) WEaras® s
TR B Ygah riferRad yeai # \ad Sfua
faee ghg |

AT HATY TR 37 Sia A Al | Ta-a1
B 3% B 0 SS—qQ ¥ S99 ¥ & gAd
3N 2 &1 b Herell & IR | I§ W FEl AT
& fb g9 & Yo aul H gl B A
qRITT B Hedh, A 9 BT DI S§H a7 F
1T ST SUANT S & 1 BH I8 W g © T
g4l P W P [ApT & e F 9§ 57 perran
T YA FE<aqu] & | VT SAIAT el Il &
IS 37 e HATS & faftr= wai 3§ & o
e & < ferd & O St & T fasre 7
I YA 9K &1 oFR 8 S0 Tl
T AP FATR B AE PR A Feodl o B
3T g SaTERV el 9 & | ST &9 el gl
3T BT & 1 S W BN I8 S7ueT e § b
T el T HeAIsH BT O] QNG | g2 o
Al BT 18 G U A1 Ho 3 QRN
T 139 ORE BAT A D 9 UfhA1 H 9= g

A3 B U A H XTGP G © | 57 HiHd
HeAI3N § UH T Bl & Ol gedl & AAWan o
HAd—gere ¢ |
(T SART & AP BATT — HHAY TS SIeN)
[CTET (1 to 5) (Lang. 2) 26-06-2011]
263. B HATSN F LA E—
(A) HeAY
(B) &rd BT
(C) &I Sa+ & T
(D) e Bl S
AT wrell # g aRaeT &1 W& &l a1d
Pl E B?
(A) ImoT aRaer &
(B) d=di & RI—IIRT HIo[Q TR 6
(C) et giRamT o
(D) fa=mery aikasr &t
T BRI T ST & &7
(A) 9 e H Al o
(B) 9 FEMI &1 TS Bl A€ 3G dlh
T BN P F ST ST b
(C) PErft g
(D) ©ICTST Bl AT BT FHSAT
TV F YR W FHal o Al ¢ b
e g g ®
(A) AP FHAY IR e o o &
(B) 1% HATSN H A I<d Bl ©
(C) 1P B3N F AILH | BT, Th
SR AT &7 farT fhar <1 S ©
(D) BEFT H IE G S[O%I &

“qRATT B FEH' IS BT 37 F—

(A) TR B g

(B) uRRder &1 g

(C) uRawr & fafdreeard, g

(D) uRRaer &1 werat

“HEF B BEG TSI H Tdb qP Bl

& S g=dl & AAET 9 fera—gerd & I

T fopsT @R Aehd Tahall &7

(A) FEIFET gedi &I AMRIS ST BT
T

(B) o= 9 e P IR H ATHT S
TRE e & fORT IRE el 7 e
el ¥

(C) HeEf=al # U HH Bl &

(D) o= ¥ B & HH H & Arad &

264.

265.

266.

267.

268.

| ST

1.(B) 2.(B) 3.(B) 4.(D) 5.(B)
6.(D) 7.(C) 8.(D) 9.(D) 10.(B)
11.(A) 12.(D) 13.(C) 14.(B) 15.(A)
16.(C) 17.(D) 18.(D) 19.(B) 20.(B)
21.(C) 22.(B) 23.(A) 24.(C) 25.(A)
26.(C) 27.(C) 28.(C) 29.(B) 30.(D)
31.(C) 32.(A) 33.(A) 34.(B) 35.(B)
36.(D) 37.(C) 38.(C) 39.(D) 40.(B)
41.(A) 42.(C) 43.(B) 44.(A) 45.(C)
46.(A) 47.(B) 48.(A) 49.(B) 50.(B)
51.(A) 52.(D) 53.(D) 54.(B) 55.(A)
56.(A) 57.(A) 58.(C) 59.(D) 60.(A)
61.(D) 62.(C) 63.(B) 64.(C) 65.(A)
66.(B) 67.(D) 68.(A) 69.(C) 70.(C)
71.(A) 72.(A) 73.(B) 74.(B) 75.(B)
76.(B) 77.(D) 78.(C) 79.(D) 80.(A)
81.(C) 82.(D) 83.(A) 84.(B) 85.(A)
86.(A) 87.(B) 88.(A) 89.(D) 90.(D)
91.(A) 92.(A) 93.(C) 94.(C) 95.(C)
96.(A) 97.(B) 98.(A) 99.(B)100.(A)
101.(C) 102. (B)103. (D) 104. (B) 105. (B)
106. (A) 107. (B) 108. (C) 109. (B) 110. (B)
111. (B) 112.(A)113.(D) 114. (D) 115. (D)
116. (D) 117.(C) 118. (A) 119. (C) 120. (B)
121. (D) 122.(B)123. (D) 124. (A) 125. (B)
126. (B) 127.(B)128. (A) 129. (C) 130. (A)
131.(C) 132.(B)133.(A) 134. (B) 135. (A)
136. (D) 137. (B)138. (D) 139. (B) 140. (A)
141.(C) 142.(D)143. (B) 144. (C) 145. (A)
146. (D) 147. (A)148. (C) 149. (D) 150. (D)
151.(C) 152.(C)153.(A) 154. (C) 155. (A)
156. (C) 157.(B)158. (D) 159. (C) 160. (B)
161. (B) 162. (A)163. (B) 164. (A) 165. (A)
166. (D) 167. (C)168. (A) 169. (A) 170. (A)
171. (B) 172.(A)173. (D) 174. (C) 175. (A)
176. (A) 177.(B)178. (A) 179. (C) 180. (A)
181. (D) 182.(A)183. (B) 184. (A) 185. (A)
186. (C) 187. (B)188. (D) 189. (D) 190. (D)
191. (B) 192.(B)193. (B) 194. (D) 195. (C)
196. (B) 197. (C)198. (A) 199. (B) 200. (D)
201. (C) 202.(A)203. (D) 204. (A) 205. (D)
206. (C) 207. (C)208. (D) 209. (C) 210. (D)
211.(C) 212.(A)213. (B) 214. (A)215. (B)
216. (D) 217. (A)218. (D) 219. (A) 220. (B)
221.(C) 222.(A)223. (D) 224. (B) 225. (B)
226. (A) 227.(A)228. (D) 229. (B) 230. (B)
231. (D) 232.(A)233. (B) 234. (D) 235. (A)
236. (D) 237. (B)238. (D) 239. (B) 240. (A)
241. (A) 242.(D)243. (B) 244. (C) 245. (A)
246. (B) 247.(D)248. (C) 249. (B) 250. (A)
251. (B) 252.(B)253. (C) 254. (B) 255. (B)
256. (B) 257. (D)258. (A) 259. (C) 260. (D)
261. (A) 262. (D)263. (B) 264. (D) 265. (D)

266. (B) 267. (B)268. (A)
aa
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